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[CH 0.1-1] Adding Fractions
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[CHO0.1-2] Subtracting Fractions
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[CH 0.1-3] Adding and Subtracting Fraction 5 3
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[CH 0.1-4] Addition of Mixed Numbers
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[CH 0.1-5] Subtraction of Mixed Numbers
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[CH 0.1—6] Multiplication and Division of Mixed Fractions
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[CH 0.3-1] Adding Signed Numbers

(1]
1)7+6 2)-5 +(=9)
3) 12 + (-15) 4)35+(=17)
5)-16 + (~28) 6) (-5) + (-98)
7)-89 + 575 8)-568 + 893
9) 85+ (-62) 10)-42 + 700
11)-25 + (-863) 12) 572 + (-871)
13) 3 + [(-9) + 6] 14) [2 + 8] + (-3)
15)-18 + [(-=5)+ (—Iz3)] 16) [17+(-32)] + (-16)
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(2]
1)8+9

3) 34 + (-18)

5)-38 + (—47)

7)-572 + (~89)

9)-62 + (-85)

11)-863 +25

13)[3+(-9)]+6

15) [(-18) + (-5)] + (-23)

2)-10+(-7)

4) 46 + (-37)

6) (-67) +(-82)

8)-893 + (=568)

10)~700 + (~42)

12)-871 + (-572)

14)-2 +[8 + (-3)]

16) 17 + [(-32)+(-16)]



(31
1-19 + (-18)

3)-26 + 112

5)-74 + (=59)

7) 87 + (-356)

9) 98 + (~89)

11)-362 + 259

13)[2+(-8)]+5

15)-23 + [(~10) + (41)]
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2)-18 + (~87)

4)-357 + 82

6) 39 + (~47)

8)-563 + (~88)

10) (-58) + (97)

12)-82 + 900

14)-3 +[9 + (-5)]

16) [48 + (-47)]+(—22)

(4]

1)~ 44 + (-18)

3) 39 + (—47)

5)(H47)+47

7)-87 + (=356)

9)-98 + (~89)

11)-362 + (=259)

13)[2+ (-8)] +5

15) [(-23)+(-10)]+(-41)

2)-36 + (-37)

4) 67 + (-82)

6)-47 + (-56)

8) 653 + (-88)

10)(=58) + (~97)

12)-82 + (-900)

14)-3 +[(-9) + (-5)]

16) 48+[(-47)+(-22)]



[CH 0.3—2] Subtracting Signed Numbers

- [1]1)9-15

3)-20-(-7)

5)59 - 73

7)-592 — (-346)

9)-25 — (-7)

11)-146 — (~146)

13) [35~(-27)]-(=19)

2)16-(7)

4)-28 - 16

6) 314 — (~88)

8) 670 — 830

10)-146 — 146

12)-8 - [12 = (-7N)]

14) Subtract 86 from 78

15) Subtract 25 from —37 16) Subtract —16 from ~18

17) Subtract — 86 from 78 18) Subtract —5 from —3
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[2]-
1)18-25

3)-10 - (-3)

5)47-62

7)-258 — 368

9)25—(-7)

11) [-8-12]-(7)

13) 35-[-27—(-19)]

15) Subtract 37 from —25

17) Subtract —78 from —86

2) 27 - (-13)

4)24 — (-13)

6) 82— (-98)

8)—468 — 562

10) 146 —(—146)

12) 057

14)Subtract 78 from ~86

16) Subtract -5 from 3

18) Subtract 5 from —3



3]

[4]

1)4-10 2) 8 — (-2) 1)5-12 2) 10 —(-3)
3)-10 - (-4) C4)-15-11 3)-12 - (=5) 424 - 13
5) 86 — 96 6) 156 — (-97) 5)72-89 6) 284 — (~89)
7)-354 — (-286) 8) 780 — 840 7)-484 — (-375) 8) 597 — 700
9)9—17 10)-8 — (~15)
9)~15 — (-8) 10) 179
11)-356 — (~356) 12)-5 -6 — (~2)] 11)~356 — 356 12) 2) 0-42 b) 23—[~14(~17)]

13) [23 = (-14)] - (-17) 14)Subtract 91 from 82 13)[-5-6]-(-2) 14)Subtract 91 from —82

15) Subtract —91 from 82 16) Subtract ~18 from -6 15) Subtract —91 from —82 16) Subtract 6 from —18

17) Subtract 16 from —8 18) Subtract -5 from —3 17) Subtract — 6 from 8 18) Subtract -3 from —5
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[CH 0.4-1 ]| Multiplication of Signed Numbers

(11 1) 8(-4)

3) (-10)(-10)

5) 0(-12)

7)-2(3)(-4)

9)2(=3)(-3)(2)

11) (-15)(-35)

13) (=D)[8+(-3)]

2) 1)

4) 99)

6) 8 [(-7)(-1)]

8)-7(=2)(-5)

10) 3(-4)(2)(=5)

12) [9(-11)}(-10)

14) =9)[(-6) + (-15)]

15) Evaluate 6b if b=—5 16) Evaluate —6b if b= —4

17) Evaluate 6x ifx=-8 18) Evaluate —6x if x =—8
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(2]
1) 9(-5)

3) (F10)(=8)

5)-(-12)

7) 3(=5)(6)

9 3(=2)(-2)(=5)

11)-8[9 + (-7)]

13) 7)) + (-1)(-3)

2)(-6)(9)

4) (97

6) [8¢-NI-1)

8)=2(15)(-3)

10) 5(-4)(=3)(2)

12)-6[(-7) + (-12)]

14)-9(-6) + (-9)(-15)

15) Evaluate 8y ify =—3 16) Evaluate -8y ify =5

17) Evaluate —12w if w = —718) Evaluate 12w if w =3



[CH 0.4-2 | Division of Signed Number

(1] 1)-40 = 8

3)-15 +5

7)-18 +=3

9) 84 +—4

11) [(-24)+6]+(2)

a
13)Evaluate —— ifa=-21

~10+4

B~ 0
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2) 16 + (~4)

-150
10

8)-5+35

10) [48 + (=6)] + (-2)

X
12)Evaluate g ifx=-12

10— (—6)
~2-4

14)

5-3(4)

16
) =H

I

13

[2] 1)-60 + (10)

327 +9

7)-3 =81

9)-4 + 84

11)-24 + [6 +2]

13)Evaluate

-8+2
-10-2

2) 25+ (-5)

10) 48 + [~6 +2]

12)Evaluate l ify =48
12

7=3(5)
~3-(-7)

16)



[CH 0.4-3 | Combined Operation 2]
111H1-9-18 2)1-(9-18) 1) 2-25-36 2)2 - (25-136)
3)-72+(-9)+3 4)-72 = [(-9) = 3]
3)48+(-16) +2 4)—48+[(-16) + 2]
5) 17+ 3(-8) 6)—-15+3(-5)
5) 19 + 4(-6) 6)—24+6(—4)
715 +3 x (-5) 8)—-13-5(-1)
7) 38-8(7) 8)21-6(-2)
9)-3 - 82 ' 10)—(3.- 8)?
9)—8- 22 10)—8- 2)?
11) (-3 - 8)? 12) 8(-3)*
11)-8 +22 12)2(—4)*
-943 3-2-4 :
13)——— 14) 9—_(-7 —3
—-1-(=7) -1-4 13)—(—) 14)8 s
| 22 "5
15) Evaluate 4 — 2x* if x=2 -16) Evaluate 5+ a?ifa=-9 15)Evaluate 6— 4b? ifb=-3 16)Evaluate 8 + ¢? if c = —11
17) Evaluate 2x* —3x+4 find £ (3) 17) Evaluate 5x2 —4x—3 find f (4)
18) Evaluate 2x? —3x+4 find f (-3) 18) Evaluate 5x? 4x-3 find f (-2)

©Copyright 2011 —2016 Pf.Jason Kim 14



3]
1)3-7-26

3)-56+8+2

S5)-81+ (=27)(-3)

7)-35 = 7(=5)

9)-3 - 52

11)-3+52

15) Evaluate 5-8x*if x==5  16) Evaluate 6+c2 if c= —13

17) Evaluate 2x* -3x—4 find f (5)

18) Evaluate 2x* —3x—4 find f (-5)

©Copyright 2011 —2016 Pf.Jason Kim

2)3-(7-26)

4)-56 + [-8 + 2]

6) 23+ 5(-=7)

8)-17 - 6(-2)

10) (-3 - 5)?

12) 8(=2)°

8§-3.6

15

[4]
1)5-14-29

3)-88 +44 + 2

581+ [-27(3)]

7)-36 + 4(~9)

9)-2- 62

11)-2 + 62

15-(-6)

13
e

2)5 — (14 - 29)

4)-88 + [44 = 2]

6)16+ 6(-9)

8)-31 = 5(-3)

10)(-2 - 6)

12)5(=3)°

g7
3=y

14)

15) Evaluate 5 +8x2if x=~5 16) Evaluate 4 + d2 ifd =—1

17) Evaluate — 2x?-3x—4 find £ (4)

18) Evaluate —2x?-3x~4 find f (-2)



[CHO0.5] Order of Operations

(1}
1)15+3-2

2)28+7:2+3

3)100+10-5+4

4)28+4-3%4

5)2 x5+ 2(7-2)

6) 24+4x2-2(5-3)

712 +3/64 -7

©Copyright 2012 - 2015 Jason Kim

16

(2]
1)(3+5%)+2-3%

2) (13 +6%) + 7 - 4

3)6-(10-8)+2°+ 5

18+6

-

4) 2-1 —2*

5)18-16+8

6) 18 +2x6 + 3(7-5)

7)2~/100 =225



(3] [4]
1)2*-4-(10+5) 1)2-32+(2-3)?

052y 2)(2+3)-(6-2)

3)6.\/§+3\/Z 3)24+(3-2+2)-5

4)7-+/36-0++/64 4)24+3-242-5
5) (2 +3)- 6-2(10-2% 5)2+3:6-2

6)24+(3-2)-2(5-3) 6)24+3-2+2

7) 81 + 3% (3*+ 3%
7) (102 5%%=~/121 +5

8) 2(3°+9) - 3(5°-3% k3) 29(5°-3% — 3°2°-1%)

©Copyright 2012 — 2015 Jason Kim 17



(5]
1)72+2x7

3) 56+ 4 - 2(5)

5)9°+12°+ 12 + 10?

7) 4 - 10% + 3% 100

9)5-3+6%5 8

11)5+2~/36-9

13)8-9-8-7

15) V132 -122

©Copyright 2012 —2015 Jason Kim

2)15-3°

4)3-4*+2-32+14

6)5*+8:0+7-9

8)10°+/81- 4

10) 144 + 3% 2+6 - 70

12) 7(8+9)

14)27 - 18 +3

16) 2[3(4 —2) + 2(5)]

18

(6]
1)81+9x3

3)108+2%3+4-25

5)10°+121-2

712 +3/64 -7

9) 7°+ 8! + 8% + 10

1)4+7-0+8-7

13)8(9-7)

15) V6 +8?

2)34-7°

4)8-4+30+6

6) 64+ 4 2(5)

8)4-3+5-3-2

10) 8 - 10* + 6% 10°

12)7-8+7-9

14)11-3+2

16) 10 -19-7 :2(5-2)
3



(71
1)36+6+2

3)10+2x5

5)10- 10>+ 100

7)48 +4-2(6)

9) 6° +10°+ 10 + 10*

11) 5 - 10% + 4% 100

13)2-3+3%-4-2

15)4+3+4/25 -7

©Copyright 2012 — 2015 Jason Kim

2)17-8°

4)3-2*

6)4-3+15+5

8)2-52+3-22+4

10)9°+9-0+7-8

12) 102 /16 - 5

14) 100 + 5* 6+8 75

16) 8(9 +7)

19

(8]
1) 64 +16x 2

3)16+4x4

5) 1x 10° + 1000

7)36+6-2(3)

9)5°+ 51+ 7%+ 10°

11)10°4/25 - 3

13)5:2+7°-2-8

15)10+54/16 -5

2)23-5°

4)2-3°

6)6-4+20+5

8)2-52+3-2%+4

10)2°+0-6+8-6

12) 9-10° + 5% 10°

14)54 +3% 4 +3-15

16)9(8 - 7)



[CH 1.1-1] Translation of Algebraic Expression
[1] 1) The sum of a and twice of b.

2) 8 less than twice of c.

3) The product of -2 and the quantity of a plus b.

4) Twice the sum. of cand d.

5) The sum of twice r and s.

6) Twice the difference of m and n.

7) The quantity ¢ plus d times the quantilty ¢ minus d.
8) The product of x and 4 less than x.

9) Six subtracted from four times P.

10) The difference of m and n, divided by 6.

11) The sum of b and 2, divided by the difference of band 2.
12) 8 more than 2 times a number.

13) S subtracted from twice P.

14) The product of 3 more than a number and 3 less than
that same number.

15) Three less than twice.of X is subtracted from P less
than three times Q. :

16) 7 more than a number divided by 7 less than that same
number.

17) Three times the product of a minus & and sum of twice
a and three times d.

©Copyright 2012'-2015 Jason Kim
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18) Twice the quotient of twice ¢, divided by d less than E.
[2]1) Twice d less than three times ¢

2) a number that exceeds m by 4
3) 5 times x increased by 2
4) 36 divided by the sum of ¢ and u

5) the product of x and y decreased by one-half the sum of
x and y

6) Twice of X is subtracted from Y

7) Twice of the result from X subtracted fiom Y

8) 3 less than twice a number

9) one—third of the product of 5 and a number

10) the product of 5 more than'a number, and 4

11) one half of, 10 more than a number

12) twice the sum of, one-half a number and 1

13) Saul is 25 years old. Represent his age x years ago.

14) Paul and Martha saved 100 dollars. If the amount
saved by Paul is represented by x, represent the amount
saved by Martha.

15) The cost of a fur coat is 5 times the cost of a cloth coat.
If the cloth coat costs x dollars, represent the cost of the fur
coat.

16) Sally weighs 2.5 times as much as Helen. IF Helen
weighs m pounds, represent Sally’s weight.

17) The length of a rectangle is presented by L. If the
width of the rectangle is one—half of its length, represent
the width.



[CH 1.1-2 | Translating Sentences into Algebraic Equations
(1]
1)Seven more than three times x is 15.

7

2) An unknown number increased by 8 is 32.
3)When the sum of an unknown number and 6 is

multiplied by 4, the result is 16.

4) A 37 inch piece of wire is to be cut into two pieces. One
piece is twice as long as the other piece.

5) 20 is 6 less than twice of P.

6) Six more than four times an unknown number is 22.

7) When the sum of an unknown number and 6 is
multiplied by 2, the result is 48.

8) Eight subtracted from three times the X is 3..

9) David bought 3 more pens than pencils. He bought 13
pen and pencils all together.

10) Susan bought 5 times as many tapes as CD’s. She
purchased 12 items altogether.
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(2]
1)Eight more than three times unknown number is 53.

2) An unknown number increased by 11 is 25.

3) When the sum of an unknown number and 8 is
multiplied by 3, the result is 63.

4) An 81linch piece of tubing is to be cut into two pieces.
One piece is to be twice as long as the other piece.

5) 5 less than three times of X is 10.

6)Kim Bought 4 more cans of Pepsi than Coke. She bought
16 cans of soda altogether.

7) Mike bought 4 times as many tapes as CD’s. He
purchased 30 items altogether.

8) Four is Six subtracted from twice the P

9) The sum of an unknown number and a number that is 4
less than the unknown number is 24.

10) Three times the sum of two less than unknown
number and 6 more than the unknown number is 36.



[CH1.2]Evaluate the Following Expressions

[1]if @ = 2, b=3, ¢=4, and d=5 then

1) 8ac

3)da+2c

5)2d +4c

N2a+d

9) 5(4d—3b)

11)26°+ &

13) d’+ c)?

Ta—c¢
d

15)

d-b
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2a’ =2¢

Da+e

4) 3¢

6) 2(a+ d)

8) 5(a +20)

10) c(3a +4b)

12) 2(8* + &)

106
14) —

a+2c
2c—-b

2a+b

2a* +6¢

22

[2]ifa=2,b=-3, c=4, and d= -5 then

1) 2bd

3) 4d-6a

5yd-20°

7235+ d)

9) 8(2a + 3¢)

1) (& + &)

13) —

8abd
15) —
c

3b+d

c—b

T 2)d-b

4) 4c*

6) 6(d - b)

8) 4(da) + b

10) b(3¢c —2a)

12) (54° + b’

8ab
14) —

S5a+d

16)

26%+6¢
18) 2a+b



[CH 1.3]Adding and Subtracting Algebraic Expression
(Combine the Like Term)
[1]1) 3x + 7x 2) 16" 4y

3) 15m’n—5m’n 4) 6y*- 5% + 3y

5) 66— 4b +3c

6) 10m*— 2m—3m?

7) 3a—-4b +2b 8) 6a+ 4b—2a—3b

R
412
57 575"

1 2
9 —x+2+—x
4 4"

11) 2G3y +4) + 5 12) 6(5y—3) + 10y

13)3x+3(x+5)+5 14) 5(6p—3) -10p

15) Subtract 3y from the sum of 7y and 4y.
16) Subtract the sum of 7ab and 15ab from Sab

17) Ba —5by«(-5a-4b)  18) (2x*Bx+4)(5x*+6x—7)

19) (3x-2y)H(~4x+6y)  20) (5a>~6a-7)«(3a’4a-3)
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[2] .
1) 124*b— 6ab® 2) 3x%—xx?
3)2a-5a 4)5b-3b6-7b

5) 8c—4b—5¢ + 5b 6) 4F + 5G—2F + 3G

7)) —x+4-——x+5

T 7 7 7 7 1

9) 7.5x~2.5—3.6x— 2.6y 10) 3.7a+2.56~5.9a+1.56
11) The sum of 7 less than 55 and twice b
12) The sum of twice & and 7 less than 55

13) Subtract 3y + 2 from the sum of 5y and 12.

14) Subtract the 7 plus 9x from 5 plus 4x
15) 79a- 5) + 2(4a—6) 16) 6(3b—7) + 4(8—4b)
17) 2(4x + 5) — 3(2x—3)

18) 3(7y—2) — 2(4y3)

19) 5(3p —4q) +2(4p—2g)  20) «(5x*+6x-T) — (2*3x+4)

21)-5(3p-49)-2(4p2q)  22) —(3x*—4x-3) (5x*6x-T)



[CH 5] Multiplying and Dividing Expressions

(1]

1) 2 x®
3) aa

5) a-dd
7) 6a*b* 2ab*
9) 3x* x> 4x°

11) 4a*a’ 3a 52°

gw!

15)
2w

14x*y

2

17)
Tx
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2) 5% 5°

4) ab* b’

6) Xy xy s’y

8) 4a’b- 8ab*

10) 4x%y 3 22y

12) 2c’d-cd’ 5c*d - 4cd

14y = —

16)
3x2

24a°b*
6ab

16a*b’c’

20) -
8ab’c’

24

(2]

N 2%0x

3)aa"a*a

5) ?b-a’b’ab’

7) 54°6°: 4ab’

9) 3y* 2y™ 55°

11) 2p* 2pp* 39°

;
13) 2

15
) 2a

40x° y"
10y°

30x°%y’°z*

6x°yz’

18)

2)2%2%2%2

4) x2y5 s x3y2

6) 6p 3p 20’

8) 3x°x 4xSx

10) 7x3y'x2y2- 2y’

12) 85%yxy 31> 4x’y

15a°

16) =——

3a®

36w’z

ow'z

4x2y3_3x3y6
2x5.2y9



[CH 1.4] Addition and Subtraction (Solve and Check )

1D x+2=7 2)x—-8=17
3)x=6=-10 4x+5=-3
5)12=x+4 6)5+x=9
Nx-6=0 83x=2x+6

9) 7x = 6x— 10 10) 7x+2 = 6x

11) 6x—4=5x 12)2x+4=%+6
13) 53— 8 = 4x—3 14) 8x-4=7x+6
15)3+6x=5+5x 16)4 + 10x=9x—-8

17)3+5x+1=x+8 + 3x

18)6x+6+2x=6x+12+x

19) 3(7x+2) = 4(5x +1) + 14

20) 6(6x — 1)~ 7(5x +2) =3
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(2]

1) x~4=-3 2)x+6=0
3)6x=5x6 4Y8x=Tx+5

5) 9x—8 =8x 6)3x—4=2x+1
T Tx+5=6x-2 8) 10x—4 =9x—5
92+5x=1+4x 10)3 +7x=6x-7

11)4x—3+x=4+4x+5

12) 5x+9 + 3x=9x + 7x— 5



13) 3(4x—3) = 11x + 4

14) 3(8x + 6) = 5(5x-2) + 8

15) 5(9x—9) —4(11x—11)=35

-9 3
16) =x+5=—=x7
6 6

7 5 5 3
17) —x—— = —x+ —
2 4 2 4
o 1 7 7
18) —x+ —=—x+—
3 6 3 6

19) 4 less than x is 12

20) 2 more than 5 times a number is 6 times that same
number
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[CH1.5] Multiplication/Division (Solve for x and Check)

[1]1)4x =12 2)9x=T72

3)3x=27 4) —9x = -81

5) ~9x =63 6) 7x =56

7 = =6 8) —2- =8
2 3"

9) 12 10) 2 8
— == =
4 5

11) 5x+2x =28 12) 14x—6x =48

13) 8x=2x+ 60 14) 9x=72-3x

15) Tx—4x + 5x =32 16) 9x + 3x = 6x—36

17) A number divided by 7 is equal to 5

18) Twice a number divided by 4 is 12

19)3.2x=9.6

20)-3.5x = 10.5



[2]1) 72 = 9x 2) 4x=—16

3)Ox=-72 4)-10x=-170

X X

—=3 6)——=-2

3 3
7 L 28 8) : 15

== : .

8 8
9) 8x—2x=60 10) 9x +3x =172
11) 5x =28~ 2x 12) 14x = 6x + 48
13) 9x + 3x=6x = 36 14) 7x—4x = 5x + 32
15)3.7x + 5.4x =—-18.2 16) 12.4x- 6.2x =—24.8
17) Twice a number is 34 18) — ‘of a number is 6

19) 3 times a number, divided by 4 is 33

20) Twice a number divided by 7 is 10
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{CH 1.6] Combined Operations (Solve for x and Check)

D Tx-3=9x+7
9) 3(2x+4)= 4x+6

11) 2(5x — 6)= 6x — 4
13)2%x-3+5x=4+4x+1

14) 6x+6 —4x =12 + 7x—21

15) 6(2x—1)-5x= x+24

- 8 2
17) =x-3=—x+5
3 3

27

[Mh2x+1=7 2)2x+9=3
3)2-4x=14 4)6-Tx=-15
5)5x=24 —x 6) Tx+4=2x+24

8)2x+5=4x-2

10) 2(3x — 5)= 9x+5

i

12) 2(4x +6)= 10x — 6

'16) 2x+3(3x—4) =6x— 9

18) 5.2x—7=22x+ 8



(2]
1) 6x +20=—4

3
3) —x—4=2
4

5)3x=12—=x
7) 5x+3=2x-13

9)8x—8—2x=2+4x—4
11) 8(3x +2) — 10x = 12x-2
12) 6x + 2(3x + 5)=8x + 13

12 3
13) —x+6=12-=x
5 5

14)7.8x +4 =3.8x +20

2)7-3x=-8
4

4) —x-1=11
5 .

6) 8x=4x+24
8)2x+21=6x7

10)7x-2-3x= 5+9x+13

15) 5 less than 3 times a number is 22

16) 10 more than twice a number is 46

17) 3 less than three—fourths of a number is 33.

18) 5 times a number is 12 less than that number
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[CH 1.7] Solve Literal Equations and Applications(Formula)

[1]1) V = Bh (for h)
3) V = nr*h (for h)

5)ax +b =0 (for a)

7) 2x +y =6 (for x)

9) Y=2X —3Z (for X)

5
1)c= §(F—32) for F

13) A =P + Prt (for t)

2)E=IR (for I)

4) A +B+C=180 (for A)

6) X=2a+5b (for a)

8) P =2L +2W (for W)

a+b

10) X = “(for a)

1
12)A= _2_,(B +b)forB

ot (for A)

14)C ==




2]
1) P =485 (for S)

3) V =LWH (for W)

5) Y =mx +b (for x)

7)3x+4y =12 (for y)

NV .44 (for K)
= — (for
i

11) A=P +Prt (forr)

13)A= %h(B +b) (for b)
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2) I="Prt (for t)

4) V-E+F =2 (for V)

6) a= 3b — 4c (for b)

8) ax + by = ¢ (for x)

10)D = (for C)

12) S = 2nr*2nurh (for h)

A

= (for B)

14)c =22

29

[CH 1.6.4.1] Consecutive Integer Problems
1) Find the four consecutive odd integers whose sum is
112.

2) Find three consecutive integers such that the sum of the
first and the third is 40.

3) Find the 4 consecutive integers such that the sum of the
second and fourth is 132.

4) Find the three consecutive integers such that the sum of
the first 2 integers is 24 more than the third integers.

5) Find the 3 consecutive odd integers such that the sum of
the first and second is 27 less than 3 times the third.

6) Find the 3 consecutive even integers such that the sum
of the smallest and twice the second is 20 more than the
third?

7) Find the three consecutive even integers such that the
sum of the first two integers minus the third integer is 4.

8) Find two consecutive integers such that twice the first
integer minus the second integer is 8. .

9) Find the three consecutive integers such that the sum of
the first two integers is equal to 4 times the third.

10) Find the 3 consecutive even integers such that the sum
of the first two integers is equal to three times the third.



[CH 1.6.4.2] World Problems (Relation and Total)
(1]

1) The larger of two numbers is twice the smaller. If the
sum of the two numbers is 96, find the numbers.

2) One number is 5 times another. If their difference is 96,
find the numbers.

3) A number is one-half of another number. Find the
~ numbers if their difference is 28.

4) A number is — of another number. The sum of the two

numbers is 50. Find the numbers.

5) Herbert is 5 times as old as Mike. If the sum of their
ages is 18 years, find the age of each boy.

6) Bob and Dan earned a total of $24 shoveling snow. If
Bob earned 3 times as much as Dan, how much did each

boy earn?

7) Lily spent 3 times as much as her sister Sue. If the girls
spent $24, how much did each girl spend?

8) Carl and Richard earned $10.50 delivering packages. If
they agreed that Carl should get 1.5 times as much as
Richard gets, how much did each boy receive?
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9) A house and a lot are worth $30,000. If the house is
worth 5 times as much as the lot, find how much each is
worth.

10) The larger of two numbers is 5 more than the smaller.
The smaller number plus twice the larger equals 100. Find
the numbers.

11) One number is 2 smaller than another. If 4 times the
larger is subtracted from 5 times the smaller, the result is
10. Find the numbers.

12) A coat costs $15 more than a dress. Two coats and 4
dresses cost $150. Find the cost of each.

13) Sam is 4 years older than Catherine. If 4 times
Catherine’s age is 32 years. Find the age of each.

14) Mr. Powers travels 12 miles less each day in going to’
and from his job than Mr. Clay does. The difference
between the distance Mr. Clay travels in 6 days and the
distance that Mr. Powers travels in 5 days is 96 miles. How
far does each one travel each day? -



[CH 1.6.4.3] Simple Percent Problems 2]

{1]1) What is 20% of 70?
1) 20 is what percent of 507

2) 5 is what percent of 20?

2) What number is 200% of 12?

3) 30% of what number is 12?

3) 16 is 20% of what number?
4) 15 is 30% of what number?

4) 90 is what percent of 180?

5) 100 is what percent of 2507

6) What number is 25 % of 407

5) What number is 40% of 200?

6) 30% of what number is 60?
7) 40% of what number is 20?

7) What percent of 60 is 20?

8) What percent of 20 is 57

8) 15% of 500 is what number?

9) What is the percent increase from 20 to 60?

9) How much did the percent increase from 100 to 200?

10) How much did the percent decrease from 200 to-100?

10) What is the percent decrease from 200 to 1007
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[CH 1.6.4.4] Simple Percent Word Problems

1]

1) A team won 80% of its games. If it won 68 games, how
many games did it play?

2) A team won 80% of its games. If it lost 10 games, how
many games did it play?

3) On a math test, Paul answered 18 problems correctly
and scored 60%. How many problems were on the test?

4)Ona math test, Paul answered 12 problems incorrectly
and scored 60%. How many problems were on the test?

5) In a class of 40 students, 10 students received a grade of
B. What percent of the class received a grade of B?

6) In a class of 50 students, 10 students received a grade of
A. What percent of the class received other than a grade of
A? '

7) Peter’s weekly gross pay for his job is $200, but 20% of
his check is withheld. How much is withheld?

8) 54 out of 216 applicants passed their exams. What
percent of the applicants passed? What percent did not
pass?

9 Bry;iu, salesman, made a 9% commission on all items
he sells. One week he made $720. What were his gross
sales for the week?

10) Audrey will receive a 10% raise in her salary. Her
present salary is $60,000. What will her new salary be?

11) The Paul’s monthly salary increased from $2000 to
$3000. What was the percent increase of his salary?

12) The daily sale of Victor’s Store decreased from $4,000
to $3,000 yesterday. What was the percent decrease?
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[CH 1.7.2] Geometry Word Problems

(1] '

1) The length of a rectangle is 12. What is the width if the
perimeter is 367

2) The length of a rectangle is three more than the width. If
the perimeter is 50, what are the length and width?

3) The perimeter of a square is 64. What is the length of a
side of the square?

4) The length of a rectangle is 3less than the width. If the
perimeter is 50, what are the length and the width?

5) The width of a rectangle is six less than the length.
What are the length and the width if the perimeter is 40?

6) The area of a triangle is 24 square inches and the base is
8 inches. What is the height of the triangle?

7) The second side of a triangle is 8 inches less than the
first side. The third side is 14 inches more than the first
side. The perimeter is 63 inches. Find the three sides.

8) The lengths of the sides of a triangle are represented by
3 consecutive even integers. If the perimeter is 96 feet,
find the length of its sides.

9) The perimeter of a triangle is 40”. The second side is 1
more than twice the first side, and the third side is 2” less
than the 2™ side. Find the length of each side.



[CH 1.7.3] Motion Problems :
1) A truck is traveling 60 mph and a van traveling 40 mph
left the same gas station at the same time and drove in
opposite directions. In how many hours were the
vehicles600 miles apart?

2) Two boats departed from the harbor at the same time.
One sailed east at the rate of 50 mph; the other sailed west
at the rate of 90 mph. In how many hours were they 1260
miles apart? :

3) Two planes are 1,100 miles apart. At 7 A.M. they start
traveling toward each other at average rates of 140 and 135
mph. At what time will they pass each other?

4) Orangetown and Appletown are 512 miles apart. A car

traveled from AppletowntowardsOrangetownat the rate of56 mph.

Another car from OrangetowntowardsAppletownat the rate of 72
mph. How many miles did each travel before they meet?

5) A businessman made a trip of 490 miles by car and train.

He traveled 5 hours by car and 2 hours by train. If the train
averaged 35 mph rhore than the car, find the rate of each.

6) A motorcyclist made a trip of 380 miles in 5 hours.
Before noon he averaged 82 mph, and in the afternoon he
averaged 52 mph. At what time did he begin his trip and
when did he end it?

7) Two Super-fast-cars started at the same time from two
rest stops which are 1550 miles apart and drove toward
each other. One car drove at 330 mph, and the other at 370
mph. In how many hours are the cars still 150 miles apart?

8) At2 P.M. two planes started flying towards each other
from airports which were 1,701 miles apart at average
rates of 245 and 312 mph. At what time were the planes
still 30 miles apart?
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9) A taxicab traveling 59 mph and a bus traveling 44 mph
leave the same station at the same time and drive in the
same direction. In how many hours will they be 135 miles
apart?

10) At 8:00 A.M. two battleships started from the same
naval base and traveled north. One ship averaged 34 mph,
and the other ship averaged 21 mph. At what time were the
battleships104 miles apart? '

11) Mr. Jim left his workplace and drovewest at the rate of
20 mph. One hour later, Mr. Kim left the same building at
the rate of 25 mph, also traveling east. In how many hours
did Mr. Kim overtaké Mr. Jim?

12)) Susan left her home at 7 A.M., driving her car at the
rate of 30 mph. At 9 A.M. her sister Marion drove after her
along the same highway, traveling at the rate of 45 mph. In
how many hours did Marion pass Susan?

13) Mr.Lee spent 6 hours on a trip out into the country and babk.

- He walked out at the rate of 4 mph and walked back at the rafe of

2 mph. How far out into the country did he go?

14) Ronald drove away from home in a car at the rate of 28
mph. He walked back at the rate of 4 mph. The round trip
required 4 hours. How far did Ronald ride?

15) A round trip in a helicopter lasted 3 hours. If the
helicopter flew away from the airport at 100 mph and
returned at the rate of 50 mph, what was its greatest
distance from the airport?



[CH 1.7.4] Dry Mixture Problems

1) A dealer wishes to mix coffee worth 65 cents per pound
with coffee worth 90 cents per pound in order to produce
40 pounds of coffee which can be sold at 75 cents per
pound. How many pounds of each type should he use?

2) How many pounds of candy worth 70 cents per pound
must be mixed with 30 pounds of candy worth 90 cents per

pound to produce a mixture which can be sold for 85 cents -

.

per pound?

3) A grocer mixed nuts worth 80 cents per pound with nuts
worth 50 cents per pound. How many pounds of each did
he use to make a mixture of 30 pounds to sell at 75 cents
per pound?

4) If almonds sell at $1.20 per pound and walnuts sell for
$.75 per pound, how many pounds of each must be used to
make 45 pounds of a mixture to sell at $1.00 per pound?

5) A seedman has seeds worth $.70 per pound and seeds
worth $.90 per pound. How many pounds of each must he
use to make 300 pounds worth $.75 per pound?

6) A dealer wishes to produce 300 gallons of oil worth 40
cents a quart by mixing oil worth 36 cents a quart with oil
worth 52 cents a quart. How many quarts of each kind of
oil should he use?
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7) A baker has cookies worth $.95 per pound and cookies
worth $1.70 per pound. How many pounds of each kind
must he use to produce a 45 pound mixture to sell for

$1.25 per pound?

8) A florist sold roses at $3.50 per dozen and carnations at
$2.50 per dozen. In all he sold 14 dozen, and his total
receipts were $43. How many dozen of each kind of flower
did he sell?

9) One evening 478 tickets were sold at the local movie.
The charges for admission were $.85 for adults and $.50
for children. The total receipts for the performance were
$375.50. How many adults and how many children
attended?

10) How many pounds of 65—cent coffee must be mixed
with 10 pounds of 90—cent coffee to make a mixture worth
70 cents a pound?

11) How many pounds of tear worth $1.80 a pound must
be mixed with 15 pounds of tear worth $1.10 a pound to
produce a mixture worth $1.50 a pound?



[CHI.8] Solve the Inequalities and Graph
[1] Solve the inequalities and graph the solution on the
number line

Dx-5<2 2)-3x< 12

3)6x+2>x-8

4)5x+7>13 + 11x

6) 4(6 = 2%) < 5x —2

5)2x—9 > 3(x —2)

7 2x-3(x +4)<-7

8) 6(3 —4x) + 12 > 10x — 2(5 — 3%)

9) 5(3 —2x) + 25 > 4x — 6(10 — 3x)
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2]

1) x+3>4 2) 2% >6

3)7x-3<18

© A)Y4x+28>T+x

5)6x+7>3+8x 6)3x—11>5(x 1)

7) 3x — 6 < 3(2 —x).

8) 4x —2(3 —x) < 12

9)6(2x -5)+29>3x—7(11 —4x)

10) 7(2 — 5x) + 27 > 18x — 3(8 — 4x)



[CH 3.1] The Graph of a Linear Equation
Graph the Following

1)2x+3y=6
2)2x-3y=6
3) > +2
y=—X
4
4)y=—4
5)x=-3
6)y=—2x+2
4
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7 2x+3y=6

8)2x-3y=6

9) The horizontal line passing through the point (2, =3).

10)y=4

1)x=3

12) The vertical line passing through the point (5, ~2)-



[CH 3.2} The Slope of a Line

[A] Find the slope of the line that passes through each
given pair of points.

1) (-5, -8) and (-9, 4)

2) (9, 15) and (-6, 3)

3) (=2, —11) and (-7, -11)

4) (14, 19) and (14, 21)

5) (-3, 2) and (4, -3)

6) (8, 1) and (8, 6)

7) (0, 5) and (3, -5)

8) (4,—2) and (-2, 4)

9) (-3, =5) and (3, 0)

10) (=5, —5) and (1, =7)
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[B] Find the slope and y—intercept from the standard
equation.

1)2x+3y=6

2)2x-3y=6

3)2x-3y=6

4)3x—-6y=18

5)3x + 6y = 18

6)—3x +2y=18

7) -3x~2y =18

8)2x+3y=6

9)—4x+2y=38

10) 10x + 5y = 15



[CH 3.3] Forms (Type) of Linear Equations [B] Find an equation when a point and a slope is given. -
[A] Find an Equation when slope and y — intercept is (Use point-slope form)

given. (y = mx + b) ‘
1) Point A (-1,3)and m =3

5 4
m= 7 and y intercept =—3

2) Point A (2, 4)andm =5

2)m= _Z , and y — intercept is ~2

3) Point B (0, 4) and m = —%

|

3)m=-—, and y — intercept =~ _~
3 2 _ 5
4) Point C (1, -3) and m =—§

4)m =2, and y — intercept =3
5) Point A (5, 0), and m =-3

5)m =0, and y— intercept =5

6) Point B (2, 4) and m = -2—

6) m = 0, y—intercept = —7

5 -’ 7) Point C (0, 0) and m = 0
Tm= —6— , y — intercept = —4

1 8) Point D (3, 1) andm=—%

2
8)Ym= —5 and y — intercept = —

3

2
9) Point A (3, 4) and m = —5

. 2
9m= 5 , and y — intercept =0
10) Point (4, 0)and m =1

10) m = 3, and y — intercept = 0
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{C] When 2 points are given. Write an Expression of
the line that passes through the given points.

1) (8, =1) and (6, 4)

2)(7,-2)and (5, 1)

3) (10, 0) and (7, 4) .

4) (-4, 0) and (-6, -5)

5) (-9, 3) and (-3, -1)

6) (~11, 4) and (-3, =2)

7) (12, =7) and (8, -9)

8)(4,7)and (7,4)

9) (-3, 5) and (-3, 2)

10) (0, 4) and (-3, 5)
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[D] When a point and parallel to the line is given. Write
an equation of the line that passes through.

1) (7,-13) and is parallel to 6x — 8y = 15

2) (-7, -13) and is parallel to 6y —4x =5

3) (-4, 7) and is parallel to 3x -5y =6

4) (8, —5) and is parallel to 7x + 4y +3 =0

5) (3, 8) and is parallel to y =4x -2

6) (2,—5) and is parallel to y = —2x -6

7) (2, -3) and is paraltel to 3x +2y =15

I 8) (6, —2) and is parallet to 2x + 4y =9

9) (6, 1) and is parallel to 8x -y =9

10) (8, —3) and is parallel to 6x + 2y =5



[E] When a point and perpendicular to the line is given.
Write an equation of the line that passes through.

1) (6, 2) and is perpendicular to 2x + 4y =3

2) (5,-1) and is perpendicular to 3x — 6y =2

3) (0, 0) and is perpendicular to 2x + 5y=10

4) (0, 3) and is perpendicular to 2y + 5x = 1

5) Through (2, —5); perpendicular to y =-2x — 6

6) Throu'gh (-4, 8); perpendicular to y = —4x — 1

7) Through (=2, 6); perpendicular to y = 7

l

8) Through (-:2, -3); perpendicular to 3x +2y = 5

9) Through (3, 5); perpendicular to 2x—-y=18

10) Through (-1, -5); perpendicular to x =3
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[CH 3.5] Graphing Linear Inequalities
[1] Graph the solution set of each of the following
inequalities

1) 3X?4y> 12

2)Tx -2y <14

3) 8x + 12y <24

4)x-5y=0

5) 5% + 8y <0

6) 4y +2x>4

T4x <12

8) -3y > 15

9) 5x -3y <15;x>0;y<0

10) 4x +3y<12;x>0;y>0



[Ch 4.3] Systems of Equations
[1] The Addition Method

}2x—y=—4
Xxty=-2

2)2x+y=6
X-y=0

3)2x+5y=2
3x—-5y=3

4)x-2y=10
3x-5y=4 <

5)x+y=2
3x-2y=-9

6)x+2y=—4
2Xx-y=-3

o~

7)dx +3y=2
Ix+5y=-4

8)5x+Ty=1
3x+4y=1

9)6x—-10y=6
9 —15y=—4

10) 3y +2x =4
S5x +o6y=11
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[2]The Substitution Method

D2x-3y=1
X=y+2

2)3x+4y=2
y=x-3

3)ax-y=3
8x-2y=6

4)x=3y—-4
Sy—2x=2

5)2k+5y=-5
Jy+x=-2

 6)5x+y=0

3x+2y=7

7) 6x +3y=-1
4x+9y=4

8)2x+y=5
3x—-2y=18

9)3y+2x=4
Sx+6y=11

10)3x+4y=6
2x+3y=5



[CH 5.1]Positive Integer Exponents

[1] Evaluate

1) a?-a* a*

3)3% 3% 3

9) )°

11) (<2x%*

13) 2x*y?y

15) (3x)° (2x°)*
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2) Ooxtx

4) (2 2%

a

10
8) 6__

10) (3%

12) (-2x%°

14) (-52°b*)*

16) (&)* (32"’

42

(04)3

aa

17)

a’b’®

19) ——————
) (a3b2)2

x ¥

3
()

21)

23) BY)(-4XY)

25) 2x%)* (3x)°

@y
d_3d4

27)

(b)
o

31) (x)*(xh

(x)(x)

S

20) (x* 3,v 5)
xy
CS(d3)4
& c2d?

24) () (Y

26) (32’6 4(—22°%’

5
C4‘C

(y’

28)

(G2

0 Ty -b%b’

32) () (=)’



[CH 5.2] Zero and Negative Exponents

[1]Evaluate
n7°

3) -6)°

5) (a2b4)0 + (_a3b2)0

7al

9) 5x 2

11) 2x)°

13) (-3x)™

15)a° + b+’ +(a+ b+ c)°

4
X

17) —
x10

3

a
19) —
a—7
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2) 4"+ (-4)°

4) 6x° + (6x)°

6) (-5x)°= 5x°

8) 2™
10) (5x)2
12) 2x7°

14) 3x7*

16) ¥ x3

X
18) =—
xlO

a
20) —
a

43

10710

21
) 10

25) (ab? 2

CON

(x)’

27)

20y ()

(m™>)?

Sf} _ (_S)U

31

a’bh™

22) pR=pE

24) (Z'p)*

(@)’
)

(b3)—3

28
) (b—2)4

@Y
0T

. 20 +(__2)ﬂ
B 20 _(__2)0



[CH 5.2-2] Scientific Notation

[A] Write each number in scientific notation

1) 28.56

3)375.4

5) 0.06184

7Y 0.0006

9)0.456x 107

11)256 x 10°

13) 4,200,000

15) 12,345 x 10°
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2) 78,000

4) 1400

6) 0.008012

8) 0.000032

10) 0.0145 x 107*

12) 39.9x 10*

14) 0.0000000012

16) 12,345 x 107

44

[B]Change scientific notation to regular number

123x10°

3) 1.256 x 10°

5)1.256 x 10*

7)1.256 x 107

9) 1256 x 107

11) 1.256 x 107

6.0x10"
) -3
2.0x10

15) (2.0 x 10%)(3.0 x 10

2) 1.25x 10

4)1.256 x 10°

6) 1.256 x 10°

8) 1.256 x 107

10) 1.256 x 107

. 4.0x1 0
7 2.0x10°

2.4x107
1.2x107°

16) (3.0 x 10720 x 109



[C] Do the indicated operation; Answer in scientific
notations

] -2

) le(}2 ) 4x10?

2x10 2x10

1n-5 5

3 6).1(}*1 " 8x10

2x10 5x107°
5)(5x 10%)(3 x 10%) 6) (6 x 1074 x 107

7)(4x 107%)(5 x 107 8) (7x10%(8x 10?)

5410~ 36x10°
2x10 6x10

- 0.8x10° % 14x107°

- 0.4x10° 5x10*

13) (1.3x 1092 x 10%)_ 14) (1.2 x 1033 x 10%)

15) 2 x 10°%)(7 x 107%) 16) (0.2x 107)(0.3 x 107%)

1M2x10° +3x 10? 18)2x107%+3x 107

19)5.7x 10" -3.4x 10°

29)5.7x 107 3.4 x 107°
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[D] Change to scientific notations and evaluate expressions

1y 0:000025
5000

3y 0.000000025
0.0000000005

5) (2,000,000)(300,000)

2) 12000000
0.0006

4) 8,000,000,000
2,000,000

6) (5,000,000,000)(3,000,000)

7) (4,000,000,000)(2,000)

8) (2,000,000)(30,000,000)(40,000)

9) (0.00002)(40,000,000)

10) 500,000,000 0.00005

(5,000,000)(0.0007)

11) 0.00002¢ 5,000,000
300,000 0.00003

13) 20,000+ 40,000
0.004 ¢ 0.0002

15) 0.0001 0.0002 0.0003

0.00003 «3000

12) 200
0.00002 0.0005 ¢ 0.001

14 0.00002¢ 0.00004
2,000 4,000

16) 10,000+ 20,000 30,000

0.001e0.002¢ 0.003

100+ 200300



[CH 5.4] Adding and Subtracting Polynomials
M) 7x-2+2x+9

2) (8x*- 10x) + (4x’— 6x)
3) (2d%- 3d) + (=d* + 3d)
4).(a%22%) + (32’ + 4a°)
5) 6x — (3y — 2%) 6) —8a— (3b—2a)

7) Subtract 2x — 3 from 5x —2
8) Subtract y — 3 from 2y +7

9) Subtract —6x— 2 from 8%~ 8

10) Subtract 7a’— 3a + 2 from —8a’~ 7a +5
1) Bx = 7) + (5 —x) — (4x - 2)

12) (Ta+2)-(32a—8) +(@a~7) |

13) (Y- 3y) — (4y - 6) 2 - Y)

14) (- 4x%) — (5%-x) - (7x - 9)

15) 3x%— 5x +3) - (*+2x — 2)

16) (4x® +6x — 5) - (—2x* = 3x +2)
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[2] :
1) (3x = 5)+ (2x +7) 2) 3x-5)—(2x+7)

3) (4x°— 4®) + (x* - 6x%) 4) (42> 2) — (—2a° + 52)

5) QA%-A+4)+(3A*+A-5)

6) (3x% + 4x — 10) - (5x°-3x +7)

7) Subtract —5b% + 4b + 8 from 8b* +2b - 14

8) Subtract ¢>~ 9¢ + 6 from 11c’~4c +7

9) (2b% + Tb — 5) + (4b*-2b + 8)

10) (4a + 6 — 3a) — (Sa —3a’-4)

11) (7% - 2x - 5) = (— 2« +4x = 7)

12) (9x* — 3x — 6) — (7x* —5x +4)

13) (* + 4) — {(x*= 5) - (3x* + 1)]

14) (22 + 5) - [(3a +2) + (52— 3)]

15) Subtract 2a — 3 from the sum of (2a— 5) and (~52-4)

16) Subtract —5x + 7 from the sum of (10x + 7) and (~4 x = 10)



[CH 5.5] Multiplication and Division of Polynomials

(1]
1) (3a%)(5a%)

3) 5a(2a —4)

5) 4a’b(2a%b — 3ab? + 5ab)

NE+da+2)

9) (3x—4)(2x + 3)

11) (3a + 2)?

13) x(x + 2)(x - 3)

15) Bc-4)(2c* - c-6)
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2) (-4%)(-3x°)

4) —6b*(3b° + 5b)

6) ~7p*q(2pq*- 4pq+pq)

8) (x—3)(x-6)

10) (5x + 2y)(2% — 3y)

12) (x + 4)x - 4)

14) 2p(3p*-4p + 5)

16) (2a—-3)(2a*+2a—3)

47

52)]6xy?(3xy - 3x +4y) 2) -5x(3x*-2x* + 3)
3) (5¢ + 4d)(Sc — 4d) dya(a+1)a—1)
5) (2y-3)3y*—4y+5) 6) (3d-4)(5d*+2d-4)
e
9)%;9—’(2 10) ——————27'“:‘1_3’“3

18x%—27x*+36x3 40p”7 —36p°—32p3
12) 4
gx3 4p

11)

36x5y*+30xtyd —24x3y*

14) —16x4*y3+ 12x3y*
6x3y2

13) axly




[CH 6.1} Introducing Factoring
[1] Factor by Common Factor

1)5x+10 -

3)-15b-10

5) 8x*—4x

7) 15xy + 20y

9) 2a’b + 4ab’

11) 4x°—12x*- 24x

13) 14 x° yo+42x°y*-28x"y’

14) 182°b*~12a%b’-48a"b’

2) 15a—5

4) —6a-15

6) 108~ 2527

8) 27a’18a*

10) 12¢3d% 18¢*d’

12) 24a* + 82> 40

15) x(a+b) — y(a+b) 16) 34 (a—2b) — 2(a—2b)
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[2] Factor by grouping
1) ax + bx + ay + by

3ypg+p-q-1

5) 3a°6ab + 2a>— 4b

7)'6a%— 2ab — 9a + 3b

9) ax + ay + 2bx + 2by

11)ac+c—a—1

13) 10ab — 15b + 8a—12

15)a’ + 32>~ 2a—6

2) mx —x—my + ny

4)cd-d+c-1

6) 2x*- 6xy + 5x-15y

8) 8x’-4xy — 6x — 3y

10) ef-gf—eh + gh

12) 2%’ 6xy+5y-15x

14) 35-420-18cd+15d

" 16) 2p™-8p> +3p ~12



[CH 6.2] Factoring the Difference of Two Squares

1) x*-16

3)1-p*

5)81x*— 100y*

7) 2p™-8

9) 5ab’- 5ac?

11) 3x’-75x

13) 81a% 100 b*

15) 27x*= 3¢*

2) a1

4) 252’ 9b?

6) 64a>— 49b%

8) 3x*-3

10) 6x%y* - 6x°p?

12) a’>~ b°

14) a®b>- c*d?

16) 16p*q-25p°q°
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[2] Mixed—Factor Completely if Possible

1) 8x—4

3) 92— 144

5yab+2b—a—2

7) p'(3x-+4y)-q*(3x-+4y)

9) a*~b*

11) 15a* + 15ab — 30b”

13) x>~ 4x + 5x =20

15) 6p® +9p>—4p®—6p

2) 2x’— 18x

4) 8 —2a2

6) xy—4x +3y—12

8) 4x(3x-2y)-8(3x-2y)

10y a®-1

12) 6x’y*— 9xy® —12xy

14) 8a*> + 6a —20a—15

16) 3x*+6x> +5%*+10x*



[CH 6.3-1] Factoring Trinomial (ax® + bx + c), when a =1

(1]

) x*+5x+6

3)a’+7a+10 -

5)x*-5x+6

7) 292+ 8

9)xK*+x-6

11) x* +3x —10

13) x*x -6

15) v*-6v — 16
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2)K+9x+8

4) x*+9x+20

6) x>-7x +10

8) p>-12p +20

10)a*+2a—38

12) £+ 11t -30

14) p*-13p —30

16) p>~5p-14

50

2]
1) X*+ 12x +20

3)p*+p—20

5)b*+9b+ 14

7)yd>+3d-18

9) g+ 17g+30

11) x* + 11x — 60

13) b% + 19bd +60d>

15) > +10J - 24

2)a*-9a+14

4) ¢*-3q-10

6)c11c+18

8)e*-3e—18

10) £-15f+ 30

12) >~ 4h - 60

14) a>- 16ab + 60 b’

16) k- 23k —24



[CH 6.3-2]Factoring Trinomial, (ax*+bx+c), when a#1

[1]
D2t+7x+5

3) 12a*+7a~10

5)3x* +5x+2

7) 3p* + 14p-5

9) 5x% + 11x+2

11) 5x*+21x+4

13) 2x*+10x+5

15) 7e* + 2e -5
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2) 62>~ 19a + 15

4)3c®-2¢c -8

6) 5y"— 16y + 3

8)5q*-34q-7

10) 35d°~12d + 1

12) 6a*~7a —20

14) 5a®~16a + 12

16) 8v*-14v—15

51

[2]
1) 3a* +7a +2

3) 18b%+39b-15

5) 3a+5a+2

7) 12x*+14x-10

9) 5x*+20x+4

11) 18¢*+39c+15

13) 6p*+13p+6

15) 9x*+24x—20

2) 5a%-16a+3

4) 8x*-2x-15

6) 5m*-8m+3

8) 8x*-14x-15"

10) 25p*20p+4

12) 10d*-29d-21

14) 69*-19g+10

16) 6¢>—5c—21



[CH 6.5] Strategies in Factoring (Factoring Completely)

(1] :
1) 2x*- 8y* 2) 5a*-20b*

3)a*—16 4) 4x* + 14x -8
5)8p>—12p -8 6) ab’>—2ab +a
7) 3a2— 75b% 8) 3x° — 12xy*

9) 122y - 27y’ 10) a’b% 4a’b*

11) - 4~ 4x + 16 12) 6ab—-4cd+15ad—5de

13) 6ab — 6ay + 3xb — 3xy 14) 20dw-4dp +30cw —6¢cp

16) 8x’y* + dxPy’~ 12xy*

15)a*-2a% + 1
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[2]
1) 35%- 27y 2) 6m’- 54n”

3) x*-y* 4) 6p*-27p - 15
6) ac—2ax +a

5) 12x*+ 10x - 8

7) 4b*-36¢* 8) 2y° — 18x%y

9) 18xy* — 8%’ 10) x%y*- 100x*y?
11) - 52>~9z+ 45 12) 10ab+5cd—6ab—dc
14) 12ac-6ad+18bc-9bd

13) 12cy — 12cz + 8dy — 8dz

15) y*-8y* + 16 16) 3a*b2-9a°b’~12a%*



[CH 6.6] Solving Quadratic Equation by Factoring [B] More Factoring trinomials and Solving
[A] - 1) 2x* - 50=0 2)3x*=12
D) x-2)x+3)=0 : 2)3x(x-2)=0

3)x* +7x =30 4x*- x=6
3) (2x+3)(x—-4)=0 4) x*=81

S)x*+5x=—6 6) x* - Tx =~12
5)x*=16 6) 4x*= 100

7.3t 17t -6 =0 8.3x*—7x-6=0
NX+5x+6=0 8) xX*—x ~ 6=0

9. 4a* +4a+1=0 10. 962 +6b +1=0
92+ 6x—16=0 10) xX*~6x—16=0

11. 7Th* —11h+4=0 12. Th* =16h+4=0
11) 4x*-24x =0 - 12)62-10a=0

13. 4x> +14x-8=0 14. 54* +17u—12=0
13) 5a-11a+4=0 14)3a%-22a+7=0

15. 6'e2-7ep—20p2=0 © 16, 10f4—29f2—21=0
15)3a+3a~18=0 16) 3b%-2b~5=0
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[CH 6.7] Word Problems Solve by Factoring

[A]

1) One number is 8 less than 6 times the other. If the
product of the two number is 8, what are the 2 integers?

2) The difference of two numbers is 3. Their product is 10.
What are the 2 numbers?

3) Find two consecutive integers whose product is 11 more
than their sum.

4) Find the two consecutive odd integers whose product is
63.

5) One number is 3 times another. The surh of their
squares i$ 40. Find the numbers.

6) The length of a rectangle is 5 feet more than its width.
Its area is 84 square feet. Find the length and the width.

7) The width of a rectangle is 3 inches less than its length.
Its area is 28 square inches. Find the length and width.

8) The base of a triangle is 3 inches more than its altitude.
Its area is 20 square inches. Find the base and the altitude.
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(B] :

1. The difference of two numbers is 6. Their product is 27.
Find two numbers.

2. The sum of two numBers' is —4. Their product is —12.
Find the numbers.

3. Find two consecutive even integers whose product is48.

4. Find three consecutive numbers such that the product of
the first two is 23 more than the third integer.

5. One number is three more than another number. The
sum of their square is 89. Find the numbers.

6. The base of a triangle is 5” more than its altitude. If the
area is 33in? find the altitude and the base of the triangle.

7. The width of & rectangle is Scm less than its length. Its
area is 10cm? more than its perimeter. What are the
dimensions of the rectangie?

8. The area of a square is twice its perimeter. What is the
length of its side?



[CH 7.1]Radicals and Exponents
[1] Simplify

1)a) V81= 2)a) V1 =
b)-/81= b) V0=
3)a) 4/(=5)* = 4)a) 25 =
b) (V=5 )" b) v—25 =
sya) Vxt 6)a) V121 + /144
b vt b V81-4/36
7y 2) 3/2° 8) a)~%/8
b)i/g; b) /-8
9) a) %/x_3 10) a) 3/—27
b)i/x_9 | b) 4-16
11ya) 416 12)8) x°

b) V8 1x* b) 3x®
13) a) v 9x? 14) a) /84’

b) V16a* b) ¥27x°

15) Find the distance between 2 points A(6, 4), B(-2, 0)
16) Find the distance between 2 points A (6,9), B(-4, -1)
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[CH 7.2] Simplifying Radical Expressions

Da) V24 2)a) V12
by V75 b) V18

3)2) V20 ¢ #ya) 54
b) /32 b) V125

5ya) Vx'© 6o Vx*
b Vo' B Vx®

7y a) ¥ 75a°b* 8)a) V24a’h’
b) /18x* b) y/20x°y”

9) 2)v 3245’ 10) v 27a’b*
" b) A/54xty” b) 8x7y*
11) 2) ¥16a°5’ 12)a) §/27x%y7

b) 3/8x%y’ b) 3/8x%y?
13) )\/E 14) a) 14x

).~

V4 25y?

b) E b) 2"
9 36y*
y y)a =

2 2 J ¢

by by

) 7 ab



[CH 7.3] Operations of Radical Expressions
[A] Addition and Subtraction of Radical Expressions

1)6+/3 +8+/3 2)3+/5-/5

3y 5% +24/x-/x 486 -b+2+/b

5) V18 + /50 6) /63 + /28
7y 75427 8) /50 /8
9y5/12 +24/75 10)2/48 - 4~/27

11)2\/@—3«/1—2_ 12)3\/5_4+2x/:—22

13)3«/_43—3«/15%\/56 14) «/TSZ+2 50—2«/7—'2

15)5/5- 4 Jis_8

1
5 35
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15. (\/§+\/§—)_(«[§—\/§)

[B] Multiplication of Radical Expressions
[1] Find the product and simplify

1. 4/54/20 © 9. 25xx
3. . 3a2\/15a_4 4, \/g«/g

5. Jdx3x 6. \/40av10a*
7. 347 0547 8. 34120542

5. V2(3W12 +27), 10623 +412)

11. V/3(3v/8 = 2/6) 12. V8(3v/6 —243)

3. (T +2DET+3) 14 B=2V5)4-5)

16. (+/5 —/3)*



[2] Find the product and simplify 12, (ﬁ _ ﬁ)(ﬁ_ \/g)

1. v3427 2. 416

13. (V3 +V4)(3 =/4)
3. 9pJ4p® 4, @%/mx“
5. 252 125 6. 4412 318

14, (/3 ++/4)?

7. 245(3«/5—4«/5) 8. @(\/é;+\/§)

15. V2(V3 +4/4) +3(J3 +4)

9. \3(12 ++/6) 10. 242 (/4x = 3)

16. V5(/5 +/6) =6 (/5 +/6)
11. (\/3-+.\/Z)(«/§+\/-6—)
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[C] Division with Radical Expressions

[1] Simplify

Sl

=
w N

it

2l
&

by

5

18x

3

15 ———\/-8-\/%
el

©Copyright 2012 — 2015 Jason Kim

10.

12.
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[D] Mixed Operations
Simplify :

9. 2x107%)- (3x107™)

11. (1.2x107%)-(2x10%)

13. \/ZG+«/9_O—«/§6

15. -343(24/3-5)

17. (62x107)-(2x107)

12. (5x107)(1.2x10%)
3x10*

14. 2J75+4427 -8J12

16. (342 +5)2V2 +1)

18, (5x10°)(12x107)
3x10™



[7.5] The Pythagorean Theorem.

[A] The Pythagorean Theorem in a Right Triangle

[l =a+b%  c= VaZ + b2 Ci ‘b
[2la?=c*-b% a= Vc2 - b2 L
B’ =c*-a% b= Vc2—-q?

[Example 1] Find the missing side.
l.e =62+ 82 =+/36 + 64 = V100= 10

L

[Ex-A] Find the missing sides of the following triangles.
() 2)

o
wb
-y

N
w
~—
Lh
[V3)
o
N
E-N
Nt
. o
—t
o

10

~
wn
j
Qb
o
7~
()Y
p—
—
mk
o

M

n :
Q
=
o
o0
St
B
w
w
o

® (10)
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L}M ﬂb

7 7

[Ex-B] Find the missing sides of the following triangles.

(M 2
Zs L
8 7
®) )

i6
@), (3)
Z Z
a 7
®) (10)
c 9 4] : 5
40 40



[CH. 8.1] Solving Quadratic Equations by Factoring or
Square Root Method.
[1]

L. x> +5x+6=0

2. x¥*=3=0

3. x2-2x-15=0

4, x> =5-4x

6.2a>-12=0

8.10x*> -160=0

9.12x%2-3x=0
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10. x2 —16x=0

11. x> —4x=0
2

2 ¥ o3
2 8

13. x(x—4)=18-x

14, x(x+4)=12

15.(x+2)(x+3)=x+3

16. (x—2)(x+1)=6x—12

17) x* =2x+15=0



[CH 8.2] Solving Quadratic Equations Using Quadratic Formula
1. X’ —4x+1=0

2. X2 ~4x+2=0

3. 3x*-x-2=0
4. 2x* +3x-2=0
5. 2% =3x-2=0
6. 4x* =12x-7
7. 2x* =8x—5
8. 3x* =6x-2
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9. 3x2 +2x+1=0

10. 4x®+3x+2=0

11. x(x-2)=3

2. (x+1)(x+2)=12

13. x° =

14, X = x+1
2

15. The area of a square is 48in’. Find a side.

16. The square of a number is equal to twice the number
plus four. Find the number.



[CH 9] Ratio and Proportions

1. A-baseball team won 20 out of 30 games played. There
were no tie games. Find the ratio of (a) wins to played (b)
wins to losses and (c) losses to wins.

2. In an English class, 12 out of 25 students are women.
Find the ratio of (a) women to total students (b) women to
men and (c) men to total.

3. Paula has 12 pens, 8 pencils, and 4 erasers. What is the
ratio of (a) pens to pencils (b) pencils to erasers and (c)
pens to total?

x 6

4. Solve —=—

25 5

15

5. Solve — =—
b

6. 5 quarts of ice cream was used to make 100 milkshakes.
How many quarts are needed to make 500 milk shakes?

7 1f a 6-feet man casts a 4—feet shadow, how tall is a tree
that casts a 30—feet shadow?

8. A painter uses about 5 gallons of paint painting 2 rooms.
How many gallons would she need to paint 20 rooms?
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9. A man drove 800 miles in 2 days. How long would it
take him to drive 3,200 miles?

10. 5 builders finish 20 houses in a month. How many
houses could 25 builders finish in the same time?

11. An investment of $5,000 earned $300 for one year.
How much would have to be invested to earn $750 at the
same time?

12. A store sells 3 jars of grape jelly for $2. How many jars
can someone buy with $87

13. The property tax on a $200,000 home is $4,000. What
would be the tax on a $600,000 home?

14. A market is selling 3 cans of corn for 90¢. How.much
will 18 cans cost at the same store?

15. On a map % an inch represents 15 miles. How many
miles with 4% inches represent?

16. The ratio of weight on earth to the weight on the moon
is 6 tol. How much would 150 pound woman weigh on the
moon?



[CH 10] Functional Notation ®) 2 A(3) -3 B(2)
1. Given f(x) =2x—3, find the following
@ f(2)
® f(0) () A(x) — B(x)
(© f=5)
(d) 24(x)+3B(x)
@ f(x+2)
* 2. Given g(x)=4x+3, find the following A(4)-B(1)
o O=5
() &(-3)
(©) gla) 6. Given G(x) =3x> -3x-5
(@ G4
@ gla-2)
3. Given p(x)=x*+2x+1 | ®) G(-2)
(@ 4p(2)
®-3p(-2) © 2G(2)
(© 2p(c)
@ -3G(5)
@ plg+1)
4. Given H(x)=2x+6and K(x)=3x> —2x—4 8. Given G(x) =2x" —4x+3
(a) 2H(3) (@ G@) ¥
®)3K(5)
® 62
(©) 3H(2) +2K(=5)
(©) 2G(2)
@ 2H(5)-3K(-2) |
@ —3G(5)
5.1f A(a) =a* —3and B(c) =3 —c, then find
() 4(2) + B(5)
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CH 1 — Review —A
[1] Write the equation of

(a) 14 is 3 less than 3 times X

(b) 39 subtracted from 4 times a number is 15.

[2] Solve for x

(a) 20— 5x=12—-9x

(b)—3(23<—4)=—5x}_2

[3] Solve for x

X—C

@k=7x-b C(ya="r

[4] Solve and graph
() 4x—-10=6x+2

(b)3-5x>-9-2x

64— 1

[5] Evaluate (a) F(x)=2x* - 5x + 2. Find F(2)

(b) G(x)=— 2x* + 5% — 2. Find G(- 3)

[6] (a) 90 is what percent of 1807

(b) 16 is 20% of what number?

[7] (2) What is the percent increase from 2,000 to 6,000?

(b) What is the percent decrease from 4,000 to 1,000?

[8] (a) Audrey wanted to buy a ring with 25%
discount, which was originally priced as $80. How
much did she have to pay after the discount?

(b) Bryan wanted to buy a ring with 10% tax that was
originally $80. How much did he have to pay in total?



CH2 & CH 3 - Review —-A [3] Find the equation and graph with the following

[1] Find the slope and the y~- intercept and graph the information
equation } (a) The vertical line passes the point (- 2, ~ 5)
(a)3x—4y=12

(b) The horizontal line passes the point (— 2, — 5)
(b)3x+2y=6

(c) The vertical line passes the point (0, 0)

(c) 10x=15 -5y

[4] (a) Find and graph the equation of the line
passing through (6, —2) and parallel to the line
2x+4y=9, '

[2] Find the equation and graph with the following
information

(2) the line passes A (2, - 3) and B (4, =5)

(b) Find and graph the equation of the line passing
through (-2, +3) and parallel to the line 3x + 2y = 5.

(b) the line passes A (~9,3) and B (-3, —1)

() Find and graph the equation of the line passing
through (3, —1) and perpendicular to the line

(c) the line passes A (-3, 5) and B (0, 4) 3xp6y=2..

64— 2



CH 4 & CH 5 —Review—A

[1] Solve the following systems

(a) x+2y=4 (b) 4x + 3y =2

2x-y=3 Ix+5y=-4
[2] Simplify

a3 bic*
(2) :ﬂs‘;z O =
[3] Simplify

_ 2x10°

(a) (2 x 10%)(5x 107%) - ® =

[4] Simplify
‘() Subtract 2x —3 from 5x —4

(b) Subtract 2x? — 3x + 4 from 5x* —6x —7

64— 3

[5] Simplify
(a) (2x+8)—-(3x—-4)

(b) (7% —2x—5) — (2x* — 4x +7)

[6] Simplify
(a) 3x—4)(5x - 6)

(b) (2x — 3)(2x* + 2x - 3)

[7] Simplity

20x*—5x—10
5

(a) ©)

18x5-15x*+21x°

—3x2



CH 6 — Review-A
[1] Factor completely
(a) 5x* — 20y

(c) 75ab® — 12a°b

[2] Factor
(a) xX*+3x—18

(c) 5x* - 10x +5

[3] Factor
(a) 3x* + 4x — 4

(b) 16X - 36xy*

(b) x> -3x—18

(b) 7x* -3x — 4

64— 4

(c) 12x* + 10x — 8

[4] Factor

(@) 4 —3x*+16x-12

©xX+x*-9x-9

[5] Factor and Solve

(a) 2x* =18

(c)2x* —16x—-40=0

(b) ax + ay — bx — by

(b) x>~ 4x=0

(Dx*-5x+6=0



CH 7 — Review-A @) (V3 +V5)(V3 - V5)
[1] Simplify
(2) V12 + V27 — V5

3) (3v3 + 2v2)(3V3 — 2v2)
(b) 24/50 + 3v8 — V18

(c)3V32 — 2418 +v27 [4] Simplify
ok < ok
[2] Simplify
(1) V2(/5 + V6) 2) 2v3(3V5 — 4V6) i
®) %vE
[5] Find the missing value
(3)-V3(2V3 - 3V4) ;
x S 15,/
S
(2) 4 (b) 7

[3] Simplify

) (\/_2_— 3)(V2+4) /
o 4

64— 5




CH 8 — Review—A
[1] Solve
(a) x* =81

(c) 5x* =45

[2] Solve
(a) x2—6x=0

(c) 3x* - 21x =0

[3] Solve

(@) x*=5

(b)3x*-27=0

(b) 2x* = 6x

() x*~ 7=3

64-1

(c) 4x2-32=0

[4] Solve by quadratic formula

@x*+4x-7=0

(c)2x*=8x -5

[5] Solve

(a)x2—2x—8=0

(€)3x*+3x—-18=0

(b)3x2-2x+4=0

B)X-x-6=0



MISC. Review—A

CH 9 — Ratio and proportion; CH10- Functions

[1] Find x
10 _ 30 x_7
(a);— 27 (b) 25 5
10 _ 15
(C)Z_ 12

[2] (a) If a 6 feet object casts a 4 feet shadow at a
certain time of the day, how tall is the tree that casts a
30 feet shadow that that time?

(b) A painter can paint 2 rooms with 5 gallons of
paint. How many gallons would he need to paint 30
rooms?

(c) A man can drive 800 miles in 2 days. How long
would it take him to drive 3,200 miles? '

64-— 7

[3] (a) A store is selling 5 jars of jelly beans for $8.
How many jars can one buy with $407

(b) A car can go 60 miles on 5 gallons of gas. How
many gallons of gas is needed to travel 480 miles?

(c) On a map, % inch represents 15 miles. How many
miles would 4% inches represent?

[4] (2) Find £(3) if f(x)=3x" — 2x—4

(b) Find 5£(3) if f(x) = — 3x + 2x + 4

(c) Find - 3f(- 2) if f{x) = 3x* - 2x—4



CH 1 — Review—B
[1] Write the equation of

(a) P is twice the Q less than 5 times R

(b) 3 times of A subtracted from four times of P is Q

[2] Solve for x
(a) 40 —4x=2(25-%)

(b) 6x— 12 =~ 2(5x — 10)'

[3] Solve for x

(a)b=c—-2x (b)¥=

o g

[4] Solve and graph
(a)6x—-12<8x+38

(b) 5 —4x <— 13 —2x

71- 1

[5] Evaluate

(8) F(x)= 4x* —3x + 6. Find F(3)

(b) G(x)=—4x> — Tx + 12. Find G( - 5)

[6](2) What number is 40% of 300?

(b) 50 is what percent of 2007

[7] (a) What is the percent increase from 400 to 5007

(b) What is the percent decrease from 500 to 400?

[8] (a) Audrey would receive 10% raise in her salary.
If her present salary is $50,000 annually, how much
would be her new salary?

(b) Bryan’s weekly allowance is to decrease by 5%.
If his current allowance is $50 a week, how much
will be his new weekly allowance?



CH 2 & CH 3 — Review -B

[1] Find the slope and the y— intercept and graph the
equation

(a)3x+2y=38 (b) 4x — 8y =24

(c) 12x=8-4y

[2] Find the equation and graph with the following
information

(a) the line passes A (4, 1) and B 4,3

(b) the line passes A (0,2) and B (3, — 2)

(c) the line passes A (4, —2) and B -2,4)

71- 2

[3] Find the equation and graph with the following
information

(a) The vertical line passes the point (- 2, 3)

(b) The horizontal line passes the point (— 1, = 4)

(c) The vertical line passes the point (3, 0)

[4] (a) Find and Graph the equation of the line passing
through (- 5, 2) and parallel to the line 3x — 5y = 6.

(b) Find and Graph the equation of the line passing
through (2, 5) and parallel to the line 2x + 4y =~ 3.

(c) Find and Graph the equation of the line passing
through (0, 3) and perpendicular to the line 2y — 5x=1.



CH4 & CH 5 - Review—B
[1] Solve the following systems
(8 x—y=-3 (b) 3y+2x=4

3x+4y=—2 5x+6y=11_

[2] Simplify

CE YL
[3] Simplify
(a).(4 X 105)(6 x10° 2) (b) 41075

81073

[4] Simplify
(a) Subtract 6x ~ 2 from 8x — 5

(b) Subtract 5x* — x + 2 from 7x* — dx — 8

[5] Simplify

71- 3

(a) (4x +6) — (2x - 3)

(b) (9%* — 3x — 6) — (7x* = 5% +2)

[6] Simplify

(@) (4x-2)(4x-7)

(b) (3x - 2)(2x* + 3x - 4)

(7]

(a)

Simplify

12x%—6x—3

3

16x5—12x%4+8x8
O



CH 6 - Review—B
[1] Factor completely
(a) 7x* — 28y

(c) 72ab® — 322°b

[2] Factor

(@) x*—12x+20

(c) 5x* — 8x 4

[3] Factor

(a) 3x* —22x + 7

(b) 25x° — 49xy*

(b) x>+ 7x - 30

(@) x*+11x-30

(b) 3x* +3x— 18

(c) 5x* — 5x - 30

[4] Factor
(2) x> — 5%° + 9x — 45 (b) ax —ay —bx + by

(c) 2x’ —2x* + 18x — 18

[5] Factor and Solve

(a) 3x2 = 27 (b) x*+5x=0

(c) 3x*—3x—60=0 (d) 2x*-10x +12=0



CH 7 — Review-B
[1] Simplify
(@) V18 + 50 — V8

(2) 3v50 + 28 — 2V18

(b)zvﬁ—sm + 2427

[2] Simplify .
(1) V32 ++5)

(2) 3v2(5v3 — 4v/2)

(3) - 3vV3(2V3 —4v6)

[3] Simplify
M (V3-2)(V2-3)

71-

) (V5 + V3)(v5 — V3)

(3) (2v3 + 3v2)(2V3 - 3v2)

[4] Simplify

V32
D 5

V5V
®) %ve

(@

(©)

d

[5] Find the missing value

x
3

6

V150
2 =5



CH 8 — Review-B

[1] Solve
@iE=49 (b) 6% — 54 =0
(c)3x* =15

[2] Solve

(2) x*—8x=0 (b) 4x* = 16x

(c) 8x* - 24x =0

[3] Solve

(a) =14 by £-11=9

Ti- 6.

(c) 4x*—48=0

[5] Solve by quadratic formula

(a) o 2x=3

(c) 3x* = 6x—2

[4] Solve
(@) x>~ 10x+24=0

(c) 6x* —14x+4=0

(b) 2"~ 8x+5=0

(b) x*-x-20=0



MISC. Review—B

CH 9 —Ratio and proportion
CH 10 — Functions

[1] Find x

5 20

@5=5 (b)z—i

40 ,20

()=

6X 24

[2] (a) If an 8 feet object casts a 12 feet shadow at a
certain time of the day, how tall is the lamp post that
casts a 60 feet shadow that that time?-

(b) A car factory can produce 3 cars in 4 hours. How
many hours will it take to produce 60 cars?

(c) A choo- choo train can travel 600 miles in 3 days.

How long would it to travel 4,800 miles?

71-7

[3] (2) A store is selling 4 jars of mayonnaise. for $12.
How many jars can one buy with $72?

(b) A motorbike can go 140 miles on 5 gallons of gas.
How many gallons of gas is needed to travel 196
miles?

(c)On a map,% inch represents 20 miles. How many

miles would 5 inches represent?

[4]

(a) Find f(4)if f(x) =2x* - 8x~12

" (b) Find 2£(3) if f(x) = — 4x? +3x + 6

(c) Find — 6f(— 3) if f{x) = 5x* - x ~ 3



CUNY Final Test Sample~ @

1. Which of the following is a factor of the

polynomial?  2x2+9x-56 '

A)=2x+7 B)x-8 C)2x~7 D) x-7
2. Siinplify. 750 - 5v/18

A)14V5-2v3  B)2V2 Q) 20V2 D) 12v?2

3. What is the value of x in the right triangle?

A)2vV6 B)4v6 C)12D)V74

5

4. Find all solutions to the equation. 4b*+12b=0
A)Only b= -3 B)b=0orb=-3
C)Onlyb=3 D)b=0orb=3

5.Solve for a. x=3a+2b

: _ x—1b . _x_

A)af 2 _B)a_—\s 2b
C)x=§—y D)x=5(z-y)

6. Factor complefely. 8x%y —18y’

A} 2(4x2y - 3y?) B) 2y(4x - 3y)?
C) 2y(2x - 3y)(2x + 3y) D) 2y(4x® + 9y?)

7. Multiply. Give the answer in scientific notation.

(8 x 105)(3 x 10-2)

A) 24 x 103 B) 2.4x 10* C) 2.4 x 10 D) 2.4x107

9
XX

o .‘ Q( ,_) 2

B)xz C)x* D)x”°

8. Simplify.
A) x4

9. Find the equation of the vertical line passing
through the point (4, -3).
A)y=x-7 Bly=-3 Clx=4 D)y=4

©Copyright 2012 City University of New York
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10. Find all solutions to the equation, 7x%=112
A)x=7orx=49 B)x=0orx=4
C)x=4orx=-4 D) Onlyx = 4

11. What is the value of fhe y-coordinate of the
solution to the system of equations?

3x+2y =24
-2x+4y =16

A)y=4B)y=-4 C)y=-6 D)y=6

12. Simplify completely. -
(6x2-2x+3)~(—4x2-5x+3)

B) 10x? +3x +6
D) 10x2 + 3x

A) 10x2 - 3x
C)10x2+3x-6 .

13. Find the slope and y -intercept for the graph of
the equation. 5x+2y=4 - o
A) Slope #_4§and y-intercept (0, 2)

B) Slope= 3 and y-intercept (0, -2)
C) Slope= -:: and y-intercept = (0, 2)
D) Slope — g and y - intercept = (0, -2)

14, Find the equation of the line passing through
the points (2, 6) and (4, 10). Write the equationin
slope-intercept form.
Aly=-2x+2
Cly=-2x-2

B)y=2x+2
D)y=2x-2

15. Find the graph of the-solution to the inequality.
6x+2>7x-5




16. If 8 gallons of gas cost $32, how much does 12
gallons of gas cost? LI
AJ$36  B)$48

C)$28 D)$42

17. Which of the following is a factor of the
polynomial?  12ab - 12ay + 3xb-3xy
A)3b - 3x

B)4a-x C)4a+x 'D)3b+3y

18. During the course of a year, the price of a house
increased from$250,000 to $350,000 . What was
the percent increase in price?

AJ10%  'B)40%  C)71%  D)140%

19. If n represents a number, which eduation isa
correct translation of the sentence?
14 is 13 less than 3 times a number.

A)14 =3n-13
C)14=3(n- 13)

B) 14 =13 -3n
D) 14 = 3(n +13)

2(n+6)=5n-9 -
CQn=7 D)n=-7

20. Solve for n.
Ayn=1 B)n=-1

21. Which of the following is the graph of the

equation? -2x+6y=12
A) _
+ ’,’f
o
al "/
-.;{'I
4 f‘j"
b3 7/ 5
s
.’/
Kr -
/
fllllr.’
N
N
.u\,
" - i i -
L\
B) e \"\
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C) 4x3+ 19x2 -x + 35

7

—
Rt R e e
B __...--""’_"’FF#
-
—r""""'_r
e ;

D)

22. Evaluate g(5)-for the function g(x).
g()=3x2-3x+9 A)99 B)60 C)69 D)13

g_ b1
23, Simplify completély.w

A)7x2 +4x -1
C)-7x2+4x -1

-7x
B)-7x2-4x-1
D) 7x2-4x + 1

24, Multiply. - (4x-7)(x2+3x<5) . :
A) 4x3 + 5x2 - 41x + 35 B) 4x3 + 5x2-x + 35
D}4x3+19x2-41x+35

25. Simplify completely. V8(v2+ V3)

A)\/16'+§J24  B)40. C)2V6+4 D) 50



CUNY Final Test Sample-i3 [Bll

1. Factor completely. . 2x3 - 18xy?
A) 2x(x2 + 9y?) B) 2x(x+3y)(x - 3y)
C) 2x(x + 3y)(x + 3y) D) x(x2 - 9y?)

(2x - 3)(2x2 - 4x + 6)
B) 4x3 - 2x2+12x - 18
D) 4x3-2x2 + 12x - 18

2. Multiply.
A) 4x3 - 14x2 + 24x - 18
C) 4x3 -8x2-24x~-18

3. Simplify completely. (2x +4x +5) — (4x* = 5x + 4)
A)2x2-9x+1 B)—2x2+9x+ 1
C)-2x2+9x+2 D) 2x2+9x—1

4. Simplify completely. j__-

A)6v2 B)V10 C)5 D) V17

5. Divide. G|ve the answer in sc1ent|f|c notatlon

15x 103

6 x 105
A) 2.5 x 10-2 B) 25 x 102
C) 0.25 x 10-2 D) 2.5 x 102
6. simplify. V12 +V56

A)V68 B)4V17  C) 4V3+4V14 D)2\/3+2\/14

8,3
7. Simplify. %{"_—z
AlxS B)wx C) wx®s - D) wx -5

8. Find all solutions to the equation.  x2 -2x=24
A)x=40orx=-6 B).x=-4orx=-6
C)x=-4o0rx==6 D)x=-4orx=-6

9. Evaluatef[Z)for the functlonf[x) ox2-4x+7
A) 11 ' B)16 .- . C)14 D) 23

10. Find the equation of the horizontal line passing
through the point (3, -2).

A)x=-2 B)y=-2 Cjy=2 ., D)y=x-2

@Copyright 2012 City University of New York 2’@

11. Find the graph of the solution to the inequality.

4x -2 <2x+4
A)
2 1 i 1 i L 1 1 [ 'F"""""’
« I L] 1 ¥ T i T T i
-5 -4 -3 -2 -1 0 1 2 3 4 5
B)
-5 -4 -3 -2 1 0 1 2 3 4 5 .
C)
% ) i 1 1 1 1 "
—f T i i ] I T I .
-5 -4.-3 -2 -1 0 1 2 3 4 5
D) B

5 -4 -3 -2 -1 9 1 2 3 4 5

12. Solve for x.

y=3x+9z
A)x-—y":)z B)x£§—3z
0))x =2 D)x =243z

13. In 2008, there were 90 fish in a pond. One year
later, the number of fish decreased by 30%: How
many fish were in the pond in 20097?

A)27fish B)60fish C)63fish D) 117fish

14. If y represents a number, which equation is a
correct translation of the sentence?

39 subtracted from 4 times a number is 15.
A)39-4y=15 B)4(y+39)=15

C) 4(y - 39) =15 D) 4y-39=15

32x6—16x7 +4x3

. —4x3
B) -8x3-4xt+1
D) -8x3 + 4x%-X

15. Simplify completely.
A) -8x2 - 4x*+ X
C)-8x3+4x*-1

16. Which of the following is a factor of the
polynomial?  8x2-22x-21

A)2x-7 B)2x+7 - C)4x-3 Dy4x + 3

17. Find the equation of the line passing through the
points (-1, 7) and (2, -8). Write the equatlon in
stope-intercept form.

dhy =55 ¥5°
By & -5y 2



18. Which of the followirig is the graph of the

-equation? ,
. 4x+6y=26
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.A)_Slupé.:_i_and_y:intenc.ept :.(_0;.-;—) "

"A)Onlyx =7

5

19. Which of the following is a factor of the

polynomial? 18dw - 6dz + 63cw - 21cz
A)2d-7¢c B)2c+7d Cj3w+z D)3w-z
20. Solve forx. 21-6x=24-7x

A)x=3 B)x=-3 D) x = -4

Clx=-4

21. Find the slope and y-intercept for the graph of
the equation. . 7x-14y =35

B) Slope % and y-intercept = (0, —;)
C) Slope’"%.and y-intercept = (0, g)
D) Slope — 7 and y~intercept = (0, %))

22. What is the value of the x-coordinate of the
solution to-the system of equations?
. ,3X - y =8
~6x+3y=-9

A)x=3 Bjx=7 C)x=-5 D)x=5

23. 18 beads weigh 32 grams, how many beads
weigh 52 grams? '

A) 4 beads B) 9 beads C)13 beads' D) 38 beads

24. Find afl solutions to the equation. 4x2 =196
B) Only x = -7

Clx=7orx=-7 D)x=7o0rx=49

25. What is the value of x in the right triangle?

NN

A)V18 B)9Y5 )3 D)3v5. 6
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If you have any suggestions or see any mistakes on this workbook,

Please e-mail me at jasonkimbcc@gmail.com
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[CH 0.3-1] Adding Sipned Numbers
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15)-23 + [(—10).'+ (-41)] 16) [48 + (—47)]I+(—22) 15) [(-23)+(-10)]+(—41) 16) 48+[(—47)+(—22)]
3% [-5] C 1 I4622) ~ G + {4 484 L~4112)]
_ —(22-1) —3 tc4a) 48+ 69)
(23 'f S_‘ (,22- D 5
D —(3344)) = —(69-48) =

=14l (== 9



[CH 0.3-2] Subtracting Sipned Numbers

[2]

15) Subtract 25 from — 37

(3D ~C+2)

~3p+eas) = e e/

16) Subtract -16 from —18

il 1)9 5 PGS 1) 18 25 s 2) 27 - (-13)
T+ ¢-15) (F1g)+(+9 181 3, 29 +¢+8)
= (rr—q) =E4 ~ — (25-18) -
.................................. __ e 2 L @
3):2100 +(_c7‘2'p 4)—2284: ‘;6(— 0 3)-10-(-3) 4) 24— (-13)
(20 = _ ) ~lo4(43) 2q4(H3)
(20 = D (%‘"rl@—@ —(10-)= —l"_,ﬂ 24 413

5)59 173 6) 314 — (-88) Bl
59+ CB) 314 +(188) ﬂi 5) 47 - 62 6) 82 — (-98)

~ (B9 = 4 4ty 2+ (1)

7)-592 — (-346) 8) 670 — 830 %ﬂ) (o]

—~592 + 34 70 +C-€39) -

_ — - 7)-258 368 8) —468 — 562

$62 S - . |
—(25843(8) — (#4362

9) 25— (-7) 10) ~146 — 146 —(624) =Bt ey o
ey iy [ (s52) = Go79

— (257 = (1464146 9) 25 - (-7) 10) 146 ~ (~146)

) jasd ) Wty 1464 (+19)
' (25 = [32] (146 +146)

11) ~146 — (~146) 12) -8 ~ [12 - (=7)] (9D =292
—146+ (46 —=F 12417 1D [-8-12]1-(-T) 12) 0-57
(146:—|46)=@ —8-1197 L&+—|!:1+((+g) ot (-5)

—&+(-Iq »1+4(D
o= C e o] B
13) [35-(-27)](-19) 14) Subtract 86 from 78 - —
L35+t 28 8 13) 35-{-27-(-19)] 14) Subtract 78 from ~86
62 +09) = = T8+ 35— L-294)4] — 96 75
_ al = (H-1)= _[-__[ S-L3 —${+ (-98)
- e e 354 (+) = 3

—(F6+09) =[]

17) Subtract — 86 from 78

(8- (-26
(1784 Cef)

15) Subtract 37 from — 25

16) Subtract -5 from 3

10

©~C18) T‘*@&-@
= —5 -39 ~{ S?Sﬂ) 3(=s
st (“3’))5b 4 C’f:) T3t9)= D
18) Subtract -5 from -3 17) Subtract —78 from —86 " 18) Subtract 5 from —3
SR —56-(7) (=3~ (F5)
(3)+ (1Y —564079) G 3)
= T =[f2] —(36-0p) =B8] = -G®):=FF



D T Sigp o bigglr absolul Valug

n Differt Sign — subﬁ;ﬁ]‘_rw__,_

(3]
1)4-10 2)8-(-2) ns-12 210-3)
=y 15) =to et T54(17) o +¢+3)
= “(o-p= =tet="ol =~z - ¢rot®> {13
3) 10 - (-4) 4)-15-11 ) 3)-12 - (=5) 4)-24-13
10 ) —15 4 U 1245 ~24 +(D)
=-wop-fd T e el
5) 86— 96 6) 156 - (-97) ! |
T84 +C16) 1156 + (197)
= ek = ¥ 5) 7289 6) 284 - (-89) .
(%-88)= jid Qi‘ 4D Y2t (2D 284 +(+8D)
B L--—Ez = ~(g2~12D= —UD) = (264 1%
7) 354 — (-286) 8) 780 — 840 == =[57
—354 (4240 30 + (840 4 ;
“Ep TRt Mt SRR ot 7) 484 — (-375) 8) 597 — 70
(424 ) ET_],_ ~434 +(375) 527+(-T00)
9)9—17 10) 8 — (-15) -‘(iﬁq—svs) = <o FAT)
Yy D= -(19 —&-+(HD ={-1od] =j-108
—| -5raE) \7-9 =(8]
11) =356 — (-356) 12) -5 -[6 - (-2)] = ~(15-8) :"
,'zFé 4 (+358) “? *115:]"(’02] 11)-356 356 12)a.0-42 b, 23-[-14--17)]
= (36-356) =101 =-5—rg) = -s+4| - 3setEase) o, 0-42= 042
' - ~re) = Bl = —~ (356+356) = -Gup-oy=fua
13) 23 - (=14)] - (-17) 14) Subtract 91 from 82 :@ b'fzzité(\;t%:‘%?]
=92-tx1 =120
C 23+ (Hel+ &) @8?)-@'39 13) [-5 - 6] - (-2) 14) Subtra:t-‘9l sy
fpam 0D = Zq=4d=F1]| sl 23—
=4(3n 'H']) :@ E"'(G:“‘S)‘J T(¥2) - %2+(_Q\)
[-nj+2 =-(\-2) = -¢82+91)
| -9 m
15) Subtract 91 from 82 16) Subtract —18 from -6 -
-\«%l__(-__qD —f — C"’f ‘?) 15) Subtract -91 from -82 16) Subtract 6 from -18
=tpy +(q) = e -82 (-9 —\g=(F6)
(2] = +(91-8D) = -(1316)
==
"""""" 17) Subfract 16 from -8 " 77 18) Subtract CSfrom-3 ) Subtract— 6 from§ ) Subtract =3 from—5 o
96 = —4(-b) —1-(-%) 18— (-6) ) ~5-(-®
] 'C?’Hﬁ) =|:§g| [ -3 ’f(_‘f’S) = {4+ (+ 5)3(%'*'@) = -5_'.(,\,3)
=\ (s-»=H S = -(s-H=[2A



ICH 0.4-1 | Multiplication of Signed Numbers

(2]

.l
.

g

11) (-15)(=35)
— = (IS-35)

12) [9¢-11)](-10)
== )
r 990 |

13) D[8+(-3)]
“NC5]

Ex]

14).(-DI(6) +.(-15)]
AN (CT>Y

9 3(—2_)(—,2)(—5)
—==(32.2-5)

11)-8[9 + (=7)]
- N

-ld

10) S(-4)-3)(2)
- - (54.3.2)

+i20)

12)-6{(-7) + (~12)]
= eL-(11123]
= [-U]
~ = 4=

1] 18 2 7)) 1) 9(-5) 2) (6)®)
- _9-TH = =(-9=H | ==a-5=FiF = = (6-9) =}55
....... P gy
—=Ge19 —=(*P= ~10)(8 HENED
= T 1o ~=(jo-8) = ~(97)=[£63)
- [ 80 |
5)0¢-12) 6) 8 [-7)-D)]
=k SR A i | P O BN
- = (1+12) - =871 =[igg)
7 -23)4) ) -7-2)(-5) “liz]
— ~(2:2'%) — == (725
(REZT D350 §-2015%-5)
-5 6 - ~(2415.8)
= -—. q: - =
9) 2(-3)-3)-2) 10) 3(-4)2X-5) — ALY
-— (2332 — = (3+4:2-5)

-~ 189 ={"jgq

15) Evaluate 6b if b= -5

6D = 30)

16) Evaluate —6b if b=-4 -
_..-écméﬁ = = Cg T}

13) CDE) + (7(-3)
—€1-&4--(13)
=56 12
= -(56~2)) ={=38

14) -9(-6) + (=9)(-15)
== (844 - (133)
54 ¥ 135

15) Evaluate 8y if y = —3

31-8): 2

16) Evaluate -8y if y = -5
- (-8
== ~(%5)
=[t4o|

17) Evaluate 6—x ifx=-8

§-0)=F 7]

18) Evaluate ~6x if x =-8
~6(-8)= -~ (6§
= %8

12

17) Evaluate 12w if w =7 18) Evaluate 12w if w = -3

~2(-N= = ~027)
= W84

ncﬁz):E@_



[CH 0.4-2 ] Division of Signed Number

2] 1)-60+(10)

2)25+(-5)

1] 1)-40+8 | 2) 16 + (-4) 4o 26
g _lé_Eﬂ w’Eﬂ — =
§ —4q
....... 3)15_—5 4)£‘3)—27—_9 4)_21—
=4 ” ~6 ‘i"‘fi
—Is : 23
— =B =9
—49 —-250
. — 5)—— = _ :"‘_Z‘E
5)—1-8— = 6 —150 = I ) -7 m : 100 /o
-2 1 AT -
- =5 _=sl el
S'lz,__ _D._“Ez;:l
; 35
- 5= 7)-3'+-81 ) — = |-
7)-18 + -3 ._E{‘[ 8) 5;35 N , )_5
= = =3 |
T —& - -_’}-_2'] ’;.._‘]
9N+ _ ;) 10) [48 + (-6)] + (2) 9)—4 + 84 10) 48 + [-6 + 2]
L8152 R o 46 1231 =[]

—
—

11) [(-24)+6]+(-2)

b
12) Evaluate -6— ifx=-12

11) 24 + [6+-2]
—24 % {-3]

Y
12) Evaluate —— ify =48
12

—
—

[47<-2 —) A (L
6 —9-4 -[#] VT ey Ch
-4 _15
__l __.—.
_ b _ 5-(4)
13) Evaluate 4 ifa=-21 14) 10———(_9 = )_O_‘f:_(, A g —-15 EU==D =9 —2—1
-7 —-2-4 —]-','(.’4) [{_r 53 ‘j
A e R o Bl 5409
—2} '_,_’.f‘: 28 T —15 A 2.=i3
:ﬁ'—“- sy il : SR przyny G’
o[ 25
| —8+2 (- 7-305) [
_ _ 15 (&9 ~ S
15) _i}i— 16) 5-3(4) g ) -10=2 = 16) “3-(-7) . 3+
—1—(-4) ~2-5  Zts) Uotx)

B j . :;é__,H ==& £
lo‘\‘4' -(o4) _ (vl _:]] 2 HCED" & ’@
SECy TG4 _ -m

- 13



[CH 0.4-3 | Combined Operation

[2]
1 1)1-9_13 21— (-18) 1)2=125 36 2).2~ (25 36)
-+ g = 24 Y ;o273 2-(~1)
kG [=57] 240 =[3]
""""" 3)_72_(_9)_3 4)_72_[(_9)_3]
i 303
-5 -—’]‘2;7 ° 3) 48 + (-16)+ 2 4) 48+ [(-16)+2]
8‘—: -3 = 0 = :‘-——Lv = {7 — ¥
g E ({%): 2 48[ 6]
5) 17+3(-8) 6)~15 +3(=5) i <3y = —4£
. | Rt 1% % Hor]l:] = -
] 24 = | —p
1t 24 =[] E5HE
¢ £) (-5) .; 5) 19 + 4(-6) 6) —24\+/ 6(—4)
1942 24 (4)
7)-15+3x (=5) 8)—13 — 5(1) = (“[ )
/-\é‘ o Cf-g') :@ ")3 '—(._'S_) = : 6—96_4) ——:—@
1345 =4 7) 38— 8(7) 8) 21 — 6(-2)
38 -5%¢ =21 =(-f2)
9)-3 - 82 . 10)—(3-8)2z 39+(—r()=_—@'[ 2]+ j2 =
. = — {24 >
3(69) (3> e4) 34| 9s2 10) (8 - 2)2
[ j] 2
< 34 =[-3] — ) = Lo
11) (-3 - 8)* 12) 8(=3) ,r 2 é
2
£ [516] $(9) =12 ]
11) -8 +2? 12) 2(—4y’
13y —243 = 7€ 1y 2=24 _ 3-8 s+ =) 164@:
~1-(=7) -1+ “1-4 T4
- - -5 i =
- 'é"’@ == 3} _9_2'(3 =3t y 225 ol

15) Evaluate 4 — 2x* if x =2 - 16) Evaluate 5 + a2ifa =9 |

4-2"° st-9*
~2(%) = S48 =
4—& =

17) Evaluate 2x? ~3x+4 find f (3)

—  2AVBOTE = 2-9- 1% = f-9t¢ |

+ ¢ <[]

—
—

18) Evaluate 2x? —3x+4 find f (-3)

—4 .

- _ )
=z =

15)Evaluate 6- 4b? ifb=-3 16)Evaluate 8 + c?ifc =—11

A= 640 pypS= gt -
=[]

=6-36=3q

17) Evaluate 5x% —4x-3 find f(4)
| S4(3 =S b 163 fpj3

2F-3CDEE = 2.9 CDTE =[Pt I14
| =21+ 4= [l 14

©Gopyright 2011 — 2016 Pf.Jason Kim

=(&]

18) Evaluate 5x? -4x-3 find f (-2)

S 4e)-3= 04~ (3

= 20+¢-3 = B}



(3]

[4]

12) 8(-2)°

39 =[]

11)-3 + 5?

—342 = [22)

1)3-7-26 2)3 - (7-26) 1)5—14-29 2) 5 (14 -29)
Yy-2 = 3= (-19) —1-24 =3¢ 5—(-13)
....... 3)_56-—_8.—.2 4)__56_[_8_2].. 3)_88—44_2.___ 4)—88—[44_2]
NV, . €2 [~4] ~
1 =<2 '—‘ggr []E a2z —8§ = 22 :E——E}
5L 4
3) 81+ (=2N(3) 6)23 +5(7) 5)-81+ [27(3)] 6) 16+ 6(-9)
G B+ —$1% L] I+ €59=[35
- ®ev=FY ER] =5
7)-35+7(=5) 8) 17— 6(-2) 7 *36”(-9)( o 8)-31~5(-3)
. n—{ 3644 (- —3)— _,|g)
3 (3) 1n-&12) I—C
N —10+tjz = -9 - (-9) ={&] — _
X -3 , 1#] 314 15 = [14]
' ) 9)-2 - 6 : 10) (-2 - 6)
9)-3-5° 10) (-3 5) . 2
2 —2-36 =|-72| . Cr)’=
~3.28 = E'Tf’ (—5)= [25] u———m
ST T pa+e 12) 5(-3)° o

—2+36= 4 S(2D=|-ps]

13y 2260 _ 544 gy 34T o
—~4=3 = =B-7 ~ o
T = JRETL 1 8236 _ & T e
21 —c —2-8 o =25 10 -E)
—.“_.LS:_ —19 = - =
= o =]

-15) Evaluate 5-8x? if x= =5 .. .16).Evaluate 6+c?.if c=—13.—-

15) Evaluate 5 +8x if x=—5 16) Evaluate 4 + d? if d = -1

5-§Cs)* £ G* 3 :[ ?C-SJj 4+ ()%
5--&:%0 = [-l9c 6+ =J 5t 200 = o8] 4[{;}’

17) Evaluate 2x? —3x—4 find f (5)
2(5)* -3 ~4

(2D~ 15—
5 ~ rrjf =30

18) Evaluate 2x? —3x—4 find f (-5)
2 5)>=3(-5) 4
2(25)— € ~4

so IS —%

¢s-4 =(d]

©Copyright 2011 ~ 2016 Pf.Jason Kim 15

17) Evaluate — 2x? -3x—4 find £ (4)

—2(H3(0~4
() 14

~22 —lx =4 = B —l‘?‘

18) Evaluate -2x*-3x—4 find f (-2)

—2(2f-3(2) 4 ~f 6% =
—2(4) — () ~4 T4 =



[CHO0.5] Order of Operations

(1]
1)15+3 -2
L4

is+6 =]

2)28+7-2+3
wiAywA
4oy 43
,\M‘\—'
&+ 3 =]

3)100+10-5+4
W,
to -5 +4

[2]
DE+5H+2-32,
(3428 +2,-%
fircd oy
(28> %2 -4

2) (13 +6%) + 74
(12+36)+7 16
VY3
“@N+7-16
_ n. £ --:']Hz[

NN
so*i‘lff—‘@

3) 6~ (10—8) +2° + 52
* - (3yr2d+e™
3 ~(2Y+€+ 25

34 + 8423 =g

18+6
4)28 +4-3x4 4) 9t _o2
1 (_—ll) = ——(l_:.j-f[): \6 4 |2
5)2 x5+ 2(1:2) 518168
10+2(5) ey =@
o+ [0 =

6) 24+4x2-2(5:3)
6X 2 ~2(2)

2~ 4 =@

6) 18 +2x6 +3(7:3)
R+ 2Lxk + 3(2)
Y%k + 6

s 16 =l6of

7)12+3/64 -7

[2-+ 3@)~7
12 124 ._.I'J

361 = [29]

©Copyright 2012 Jason Kim
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724100 ~22-5
3ey~H-35
20 -20 = 0]



[4]

1)2';’12/+(2;~3)2
2-9+ 6y
=\’ 4 (36) =[5R

2)[40-B=2]-2.

2)(2+3)(6-2)
v "

(5)+ <% =[20]

[40-61— 2
= 34 —32 =[3)
3)24+(3-2+2)-5
Bige¥ s U+ (612) <5
A A0S
= 1844 = 2 =

4y7- 36 —0+ 64

e g—0% &

4)24+3-2+2-5
3-2+10

6-+10 -z6\

= 4% -0 —]
5) 2 +3)-6-2(10-2) 5)2+3:6-2 —
e oy 2518 -2 =g}
5-6-2(l0-8)
= 30 —2(»
6)24+(3.:2-2"(3) §24+3-2+2
24+ 6= 2(2) B-24+2

7)81+ 3 (3+3)
81+9(21=9)
= "¢ (p =P

D - VL +5
(loos 25>~ (| +5
CHY =11 +5

8) 2(3%+9) - 3(5°-3% -
2271 ) 3( |- 1)
2(3 -3 (@

£§ —o6 =

©Copyright 2012 Jason Kim
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8) 2°(53% - 3°2™-1%
W-D=1-D
{Co)—1¢e)

Q-0 :@1



(5]
1)72+2x7

by =]

2)15-3°

15— = [i4]

3)56 +4-2(5)
A\

$H3-42+2-37+14

14 .2.5 306t 229114
v i :
2pet _= ‘h?’\@tﬁ’ﬂ‘i’

2)34-7°

 3)108+2*3+4.25

/o&"ﬁL 34 (€0

3 + /oo

<H—H<ro—.

4)8:4+30+6
3245

Bl

5)10° v/121 -2 6) 64+ 4 -2(5)
_ v
5)9°+12°+12 + 10% 6)5°+8-0+7-9 (e (D2 1§25
|1 4124 fovp 2¢+0 463 16+ o
£ 8ol
| 7124364 -7 8)4-3+5-3.2
7)4-10°+3 100 8) 107 +/81 - 4 24308 - 124 25 —¢
4elod 4 9. )o0 fov « 9.4 124 2¢-9 *—' Bl
4o + o0 g - ¢
]|3°°, [3{01)[ 9)7°+8'+ 8%+ 10° 10) 8- 10%+6%- 10°
. . i | +&F1 4160 & fov + 36+ /o0
9y5:3+6"-3-8 10) 144+ 3" 2+6 70 8o +36,wro
l‘i'\f/%'ll'o l%‘#\"-/?‘-’—f f20 [36%0_[ -
5| —4o 16:% T 420
m >24420 INEL+1-0+8-7 12)1-8+7.9
@5‘2..[ 0 56 - ;
11)5+2+/36-9 12) 7(8+9) 60(‘;2[___;] Se+63
2
542464 700) :@ ]
S+ -4
I"[—*‘j 13) 892 14)11-3+2
(o] g
(5] 5(2) &t2
13)8-9-8.7 14)27-18+3 jol
')L"?g \/,;;,B _ @
=
={K¢]
15) V6% +8? 16)10- 19-7 5¢5-2) -
PR
2 2
15) V13% —12 16) 2[3(4 -2) +2(5)] 3(+69 /0”—3’*263)
27202 + 0] ' '
169144 206 +1te] T =[] (6—1"23
Vze =[] 28] =62 3 jo —¢ =




171
1)36+6+2
~

6‘;2;@

(8]
1) 64+ 16 x 2
NV

4 2=[¢]

3)10+2x5

Yrx =fsd

5) 10+ 10%+ 100
jo - jod 160

s +ie0 (L1

N16+4x4

oM

4)2-3°

2.2 _—:@

5)1x 10° + 1000

6)4-3+15+5 6)6-4+20+5
it 3 =[] | %1970 "'.l.’"“’ 244+ 4
[UDD 4 | UTO
{2000

7)48+4 -
) 8\/4 2(6)
12-\/2-4
24+ 6= |14

9) 6° + 10° + 10 + 10*
|+ \ Ftot o

~[T5012]

8)2-5°+3-2*+4

28543414
o 4 it 4

- Bl

1009°+9-0+7-8
29+ 0 T 56

73626 203)

6.1.} ?

8)2-5+3-27+4
2: 20434 +4
s Y12+ 4

B

9)5°+5'+7°+ 10°
1| +s 4\t ]ovd

(o r”

10)2°+0-6+8-6

11) 5.- 10>+ 4%+ 100
<« |00 ¥ [62190
Svo { 1600

-

12) 1024/16 - 5.
joD* 45
400>

=[2p00

I

11y 10° 425 -3
|ov0 -5+ 3
| Sovo

12) 9 - 10° + 5%+ 10°
g - 1ov0 § 25 [ovD
qvvv + 285vrD

|340’0‘0!

13)2-3+3%-4-2

14) 100 + 5% - 6+8 75

13)5-2+7°~2-8

14)54+3%-4+3-15

6+a—& oo = 25§ 400 ot 49-/4 4Rt 4
s —& =[] 46 Téov 7l L &F4c
24 + 600 24 +4¢
154 +3~/25-7 16) 8(9 +7) 15)10+5+/16 -5 16)9(8 - 7)

4+3-5-]
4 + 15~

“,{,Ar{ {12}

HORER

19

0+S 1%
[6F 205
30 ¢

9¢) =[9]



[CH 1.1-1] Translation of Algebraic Expression

[1] 1) The sum of a and twice of b.
[a+2))
Izc»}j

3) The product of -2 and the quantity of a plus b.

EZ Eq«fL) l
[2 ()]

4) Twice the sum of ¢ and 4.
l2r+ S ]
6) Twice the difference of m and n. 2 ( ™ —m )

7) The quantity ¢ plus d times the quantity ¢ minus 4.

Cetd)(c—d)

8) The product of x and 4 less than x. -

HIIEII
9)81x E@

10) The difference of m and », divided by 6. ,E/]
L& |

11) The sum of 5 and 2, divided by the difference of b and 2.
F2
=2

2) 8 less than twice of c.

5) The sum of twice r and s.

12) 8 more than 2 times a number.
A .

13) 5 subtracted E‘Bﬁ?@

14) The product of 3 more than a number and 3 less than
that same number.
15 hree lg of;:}ls SEEJEEEQ-P less
thamjthree times Q.

\m._.-».‘ (3 & ""f) ) (2..)( S’D

16) 7 more than a number divided by 7 less than that same

number. +r]
a3l

17) Three times the product of a minus 4 and sum of twice

a and three times 4. 3 E Q\__L) (7_0\+ gd)j
0 20a-bd(2043d)

—-;_._...,__.-;..,_.__......_‘

18) Twice the quotient of twice ¢, divided by d less than E.

2 2C
.E_a

zp-5].

20

- 3) 5 times-x increased by 2- - - -

2] D) Twice d ]:-zssfﬂﬁﬁ\thrce times ¢
el

-

: l_'”? C —~ 24
2) a number that exceeds m by 4
--------------

| 4) 36 divided by the sum of t and u 3{
ttu

5) the product of x and y decreased by one-half the sum of

6) Twice OinS(S E-— 2% I

7) Twice of the result ﬁ‘omt}( subtractedi froa Y l '@1‘)

8) 3 less than twice a number

Z2X=3

9) one—third of the product of 5 and a number (5
. 5 (5X 2‘

10) the product of 5 more than a number, and 4 l g X _{,ﬁ Zi' )

11) one half of, 10 more than a number (K‘HO)

12) twice the sum of, one-half a number and 1
2(Ex+)

13) Saulis 25 years old. Represent his age x years ago.
25X

14) Paul and Martha saved 100 dollars. If the amount
saved by Paul is represented by x, represent the amount

saved by Martha. 3 X ¢ lamg)
00 .
/ <C/o'o7)(( (Mertha)

15) The cost of a fur coat is 5 times the cost of a cloth coat.
If the cloth coat costs x dollars, represent the cost of the fur

coat, @
16) Sally weighs 2.5 times as much as Helen. IF Helen

weighs m pounds, represent Sally’s weight,

17) The length of a rectangle is presented by L. If the
width of the rectangle is one-half of its length, represent

the width. <F
(S



[CH 1.1-2 | Translating Sentences into Algebraic Equations

(1]

1) Seven more than three times x is 15.

3%+ 215

2) An ufiknown numbge increased by 8 is 32.

RS IEAEE]

[2] :

“ 1) Eight more than ’-tl_l_r.el_e tu_nesx is 53,

a2

2) Anqnknown number increased by 11 is 25.

3) When the sum of an ufiknown niamber and 6 is

multiplied by 4, the result is 16. g
(x+6):4 =16

T

4) A 37 inch piece of wire is to be cut into two pieces. Ond
fiiece is twice as long as the.ofher piece?

Base.

3) When the sum of an «nknoywn fomiber and 8 is
multiplied by 3, the result is 63. :
i

Ge3= 6 0423 |y

I@Q "

.+ 4) An 8linch piéce of tubing is to be cut into two pieces.

One piece is to be twice as long as the @fhier piecer Base

Rk T AETS

6) Six more than four times an yrknown anmber is 22.
lan X1 [FH S ]
: 4 X+ ))

2T

7otal [ &
5) 5 less|than|three times of X/is

7) When the sum of an ynkiown number and 6 is
multiplied by 2, the result is 48.

6) Kim bought 4 more cans of Pepsi than Q—%I%é She
bought 16 cans of seda altogether, o
Gk | C

Tl —> (O Cery =14 A
AN

8) Eight subtracted|f

e —

7) Mike bought 4 times as many tapes as‘CD’s) He
e

purchased 30 items altogether. ’ S,
W 9 =3 f/\ﬁ‘*gé - j
To KL 320

8) Foulﬁ%Six subt;acte‘ le the ID '

9) David t_>-6ught 3 n;bre_pens than péncils) He bought 13

pen and pencils all together. Bose .
RraT - HE

o =B | P

ot

9) The sum of an ynkAGWn number and a number that is 4

less than the @@D}@gg@m is 24. LMK__’_, mlj .
Tl —  TOTED=24] [ [x¥
2

10) Susan bought 5 times as many tapes as(CD’s) She
purchased 12 items altogether. W=

; S : C
Totol -— o+ o= |2 ) To:‘; =3
Totel [2.

toted. |
10) Three times the sum of two less than unknawn
number and 6 more than the unkfioWn number is 36.

| e

e UmEmatd™ |

"3[ XD+ ()G()]:E. 3[@-»)*@@
o 4|

PR



[CH1.2] Evaluate the Following Expressions [2]Ifa=2,b=-3,c=4,and d = -5 then
[1] Ifa=2, b=3, c=4, and d=>5 then 1) 2bd 2)d—b ,
1) 8ac Da+c 20-3)(=5) : (-8) ~( -3
W =14 244 =[] 2018) :[20] ~5+3 = ~(5-3)
: o R =
3) 4d—6a L
3)da+2c - 4) 3¢ ‘
- H(-5) - L) b = by
1{-(?-)%2(4) 3(4 2, 3-=[l2]| 10 -1z =-Ca0mD *)
g+ 5= /é ) 4 IT i ={~33]) "@
' ) 1 Sd-25° . 6) 6(d—b) |
S 2d 442  Oera (—s)s-m—s?) 6rs=C®)
ooy - 12§ - 2027 “5+3) = (53}
2(2°H4¢4 T 2=~ AD=R| 22 ey B = f;, o
29 + 406) 2030+ d) SECT e
¥ 464 =] LD TC-SNA-9-9 4@ +(-3)
N2a+b 8) 5(a +20) S2(=(5)= 2—([4) AR+~
22+ 5(2t2(4)) fa8 32-3=[29)
4+3=TT :(z-}s)«) 9) 8(2a + 3¢) 10) b3c~2a) .
S Clo 2@ 8(
202+ ) C-3)(3CH)-242Y)
9) 5(4d-3b) 10) c(3a +4) T4 +12)= ¥(e) =32~ 4)=-3(8)
5 (4e)-13) 4031 4(3) =128 =
5(20-9) 406112 A 1) 7 + &) 12) (5 + b)*
sOp= YOO =B | 12440 704+10)  GEEMHEY)
1) 282 + &2 12) 205 + %) 7c20)=[1%0) GE@ (-3
ABY+(P* 2(3*+4) 720 - I({Cﬁ.’lﬁ Y™
2(9)yt+16 2(9+16) 9¢ 8a -
letfesl3g  20S)=ed | DY D
. 106 KD 36 3eX3) -
(13)?7_;0))7‘ 14) r -3 :;.—3"-“@ & "'2&,_'&‘
2025+ - =z |
.L_H(E =.39 = -
(2¢44)* ®. s -
(8+4: =y 14% = 15, Sabd 5 3244
15 Ta~-c 1'6’ a+2c c* b
d ) 2e=b g (2(-3)(-5) ;étg, B (2)H(~5)
> 6 (-3)
2y -4 144 @t2¢4_ 218
& - 5 f Zme-es | =@ =lozf 5.0
3] ! < —3 TR S]
3 '—3 B 3b+d 2b%+6¢
o 2a’ —2¢ 18) 2a” +6¢ 17) 18)  2a+h
d—b 2a+b ¢c—b qs i s
. . e G- 23464
1(.2;)3 "'Z(LFL 2(8-8 3_(3‘2-%&1 3%&%2 443 ZCZD‘-:("‘SJ
()-8  * 2(2)+(3) T | |
= _Le-z:-&;%_ 5% - _.;\_I-\;_;E == (3 24 ali'zi} _ E
©Copyright 2012 Jason Kim 443 29 L ‘ e ar r=
= _ﬂ&._-_é_%— :
T

=|4..

va




[CH 1.3]Adding and Subtracting Algebraic Jxpression

[2]"-

2) 3x? ‘—\'x'\— )c.2

(Combine the Like Term) 1) 12a25, 6ab2 -
[1] 1)3x+7x 2) 16y 42 : QI_‘sz._,x
-GV K] M) BT R R
. 3)2d—5a ' ) 552967
_______ 3_)',1'591n Smn 4)_6,}_’___5.)1_'"_3,_11_. @"3‘)0\5—(?—3"])-19
(I5=5) i’ m =[fom™n ()= T ff 1 | = t2-nb = 5]

6) 10m* — 2m —3m*

5) 80-»-4!7 56+5b

""‘f\-':‘—':'/\/

(3%‘) C+ —4+Db

6) 4 +5G - 2F +3G
= N =
4F-2F + 59139

© 111 5)6b—4b+3c :
AP L = o e x b = [Bctbl [EXEFd
7)3a 4p+2 9 atdb-2e 3l G-Z)tx (415) | (i—é)m (% &b
SR eatb L Gasa ab-sh T o)
3G+ —2b |30\~2-17[ G2 + (4-2) L \ il
N o 9)75x 25y 36x ig xL 10)37a+2,55_59a+1 5b
1 D, | 4 L2 (TS -2 OXF Cast-20) | 2 TrEpat . 1.5
9) 4x+2+ 4x _ 10) 5: 5)’ ;( g; | B.q;« + =51y "W_ﬂ
he/Sum
(&t ,,;)Mz 2x-24- Ly e *“C)’f 7%"” -
LB 3] Gt =TT
: > I~' —— = 12) The@uftwlce b¢nd7 less-than 55
11)2(3y+4}+5 5 12)6(5y"—3)+'10y‘ | ; .jﬁif?‘j)? ——Ff_m |
@?Y)ﬂgﬁé; : )(gﬁ“@)@f’ 9)( ; 13)_3y+2s ofSy@ 12, B
Y'r RS Rl s 7s O 14 — (34 = _Sﬁn-r(»—g_y-—zj @"Y—-J‘ Ml‘?)
GOHIOD—N’-— § T
T3 3cr 36+ 5)+5 14) 5(6p—3) ~10p \14)-the7p1us9x@cfm‘§5 plusiax’ iy
3+ 360305 Sp-s@-1op || =t 0=rat 17K - (D )
.f-,L?"" f = “L+ "S—X .-n-
m* L.,—-_l_-—‘f.. 30p IS 12p_
| ; 1 -
ch \_ _(3’ o‘Fv':l i y -15 =J_ﬂfzo f—m'_" 15') 7(9a— 5) + 2(4a— 6) 16) 6(3b—T) + 4(8-4b)
15) Subtract 3y from the sum of 7y.and 4y. 530\-"35' + J’“ﬂ'\’/2 ]g‘-b ?’3"'32 !'61:.1
‘ CNy+4y)—3 ga+w+ Eas H,-;gLH (4t
.Y ll‘f\?fzyy 8] =52 1 e ﬁ%‘:@ a
17) 2(4x + 5) — 3(2x—3) T 18) 3(7y-2) - 2(dy-3)
. 16) Subtract the sum onZ:a?d liab from _'_D'qb_ ‘9)('1""&9‘* o 'l‘j, 94 Y -
gab ( Tabtisal é—gx-‘éx)vl- Ciot9) @Jy—-ﬂ)‘f ¢ l%'ﬂ
) FA4b— 22a) = Ffﬂﬁla i ST _;q,x.g—v{ EQZ’B ;3511“0 _:
17) (3a—5;@-{—5a—4b) 18) (2x —3x'+4)—(5x2+6x—7) ' 19) 5(3p —4q)+2(4p— 2q) 20) —(sx:ﬁx—?) (¥ —3):;1{) l}
2a-Sbf(tsa+4b) 24 ] ) | = SEISCIP RADHEY ’ﬁ —6x4]+ 242
@ )+( H b) C rxl)+c x4t 5 +*°‘(ﬁ'+ﬁ+'ﬁ' —zxz)-f{'sélfjﬁ%)m _-ﬁj_,
ot sy Y -shre - X ' o 2y ~q;<+ 3kt 2 = Px-3x43)
bar—b= [Bach] - - -3 HAXK -éx ZQEEIL Ot;ﬁe?@'fr_l%g_"i"f,. =

19) —(3x—2y)-(-4x+6Y)

+c il
3RF4R Y (l‘f"é‘i)
€ !x‘f*‘é =1Z=ayl

©Copyright 201t —2015 Pf.Jason Kim

20) (Saz»-ﬁa 7}-—(3:12—40—3)

tap) + (X 4y 28 66~ (34t

(s34 )—}- (gar4o)t N3
>olt2at-t =

.23

22

" 21)-5(3p-4q)2(4p—2q)

| ,_ET 208t "EE'%‘ ‘fﬁ-
(-5 pt -8p -+ (205 *“f@
e 24

")

5GP ESXAE) TP

_(3x*-45-3)-6x"~6x-7)
“IKAr4nt 5% et

—SX-TIoXt 1o

il

(-3 i) + (a 169 101



ules o ool gl -

%
. ....&__.-.._va‘;{..-.._..A....__. U eta R e M woe scw e owe o
& =0

[CH1.3-2] MultlplYInE and Dividing Expressions r{ 2)2 25 o

% lx 27 x =(2) (K Y% VAR
[1)];: K ;('"{ZE] 5= %iﬁ ‘), MX”"”S C\ﬁ = 3 ;+;+4+l 53-

Ndada 1§14)x )
_ay A5 . 6+ r' 4 62' i'bi.___ Q&_LZ. =2 . 5_.‘.¢_',.r3+) @ ud 2 3
9= d =[cﬂ k d::,yﬁz-r—- 24 e etk
: : 5)d’b - a’b* - ab®’ 6)6p-3p-2p°'= (63 ’9(’( \’}’9
H’Z+3 216

5)a-d 7 = Q 6) x%° Xy xy ~(pFR (b b Z) 7 = (Bé)c\?wli“f)

B B’\gl _ 0( o >(\/ \/73 - Qz+3+\ bwz.-’r @ i -a

it — 2042 3‘|‘1H,—§—-§7
; - A . _4)5_.1..— ‘7) 5a"b5 4ab3 /(5'4)(@09(551:3 )3x3 R A é-q){%i??‘é\g
7) 6a'b” : 2ab" 8)4d’b - 8ab’ ' 20 oM b‘ﬁz 25 = Ja.x 3t2Ten =B
=(6:2) cmcm:‘? 4 P@RCEED)
12 0" ' L‘i *320%*‘]9'*‘?& [ . ' o
’ 9) 3y4-2y5-5y2='(3-2'39(‘/4+ 7 10) 7’y - %" - 2"
)35+ 10)4%%y - 3n? 2y ~[o y] ~ (190D
(30]+4) C)‘ X n R ') = f‘f 3 ’90‘1’()(‘)(”7) ! £ ,4 342 Yl-fzm

_—
—_—

PN S *6’)-—;2)4

. 24¥ +116 YHrH

14Xy

1)4a’-a'*3a- 54 |
»@—1 35) (o > 0\0\)
{o QCTHHT3
=80 e

12)28%d - cd~5c%d hed
=Qel* 5> ‘D(c’i: <o

= 40¢

=[]

241951 iﬂi’ﬂﬂ Cd{ d !

12)8xy Xy 3xy . 4xy

={e:1:3:4) G OTYY)

= 9 xli-l-tﬂ'z ylﬂﬂﬂﬂr
A

11)2p 2ppt 3y’ .
= L }_ K 3) F4+H'3
8 '3l

=1

= 3 ; -
13)'%,'—= EH;--- -

14) x—;-_; 7{?1@

el
o)

13) Z ’76‘1 @

o)
- G—D(NH) —«@

16) = ‘i)(,___)
‘*~<T>o<‘*"~ )54

15a

D
=) (o)=3a= r-

o - ()E)

(1) o) Pl

24a3bﬁf

14x y -{JX&) (Y) 18)
_2_.><‘t'?y BAY

o 4) 3—1) Lﬁ)

i

40x y*

3

36W z.
6w’z

Q_

17)

(%5 @@_) 18)
’(f“r(x CY“) =41y!
l]L

-G)E)
()

s 4_0\ o5 S 61:\3qu
Sk 23,04 - 30x%y’z" t, Axiy?axiyt
------ ) S T B gy -
- o) (") FE) =@EIIED)  £5E 2EY
%(X)(j ) ___%)Q R T?QY%E @g “(3)(7@35)(}’3%(]
©Copyright2012 Jason Kim 24

=3 W)=300) -



[CH 1.4] Addition and Subtraction (Solve and Check )

1] l)ij:;— 2)-"—?;:& Dx-4=-3 2)x+6=0
—2. = +
5+ 2=V 15— =V ) :m X:E‘Z{
........ 3)x—6=—10" 4}x+_5=;__ L S A e a R A E SR, ceeLm T ecs ave nm wimienw G ¥e S STUSSSIREER R mmoes
+6 16 =5 '
T = *~ ‘;E—EV/ 3)6x=5x—06 4)8x=Tx+5
i = —ov’ —~&45 =3 —5% A — X =N}
5)12=x+4 6)5+x=9 ¥ =Hl ¥ =[]
i g 2
E=* A=l :
p=st4V  rpe=aY_
Tx—6=0 8)3x=2x+6 5)9x—8=8x 6)3xr—4=2x+1
6 -2 =24 —Pr -~ :__j)é -2
% = X X—&=>o iy it
9) 7x = 6x— 10 10) 7x+2=6 = L=
245 2% 2 —hx
=[=lo —XFa=0 ‘ .
A0) =6 (=)0 = e 7)Tx+5=6x-2 8) 10x—4=9x—5
~50 = —g0—t0 V" Y=F2) M_____ —g P
11) 6x— 4 = 5x 12)2%x+4=x+6 X+5 =2 T
—gX X == = ; -5 -5 \'L_H +4
X...L,L‘-:O Lt = _ N :F“l‘
4 T4 =4 =4 i X =
PN 2! X =E £
e -l A 9)2+5%=1+4% 10)3+ 7 =6x—7
___._-—-"——-_____-__‘
K~ = =3 X4 =% o S . s £
te +g +4 +4 24 =) ?'i')‘—"-'""']
X = o sy . =2l .._..3 =
15)3+6x=5+5x 16)4+10x=9x-8 %‘EI 3
—~X S:*L‘)( —aX_—9 ) x= Eol
34X - -
-;_3+ ~3 __,q'*x ,.ﬁ .
73 +5x+1=x+843% — X = 2] 11)4x—3+x=4+4x+5
be = ‘J-)(" = 4’)(’\"1\
6X+4 = 4xXté Xtg4 =g 3 .
4% =4k " 2 . (s (S
=t A= F] o *-3=19 )
18) 6x + 6 +2x=6x+ 12 +x ] 12
&4t 6 = '7,;21-;;./“ xté=1% * =[lz
- X ol :
X = 1= X =181 _
19) 3(7x+2) = 4(5x +1) + 14 Nrhe 1 12) 5x +9 +3x=9x + T2~ 5
2(x 46 = 29X +4 +HI% '.,éfw.-_g BX+9 = [6X-S
A A~ X <[ Lo 1
- XxE = 1# ~[Z] g =T
20) 6(6x— 1)~ 7(5x +2) =3
Hn—§ — 3K~14 =3 T S e
)(")'0 - = — 2".() = =
2 o b =it X:% e QFE

A =

25



A
13) 3/(zx -3)=1lx+4 [CH1.5] Multiplication/Division (Selve for x and Check)
,17(__(1 =HX1~‘+ [1] 1)4x=-1_2_‘ 2)9.1':12-
— X <K G 4 9 9
h g 7 X=[3] X=[#
1. T4 3)-3x=27 4) -9 =_g]
.......... TR RG] e e T ¢ 0 g i e s 4
x=[dl = [
14)3(8x+6)=5(5x—2) + 8 = If
24% 418 = %0 +E A e g Pa=c
_ -9 - T 3l "
24X 10 = 204-2 - C N
—ax 2 ~ =Fl X= Ef
Rt L |
& = X—2> , _7)§=6 8)—§-x=8
- F @)= £ (30=30)
15) 5(9x~ 9) — 4(11x~11) = 5 #/='T_ Y= 2.4 =]Z] Y= g»:gz@
45X - 45 ~44X +44 =T e 3
R AR V4™ 10)-5x=8
X ==E %N =42 S EH= (@
EDE! Xe 3___2),(._; = | X= A<
16)—9—x+5—.§x g 11) 5x +2x =28 - 12) 14x-6x =48
Lp - S0 [Ht B gt
= = | .
b(3- ;9 i) )~ | oz e ¥=187
\&(\2-)4) T 30 :/5(73(5-4& 6’(‘::?1,6 -FE  13)8x=2x+60 14)9x =72 — 3%
- ' 2L —2A {)(’60 F2K e
2 N X - _,_g\-..
Wletal,l EREAsd SEET g PR e
R 5 I3 T2
e 1) SR 15) 7x —dx + Sx =32 16) 9x + 3x = 6x — 36
4 G0 4&) “JH@ i ey )xt’l-.fﬁs‘)xsza - §X=32 i~ l;x:{x 34
2K %@;#{;ﬁﬂ@) T prin EFg = bi
ltrmq_— & =23X)+32 X= ‘?/‘7'3-@ 17) A number divided by 7 is equal to 5 % ~36
@)
18) Ex+l=—x 7 ‘L “ 6 éJ 'Q'X"i'r' L,S— _q,(.ﬁ)" -—1(5') 5@
3 il A=
)9 +6( 6@5)'{' @ QH' 18) Twice a number divided by 4 is 12
x+/6’(ﬁ,)’zgfcﬂx)+4{) X = 6 2K (3 v Lyemp - o/l
2.021911' = e-(’_"?>'«) +1 } x= 6 =(1l =l = =2
) th 1 A=l
19) 4 1ess than x is 12
® = [_Z] 19)3.2x=9.6
X—4= 12 3ar=94 _
_ii__i;'i_/ 22 S RE =[]
20) 2 more than 5 times a number is6 tlmes that same
Jumber 20) -3.5¢ = 10.5
5x +)_ =¢ X ~ —ISE=10.5 L =3
‘:__5% "S)( "30? :Z~ !
z2 =X

X =[2] 26



[CH 1.6] Combined Operations (Solve for x and Check)

27

2] Ees=ox 2 4= [ H2x+t1=7 2)2x+9=3
Pl y-[8 " * = e |
7 -9 %= F4] =¢ =4 =[] Cock = %-H
3)9x=-72- 4)-10x=-170 3)2-4x=14 4)6-Tx=-15
-9 -1 —jo —loO - -2 -6 =L
X = =[] T gr=2g A=l 5 =T = -2
X Cx _ T D A= ,-72311"'"
5) = =3 6)~— =
3 3 >
3/ AN=3(3), —3({—AN. —3(2 5) 5x =24 - X 2 6)Tx+4=2x+24 __
(3)#-:@%) ( 3> = (] s ?-}Z/t & SX =%
. 7 6X=24 X4 X - ]
7 g¥==28 B-gx=-1s _ s
x e . T T%-3=0x+1 8) 2x+ 5= dx-2 |
£(29-4(® %C £9= £ f%‘? xajomg o5 maga
- > 22 = s=2%-2-
he T 22k X= 4] 5 Mo wios S w7
9) 8x— 2x =60 10) 9x +3x =72 9) 3(2x+4) 4x+6 ; = =
sstqn=l  10)2(3x — 5)=9x+5
f=bo g rali] MEE | l=——4x+é s, A e
x =] - K==t _@ o= K4S | X~
11) 5x =28 -2x 12) 14x = 6x + 48 11 6= 6x — =
LERS oo 1§)'i€ Y }0)()—'255::66146)( 4 12) 2(4x +6)= lOXg6
k=28 Je 7E—'H Tm\ =l -{ =t [ X=$ K > o=
“‘2;':— 12 XE f:L“‘ W"g bxm
13) 9x + 3x— 6x =36 14y Tx—4x=5x+32 :
(A1) x=3¢ A =EX22 '9'2’*
: - 34 —3% = 13)2x 3+5x 4+4x+1
He-323 = HH] 4% "~y —--———-—~*3 B!
15)3.7x + 5.4x =—18.2 16) 12.4x — 6.2x =-24.8 S 3= 3) >('3
(3.)r5a) p="1€2 5‘27(;’:%5
9.1 x= 2 X=2hd_ 14) 6x+6 —dx=12+Tx-21 | .
N 6.2 _ _ S‘X’_q )(z_l_,g__:@
X= M2 - 2t = -9 |+ 5
3 o S S X =I5
17) Twice a number is 34 18) — of a number is 6 6 =5¥9
_____._Z)ﬁfzf,t — '_ﬂ] : _2__,_,( =t | 15).6Qx=1)=5x= x+24 16) 2x43(3x=A) =6x=9
J2x —§ S k= 24 2K tGr-A2=65
B ] 1 (%x)s%@,) Db S redo NP6
= et S - — X
19) 3 times a number, divided by4 is 33 =121, Et—6 = 1%2!- Xs—%— %T—?IZ—T:,“‘*
,3)( _ . ~+6 _ tir tiz
3 ) A=) -] | Lo 53
17) gx—3=§x+5 18)5.2x—7=22x+8
20) Twice a number divided by 7 is 10 _ 3y e -—z,?.:)t—q-‘lj«x?
_,_,-_,10 y 2X=70 )(—l—-—j- =y 3 ~
. 4x3=5 (K1 =l =

. -4 £

Ll
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[CH 1.7] Solve Literal Equations and Applications{Formula)

1) 6x+20 = —4. 2)7—3r=-8 ~ 111 1) V=Bh (forh) DE=Rford
e i
6K ==24 ;)(:"'{,;@ 3):(:__5 . ,E/B_ O O ‘“ié?i =S
. ey | I i
3)—";4‘;_3(} 4) _x—_i,_'_l\l' 3) V =nrh (for h) 4) A+B+C =180 (for A)
‘ ' = 3=V, =gy
—¢ x=4 dr=n AT Y Ate t
%V( B@ﬁ Y= -ECL:HE *:;C:;r 7’(:/77 h ”75,2_ — ~C —B
$)ax=12-x By Sr=dx 24 T?i/_m’a
RPN, ) PR —% 4% R !
gi=)2; x:.‘f:“--;@ 48 = 2% ) ;("2-‘*{ A :
<t 5) ax + b= 0(for a) 6) X=2a+5b (for 2)
T 5x+3=2x—3 8)2x +21 = 6x— ax+4b=23 '
lf{ 5% 3&=_=5 o ~—x)( ? x=3‘,_;": Xib —b 2045h =A
TaAX3=-3 = £ = G i i - Wi
'})\"\'3 3 IS -—5-'@ —‘r ""1#' S ](zm %: ——_L. A= % %—.—,Xﬂ
) sx-s—zr T T0) 77=37= SFIFFT3 X R @]
=6 -lr=gntyp .
_ )(:_Q :@ % 7) 2x +y =6 (for x) 8) P=2L +2W (for W)
1) E(3r+2)—10x~12x 2 y T ol e T =Y = o= '
= — 2= 1¢ —20=CH = :
2L.Lx+]lqéx+il'2< ll?‘jx— S e —Zf— 6;/ —2 —2L
e - 59 Gl 2W =Pl
12) 6x + 2(3x + 5)=8x + 13 S ; X= 5.2{ . 2 5
R r‘*x‘““’"’; P ARe3 | e
xtio=pxtiz.t X = - o a+
_ _,_,@_‘____"_3.__..- ] 10)X = (for a)
13) %x+6=12—gx 28 =4 9) Y=2X ~3Z (for X)
: ' —_—R 1h —
L 5 g £ =
IEX =T —cE s 2(atky=20¢)
gx=T6 M = ¥tz };L*‘}-’)C
14)‘73?&% ‘;\Ec+20 = & X= J13Z| d‘—b R
artq =20 74 FE\ i & =341L)

15) 5 less than 3 times a number i§ 22

E;rzz:z-sf

5 +5
16 10 more than twice a number is 46
| > ”“3‘
-0 -{o X'—‘% =
17) 3 less than three—fourths of a number is 33.
3 x»ad

1
12) A= ——(B+b)forB

oF CB+@-—A( >

11)C=§(F—32)forF

F(F32=C

FF~5(3)=C b 2
_'::_F - Ié" = C @nz AN

’a}'F C'H }F‘“’ -Q-CC'H‘)-?C_‘.Iéo

FEE S e

18) 5 times a number is 12 less than that numm
7 /:;Z']jo 2.

q_)( -.—2

13)A= P+Prt(furt) S~
Efmﬁh ‘ T)EC%L’C",‘HF‘%C-FEZ,I
f=A-p = ('fr_
v =A- U)GHBD CeC 2 04
28%?. P B-8=c? fm



[2] ‘ L1 22 '
1) P =48 (for S) 2) I = Prt (for t) 1) Fin \gxﬁhur consecutwe add mtegers whose sum is

_ 12, 13 1 GrCaOda e =12
fics: perz | R M
‘ = = s e w1 %@ﬂ 2431/
' ] _2)_f‘1nncutzvc iitegers such that the sum of the
3) V = LWH (for W) 4y V-E+F =2 (for V). first and the third is 40. w=3d
£ e af-r 4E- Fvst P, () =40 -
LwH =V JE-EJET Secod - al (’9*#11% ’=3
L-H L . === ‘@# 20,2

— 3) Find the 4 consecutive integers such that the sum of the
. second and fourth is 132. -4 4_
() + C43) =132

v b G 65,6 ¢
5) Y = mx + b (for x) 6) a= 3b — 4¢ (for b) e - ?XQ-;(Hf ; 2!;;2/ \:ﬂ

mx b ’—'lj 3b Y e -'_.ﬁ;_(_ 4) Find the three consecutive integers such that the sum of

___’:_b—.]-—— . 2 : the ﬂrst 2 integers is 24 more than the third integers.
- my =Y-b 2R e T Q4G = (a2 x=26
Exﬂ g—f—E , = AT4C XIS 2;<~'-H _§+2£ Y=
_ s Y =
_ 5) Find the 3 consecutive odd integers such that the sum of
7) 3x + 4y = 12 (for y) 8) ax + by = c (for x) the first and second is 27 less than 3 times the third.

~ 3 = - ~
A by by @; X1 A 4)= 3(xf4

4Y=-3ctle - V242 =3H-2) =, 19
7 Gt = Y ot =

s

Ca | L2
{‘ A & 6) Find the 3 consecutive even integers such that the sum
I )( =2 C"faz ( ~ of the smallest and twice the second is 20 more than the
2N third?
- g _ ‘ffm e X+2C7<+25=0(f€‘f'102;( |
9)V=—— (forK) 10)D = (for C) 2 i X+ 22x4+4= X+2¢ =2
p n ELEAY 2x+4=X129 & OI )
’K’[‘ = v C:‘s' _ D 7) Find the three consecutive even integers such that the
F ) - sum of the first two integers minus the third integer is 4.
= pv _g X : =
f m(Sy=nld) | B2 A~ O =4
Péég);? v o | =) A___..- X2 X4 ”_f/ XB=E ‘
E,_r, P op C"S""";"I_DS: 34 | X-x=4 X =g)g/o,
T = npT 8) Find two consecutive integers such that twice the first -
e integer minus the second integer is 8.
11) A =P + Prt (for 1) 12) S = 2ar* —2nrh (for h) =(x o %
(¢ +D =
= " ALY + ¥
¥ "t‘?‘r"l’,_ﬂ _z,ur_..m _% i 4 \/' X J
s 'zm ar X = X=@p
'y i 5 | 9) Find the three consecutive integers such that the sum of
Ffrt ? \;:’ ‘fﬂ'l\ 2/ the first two integers is equal to 4 times the third.
= 2l -2 = .
E=aL ,m'i Lo | TRLE X ] (91 0= 4 L,
2™ =& | ] 2 X1 ) =4KFE —§ -
1 - +2Kz)"" RLEE T S i - A —-—-—-—-—lx_‘_‘]
13)A= by h (B +b) (for b) = 2AF 10) Find the 3 consecutive even integers such that the sum |7~ -

of the first two integers is equal to three times the third.

Lhesth =A
’ = g | E% X 0442 = 2049)
+h=2 | (%
2{ Lheeth)=2p . _’i o 3T K A= }2;§+JL B
M:l. A LI I VL,:_,..W....._,...-»- o5 ) 2= Xt X=€1D)
h b [ = 2,A ""B) =15, =¢, =% 5‘




[CH 1.6.4.2] World Problems (Relation and Total
1) The larger of two numbers is twice the smaller, If the
sum of the two numbers is 96, find the numbers,

Wt@EX) = 94
3% = 94
X =6 =12); 24 =[f4]

2) One number is 5 times another. If their difference is 96,
find the numbers.

e, XA
2 © 4X =9¢

3) A number is one~half of another number. Find the
numbers if their difference is 28.

IWF'HEI X___‘ ' X—}L_)(':Z}
B Atlth— -.:—_x ) {X =28
. - Ly = 2(2)
0["&‘@(%& 2_%._ at '.X)'-—-'@,‘ 3{-_ X —:.

2 .
4) A number is 5 of another number. The sum of the two

numbers is 50. Find the numbers.

T O S
7 ESR )@ $xt% =50 7‘:/%‘% =
| Sem 20| 2% =50 =310 <f5g

2 1) =
5) Herbert is 5 times as old as Mike. I£ the sumof it > = 29
ages is 18 years, find the age of each boy-

e

Mike  am MtSM=|&
Horbort | M M =1e
sum._| 18 M=IE=[3]; sM=[i]

6) Bob and Dan earned a total of $24 shoveling snow. If .
‘Bob earned 3 times as much as Dan, how much did each

boy eam?
Dom | D+2D=24
Bob | 3D 4D =24
Tl D=2t f¢]) 3p=[¢]

7) Lily spcntjaﬁ_'_f:'-iineﬁ-,a.s much as her sister Sue. If the girls
spent $24, liow much did each girl spend?

T3 x4 35=2
) R
X=5 ) ) k=304

8) Carl and Richard earned $10.50 delivering packages. If
they agreed that Carl should get 1.5 times as much as
Richard gets, how much did each boy receive?

R+ SR =(0.£D

2.5=/(0.CD
ﬁZIG’C:{ér

L 2t
»

£ b

T
C=(13)(42)=]6.3}

9) A house'and a lot are worth $30,000. If the house s
worth - 5-timess as much as the lot find how mucli each is

. e T R L
Huwse | 1 § L.=239, ovo: _
790l [30,0m L-’-_E.Ziﬂqubﬂﬂxpu

10) The larger of two numbers is 5 more‘than the smaller,
The smaller number plus twice the larger equals 100. Find
the numbers,

X+ 205y =/00 .
$X e =loD %_?
. ‘ﬂn e x“
D e D

11) One number is 2 smaller than another. If 4 times the
larger is subtracted from 5 times the smaller, the result is

10. Find the numbers.
SComallor) = lrgar) =
5O — 400 =19
SX—Io —~4X=]06
— |8 =[|D
A : u—‘-H 0 . K-2= 202
12) A coat costs $15 more than a dress. Two coats and 4
dresses cost $150. Fil}(_j the cost of each.

ess 1A | Aoots )+ 4(drges)=iso
/(/L‘Et/J At 5T d+415) T4 (4):;;7);
2 PoB T ool 230 tad 2isy
¢ dress 1 gAt3e=I5D 84 =hy

13) Sam is 4 years older than Catherine. If 4 times

Catherine’s age is 32 years. Find the age of each. & f:’ T
[Cothorma| ] (=32
SEM, ci4

F(cahorind)| 33 Som = pg=[]2]

14) Mr. Powers travels 12 miles less each day in going to
and from his job than Mr. Clay does. The difference
between the distance Mr. Clay travels in 6 days and the
distance that Mr. Powers travels in 5 days is 96 miles. How
far does each one travel each day?

6¢ c/«\j)’(()p”m) =94

ol -
powers |- £ () —sGi2)=H
1| 96| soreacd Hem=a6
JCPW ' 6c+ —5¢C "\'éo:?é
C t6o=94
—50__—éo

c. =34
P= 3¢-n=la4]



| 'mee e ”ﬂ

[CH 1.6.4.3] Simple Percent Problems
1 1 Wh:it’is/Z_D% of 707

P G ¥ = I‘?D) 1) 20 is \:h/atpcrcent of 507
AT 70 ) -
T O O
2)51 15 what percent of 207 - ! x= 203 fﬂ"’/ g.s- j /
%}% v 30 7‘- ’(90 ) 2) What number is 200% of 127
%ﬂ' = S_Erﬁ / Brase”
3) 30% of what number is 127 - __?___., % foo X7 200+ [2-
1= ] oy
) ' i . ) ¥ = S 2 -"—-2-“[?:‘:@
s ) )7‘-’7(”;2 ﬁ‘! 75
~ - ) o ;\_O ‘
X 227 & ~ M 3) 16 is 20% of what number?
4H15 is}[)%; of what number? 94‘3 ,,,,, l{ ; %%g 14 (60
2 éf‘% . 30Xz I1S+/0D 7 TR X= (6 16 _ )62 —}@
- 3; . 4) 90 is what percent of 1807
S).lof)il‘wh)peroe‘mofﬁo? l l ' r‘%é 3 o " I?OX ?0 | 60
7 o0 o = Joo -f O =0 = }
7o 3 BP7 K= 0007 =720 5
x= lmotod o0 foly ! |
21y ' :
6) What number s 25 % of 407 5) What number is 40% of 2007
s . =@ _t’ v
20.20% o JooX :@59 (_25) o T . wOXT §o)(200)
TP7% Ty de2E . jove i o e Sy L
- 71 B H-FE_E' = '—7-?%—

6) 30% of what number is 607

7) 40% of what number is 207? : =5
. £2 4 20X = @" l‘“’)
- ““:x%‘f’\ \ ¢ ox=@a(®) %\J §¢ 190 foo ﬁ
X= ’-..‘3'—"_};-?“’5 7;5[':9 -;EJ 0] What percent of 60 is 207 o —
7 \,;—~ 60 X = Q‘”)CI (ﬂ{)

8) What percent of 20 is 57
N = 20168 = 209 - |

N =
2 o 2ex A=)y Bt 7
X __.__ﬂié: 1% - Z; B) 15% of 500 is what number?

: " Fsﬁ
o D\ (rox= 1557 xl’ijer ]

05 =%wo

=0

-

9) What is the p(‘.l'CbI'lt increase from 20 to 602 A
; (st

9) How much did thé percent increase from 100 t0 2007

,M\Cms{ F .
s : ; L st ‘——V 2""):1:]
= 40=20 1o e ,.- _ Y — (st : Py
$=20 yioo = doyen = 2XM00 22 %] | 77 o

...... 10) How .much did tln. percent decrease from 200*“()511130‘?'-”;-2""4;# N T 2-_0'9}2;_13? 20 S .Ir';%;( o = /oﬂ% T

dacim = ge“""_jj{_ _? i X [eD ' 10) What is the percent decrease from 200 to 100? e

_  iw—aem _ s = VPN T iy

= _,———2;6—4)(/0-0 = "é:?oX/n = '—ZL_K{u'o z . _.—-—-I?{_-;“_j'—'“ | o

-
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[CH 1.6.4.4] Simple Percent Word Prublems —JL“"I'(TH-’_IA.’?—ZI Geometry Word Problems
(11 i
1) A team won .of its games. If it won 68 games, how , 1) The length of a rectangle is 12. What is the width if the
many games did it play? perimeter is 367
o =g B =Gl 86X =650 "“ém Ps 20+ 2w 2=z
—Too = E ﬂz]
------- Q}Ateamwon@ofltsgmncs If it lost- 10. games, how. . — 36 2_((1)+2.U .. w T e e E A RV S i 2

many games did it pla¥? \i.c\_ 20¥ szDX! E) 36=284+20
[0, 4 » -nx‘ «t 030 2) The length of a rectangle is three more than the width. If
2 L'-ETEZ]EJ . the perimeter is 50, what are the length and width?
3)Ona math test, Paul answered 18 problems ccrrectlL = (P43 Oy = :
and scoredd)DHow many problems were on the test? L + 50 @i&i"‘"‘é 2l

-9 P=2.042w = i ={]]
fl"{)"ﬁ---\:";%j v fox = (1m)(I8),) 60X fi” ) X= —3-.5,@ 44 ‘g

. =131 Pratwraddaw’ L=wt3= (1+3=
o 3) The perimeter of a square is 64. What is the length of a
4) On a math test, Paul answered 12 problems incorrectly side of the square?
... - andscored §0% How many prob(lplgs were on the test? P=ls
T Loy osrrect | 4oy =200
4 -_— . -
m)/ < 40% incorrect ) = [z0] cH=ts; s=lig)
5) In a class of 40 students, 10 students received a grade of 4) The length of a rectangle is 3 less than the width. If the
B. \.What pércant]of the class received a grade of B? perimeter is 50, what are the length and the width?
W ox o X= 122 = p8) - L)
‘fo = Imo C P= 2242w 56=4W; 44 = = 5£
+ 6) In a class of 50 students, 10 students received a grade of §50=2(W-3042Ww = 6 z-
A Whm‘p’src tof the class received other than a grade of 5) The width of a rectangle is six less than the length
A ,% —,% sox =)o) What are the length and the width if the perimeter is 407
le B 4 ' = -
g ot X<t - [gol 72 F‘” V»"?;} 40220 48412
7) Peter’s weekly gross pay for his job is $200 but 20% of :2‘1 12 1,- a0 ] wW=g-6= [3'—{“:@1
his check is withheld, How much is withheld? F ﬂ-&j{,ﬁ-@}
6) The area of a triangle is 24 square inches and the base is
%)
% P toﬁ;ﬁi (j;;)gziw ,W . SAmcilzsLWhat is the helght of the tnangle?
8) 54 out of 216 applicants passed their exams. What h j’ *;—Dz_fi
percent of the applicants passed? What percent did not = /ﬂ(%)( h) @
o P e X aex=T00  Julid pasc=
PMﬁ m{, TieD) j A6X= pase= 7) The second side of a triangle is 8 inches less than the
_ K= ( IS | 95%‘15% ~ first side. The third side is 14 inches more than the first
T 9) Bryan, salesman, made a 9% commission on-all items -side. The perimeter is 63 inches. Find the three sides.
he sells. One week he made $720. What were his gross s Al |
sales for the week? “'Qfé“l X'l'()&*&)-fﬁ(ﬂ‘-t):ég

—J2000 X={§, 009 1o 1 3XA6=6 =57;X=\q)
/ctx ’72: [ $3da 14 + 3 3%=5T;\X=)

-2 G
10) Audrey w1ll receivé a 10% raise in her salary. Her 8) The lengths of the sides of a%‘umg]e are 1eﬁteﬂtntcd by
present salary is $60,000. What will her new salary be? . 3~consecutive even integers. If the perimeter is 96 feet,
find the 1 f its sides.
m‘ggloc%ﬂai ﬁ oy lOOX < Ga,éoq oo ; 12{ eei er;(gth of its sides _ac
= {10 ! =
10 x=(66,568, | wezion Eep=le @
I'1) The Paul’s monthly salary increased from $2000 to - sides: 4 - I%+e=9e__@m » 7= 32
,)_.,.ﬂ?’ $3000 What was the percent inerease of his salary'? {gf # 3)(:‘:‘0’ X= 30 | Xt¥= @@

9) The perimeter of a triangle is 40”. The second side is 1

51
24t~ Py = X }'0'0 = 3m am" lvo more than twice the first side, and.the third'side is 2” less

—
—

| = Jgis ww -—@ than the 2™ side. Find the length of each side.
]2) Thc daily sale of Victor's Store decreased from $4,000 Side §: % '
2 < _
zel 1083000 T oy ohg e peroent decposss? SR sde2; 2w %@t LoeD-2]=40
Egcc:# = W}(m ____mx(m: ;ndeg,; &A1) 2 3 X4 +Hzx ] 0

—75x 4o;[x= 8

- - ,L.»x o0 —- | - m
©Copyri ason Kim
‘ | pyright 2012 Jason K _ g / = 32 | | Qx.H.(q j @ ” [ =
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E&?‘; - Timy = D,f'l"'am

[CH 1.7-3] Motion Problems
1) A truck is traveling 60 mph and a van
s station at the same time and drove in

traveling 40 mph

8) At 2 P.M. two planes started flying towards each other
from airports which were 1,701 miles apart at average

rates of 245 and 312 mph. At what time were the Plal‘-?i 30, du
l—;:l,i‘:’/'

a=[10

left the same ga
opposite directions. In how many hours were the vah&:les still 30 rrl_uilgs a&art? | TdoAt3 ﬂ} } }
600, miles apart? Lrw—L\,—_-ij T X1 31130 =10 170
T R 14 T ==k 2 zzglls .t;_ m;}qx'r.%o-“-mal r' 2pM4 2hrg
VL = T ES 6OR| 21 | box r4oxmbao .. | ) 119;1'&13_ } 5""7);(“;,}521]’ 50 =) =—
v g 40| X\ 437 da [6pX = 6oD 9) A taxicab 1 4eing 59 mph and a s éavgling 44 mph
650 3
L T AT' x=_§%—:. m his leave the same station at the same time and drive in the
2) Two boats departed from the harbor at the same time. same direction, In how many hours will they be 135 miles T
One sailed east at the rate of 50 mph; the other sailed west apax.'t‘? ™ M—J X= }3}'/*;—"
at the rate of 90 mph. In how many hours we 260 4, 71 ; : \d ,
miles apart? > LE “dy =
2y ReT=D_ “soxffk=llo “~—| B\FH 2 F de [di=b e
£ )Em > ‘?;.; d "I |40x=)2é0 T [33] Sl ‘=J35'
= ] ‘
_ v ul 9o (X z x= | o:mh 10) At 8:00 A.M. two battleships started from the same
el r.'aull _,.L&D, T (4 ks naval base and traveled north. One ship averaged 34 mph,
3) Two planes are 1,100 miles apart. At 7 A.M. they start and the other ship averaged 21 mph. At what time were the
traveling toward each other at average rates of 140 and 13 gr ’ battleships 1904 mjlis apart'L’ 1% =
i i 5 1goX. 1 o1 = -
Tph;_i-\t hat t:!mc will they pass each other? %:f——f , Y —3—4‘)(;" a(:_l::'f ( y X =04 A}_@
T\ | [TiFd. = — =T BEHXTER] daoh) samtehes <[EpH
3T |2 :qwx+13$}< =fleo > gpmrshes | o4 3ax —2px = (04
'm d'r z?‘;?();fff 1o fong = Eﬁrs = 11) Mr. Jim left his workplace and drove west at the rate of
4) Orangetown and Appletown are 512 miles apart, A car 20 mph. One hour later, Mr. Kim left the same building at -
traveled from Applctown towards Orangetown at the rate of 56 the rate of 25 mph, also traveling east. many hour I
mph. Another car from Orangetown towards Appletown at the did Mr. Kim overtake Mr. Jim? H'/;
_ __ rate of 72 mph. How many miles did each travel before they meet? 5 , T =P 20X H)= 25X 1T de
R =8 LA Oy (e
0 |56 L ) 5‘6x-+q—;x;§a . R ook ) xeaa
by = N[ ld SR 5
i 1 % 'I:‘?x;;_ D;.-»oﬁfﬂ(‘*): LE—_MH z0=%X
Atedl Y 0\1— IS s = E{us o—2A= ?1(4_).’—@ 12) Susan left her home at 7 A.M., driving her car at the
LB Late of 30 mph. At 9 A.M. her sister Marion drove after her

5) A businessman made a trip of 490 miles by car and train>'>]
He traveled S hours by car and 2 hours by train. If the train

averaged 35 mph more than the car d the rate of each,
L ’ |‘f' 2= !,.._-% (’——WU
u.,_/-'—"-(""_"‘—/
sx A2{xt35) =410 Y4490
sxt2x 470 =49 ("%'fﬁf
7t 0= 498 i e

ax = 490 =70 =420 iz
6) A motorcyclist made a trip of 380 miles in 5 hours.
Before noon he averaged 82 mph, and in the afternoon he

averagt‘:d 52 mph: At what time did he begin hi;zt;ip 3%9(;’%
g wh_?_n gldgxe end it? l___.-p._..-—-’-

5
= E(’ﬁ-

along the same highway, traveling at the rat
how many_ho};:s did Marion pass Susan?

e ofis mph. In
:“7_’]

'il l 4) = fs;‘%ﬂl
12 =45%
- %:(}{»i-é 8 '/"E-Sx f’:'/*s- 7

5 = !w
o) 13) Mr. Lee spent 6 hours on a trip ogt into the country and back.

i) He walked out at the rate of 4 mph and walked back at the rate of
2 mph. How far out into the country did he go? [

J| =

d

/_""v

1 I ar =
&;:Z; [ ﬁdl ar = 28\ bistmmes =4
. 1 4} "_#"‘)’-—.2‘ 4]-{3)93 -flu‘
s X =T

“ | 1 2
Y4 =)= 3 —1— e St
l:. 9234: 5;552)@( i% 30;(35‘?2-0 14) Ronald drove away from home in a car at the rate of 28
1 3;.;;*32.3-:0'!'260 oy | K=120 /30 =4Hr mph. He walked back at the rate of 4 mph. The round trip d

i 20w 1260 =340 before Neon =) required 4 hours. How far did Ronald ride? ,%5-8

; z0) = 3Fp ~260 oty 5 ,__L__I (
7 Two cars s'tartec_l at the same time from two Test stops L. (s-ijhv o fwu{ 200 A 28X d | )) i ‘}C@ 3 z:‘./(
which are 1550 miles apart and drove toward each other.  mmils WF_/};_ | 4X| 4(4-X 6(2. 2 = J»x'— =
One car drove at 330 mph, and the other at 370 mph. In -\ 4| 2P = [6—4% Distance, =
P_hOW Tilim}’ hours are the cars still 150 miles apar‘t?d1 150 dv 15) A round trip in a helicopter lasted 3 hours. If the  2§X= 29(3
il ‘1_{2___1 +dat 0= I'C.:)Ly-'—-/ig helicopter flew away from the airport at 100 mph and = _(E
W | 330X |4y 230x 42004 150 =0 1530 returned at the rate of 50 mph, what was its greatest "

o Ay w4 15 =570 distance from the airport? = L 5‘1;__’
[cO 200% = [S50=5D =|400 — prstant
S Y =20\ dm
jss0 01 K= 140 =[2] hvs = 15D — =[oo(]
©Copyright 2012 Jason Kim 7 3 0% 90X ) e
=tD =4

(3% =P (il
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Pﬂz_il:i-;tow n_;éi%ouﬁds of each type should he use?
b6 A bt o900l ge) | 2XH3rio;
9ot 9o | 40X s X 4360 —Goy= m(: g/:m
FX'%X‘{‘B(:UU:;M X=dou
l(:‘:‘?_:)m__.j_&:i 3 é — 25K 4 3foo= 20m .

[

-

7) A baker has cookies worth $.95 per pound and cookies

1) A dealer wishes to mix coffee worth 65 cents per pound
with coffee worth 90 cents per pound in order to produce
40 pounds of coffee which can be sold at 75 cents per

X Faey -3¢
2) How many pounds of candy worth 70 cents per pound

~ must be mixed with 30 pounds of candy worth 90 cents-per

i

worth $1.70 per pound. How many pounds of each kind
must he use to produce a 45 pound mixture to sell for
$1.25 per pound?

4%t 170(85K) = 120(49)
UK+ 7450 ~Inox-= 545"
QEA—~[o% = £C25 45D
—05 X = 24 2"

=202 [, g2
--:-"@Iq ?

. _ @) =
8) A florist sold roses at $3.50 per dozen and carnations at

(ird)
pound to produce a mixture which can be sold for 85 cents $2.50 per dozen. In all he sold 14 dozen, and his total _
per pound? e receipts - were $43. How many dozen of each kind of flower

# i s B o 70)(_(_%(39_#(3 +X) x:l'ﬂ%g did he sell?
Tot-| 72 ‘ - ¢ 0 - F250 =
o«’ % 76X+ 250 = 262 +9TX .a—l = o% 350 + 2 (ML—‘X) 4300
) s g Rus¢| 350 E Ik + 3500 -80X=4300
e e[t )| srnor= sgm—ury cor-|e T 14| 2500 50 g £ — 257
G ISX =D matio| 5B | L 4300 i X
3) A grocer mixed nuts worth 80 cents per pound with nuts ‘{-TBQ. : : i ﬁ: ';UJ;U‘O Z
worth 50 cents per pound. How many pounds of each did A T —.:.@ {3 ; 142 =D§
he use to make a mixture of 30 pounds to sell at 75 cents s : . - Org) CGn &
per pound? . 9) One evening 478 tickets were sold at the local movie.
- 4 = v The charges for admission were $.85 for adults and $.50
§oX450(0-075) o)
; : _ for children. The total réceipts for the performance were
2“4 ol X Fok &K 1570 -S0h= 2260 8 $375.50. How many adults and how many children
941 50| 30X | 5B3+%) &Y Aol = 28p-1500 attended '
Lo = 0d) attended?
qrrfure 5 26% = 1760
(5% T 30 Q)09 X=153 /320 .-;iz_g-z Eg}(&o@ St So (4’)9’“‘)‘) =323 v
2)7151" almonds cslell: at $1.20 per pc:iundfand Irvalnutsl; sell fgr F5K + 2390 50X = 27631
.75 per pound, how many pounds of each must be used to _ ‘ = -3
make 45 pounds of a mixture to sell at $1.00 per pound? &K —fbx. ?qg 2
o £ 154D ) b
K= 150 _J355] 5 -390
120X + 3305t X= 450D EIS

2o X —05X=4500 337"

45X =]|28"
*= HLVM'T-@ ) 45795 =20

5) A seedman has seeds worth $.70 per pound and seeds (1%
worth §$.90 per pound. How many pounds of each must he
use to make 300 pounds worth $.75 per pound?
wh [ [ X [ 70X | 7ox+e(sm)=156v)
asf| 90 30K | 9oGmR) 70X F M- Gox=28w0
1 70X — I = 224T0- 29000
wdure] 281370 | (70w — 20y = — 45 300-225"
A= "q‘m/..lq = 1B, = LBS

6) A dealer wishes to produce 300 gallons of oil?:-.?gnh 40, *Y
cents a quart by mixing oil worth 36 cents a quart with oil
worth 52 cents a quart. How many quarts of each kind of

oil should he use?

%K+ (800 -0 = (2000

' (ert)  ~FE]
10) How many pounds of 65-cent coffee must be mixe 3] ¢)
with 10 pounds of 90-cent coffee to make a mixture worth

70 cents a pound?
bt ' 65¥ 65X+ 7e(10-9)=70(10)
: S +9v0—Gyt =
b go[12% | 92000 | sszx A d =g
g 2o e L2000 3 ook~ Zan,
X= :_;-—E = . i ; fo-
11) How many pounds of tear worth $1.80 a pound mnstr ) @ﬂ@

be mixed with 15 pounds of tear worth $1.10 a pound to
produce a mixture worth $1.50 a pound?

Tigax | Woxellols)=
No(rs) | )J8ort1b0= 150K 4 280

%% 52 = Jrore —/5{op BO(KHS]  1gox—isor= 2350 -Htv
- 5 6X = HOD
—/6X=—3(ev g );; ;6‘0
)<" _"36‘0_“ 2 ) 36‘0‘-1'3—5‘ /‘3"8 =
23 5] 34
© ey CEElEy ()



(CH1.8] Solve the Inequalities and Graph

[1] Solve the inequalities and graph the solution on the

number line

1) x—5<2 2)-3x <12
A =
BT Fz#]
0123y ¥ ,;'{"'_34-40
3)6x+2>x—8 4)5x+7>13+11x
X =X = »
X127 ¢ Ak

SX )—ng_ y K2 -2

-4 '; R

-

=2

ég‘_ciw@_

-4 32-lo

B}

5)2x— 9> 3(x—2)
2%~47 X~ &

—2L —2 7
—av X4
+¢ tg

]’T:WH f 2&[(\.‘& <—3r‘l

D T

6) 4(6 —2x) <5x -2

X D=3+ ST

A~ £~
,_x,,,_,,_q
11 'HL
-R £

isxil

5 43240

24 —&¥ NS 2

8) 6(3.— 4x) + 12> 10x —2(5 - 3x)

g — 2kt 2 foX—1o+6XK go . 70X

30-29X 2 J6X -0
f24% 24K

Jo 2z 4qex ;10
Yo Z he

40 Z 4ok

= @
[T2X~¥4[

2]
Dx+3>-4

_/3 A
[~ 2 53?"%

o
e

6 Sy g0

,r{ =)
3)7x—-3<18 4) 4x+28>T+X
__._ii——i — ¥
IXf247
. L2 o e
7 3% > -2
X3 — =
o . 23%5 s -
4-5-43 40
5)(2)}:+7?_3+8x 6)3x—11>5(x—1)
/} =3
—-u7zx
LLX +4 1’—';

@@

e

s
T =6 72k

W

=
"“—11-4‘3-2-10.‘.\.

T 3x—6<32— x)

6L §3K

3% +3%
6L (
“+4& —P(

TE 2l gl

'2" 1

-

= -=--lo :a-.]

--na

9) 6(2x — 5) +29>3x-T7(11- ~ax)
1zx-30 429 5 W 0+ 28X
2X - 7 31)(-11'1

— 2R

=1 } m(

8)4x-2(3-x)<12
br-dtak 12
£
A E :g( E

9)5(3—2x)+25>4x.—6(10f3x)
15 — XA Y 4A—foHEX
4o —~1oXk 7 22X—(o
fro ) Af1e X
Lo 7 32X 40
A 60 t40
(oo 7 F2x
gep < (00
ST
-'I'{’O_ (f, 1r
X< S yd
X < >

X<

10) 7(2 — 5x) +27 > 18x — 3(8 ~ 4x)
I 35X 420> 18X — 2¢ FI2K
Y| —=35A D> 3oY—2¢

+3icA  13WA

gy > b5k 2%

=l Y 124

TR 7% :_’_t_%H
L T P =3

L > X~ X<
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ICH 3.1] The Graph of a Linear Equation

IR!.S-&

Graph the Following

D2x+3y=6

Ruml

- -ﬂzx ﬂ,’ Rum3
_L 3 |l rse =2
| I

)’— ‘lx+1

X +[Frlurapt]

T)-2x +3y=6
4% 2K

3yr-1x+£.
3y =20+

—_—it s T

3 2 3

2)2x-3y=6
- 2% —2X
—3Y = - 2x+{
' ’3}’1 —J.)C-f'é
=5 =3 3

= 5X+-2

3) =ix+2
T

4hy=-4
Sart feom
Y=—4
§tay congtont
/._. _..

§fc\7f coms Tond
-3

(2,3

B

6)y= g)(+2 1

hﬁ?ﬁf¥f€%n ;

Rwm 4 kise 3

12) The vertical line passing through the point (5, —2).
Y A :

123 4 |5

e

__,l._

27--7F (59

-




e, J"“ = Yo Xy (, mb = Y- wtorapt
[CH 3.2] The Slope of a Line (B] Find the slope and y—intercept from the standard

[A] Find the slope of the line that passes through each equation.

given palr of points. ?7 _ -2X Té
% Y2 _ 4D _ 4+L&) o = D2x+3y=6 - 33
1) (-5 —3) and (-9, 4) == ~H65) = x| X
.................................. ‘q.‘ .....A..gj.?_'Lx.fé_...__).r_ XTZ.
= 3 :"3 -
3 =2 B3 -
== . 2)2x -3y =6 —3y= 7 —apH{
2) O, 15)and(6,3) __—_3353_\/:5)(_._:“ = T 3 -
B ST AP R L g = W:/Z’T] Y-orter agf
: 3)-2x -3y =6 ‘Tﬁ
A Y A I'z.. -3 /LX—\—-( 4lope = 3
3) (<2, ~11) and (-7, ~11 R > S .. 3 =2
)2, -11) and 7, -11) oAt =3 71«%1‘
,,,-ku) A0 : D”’"J’l] ==
Rk e [Zoro sope) R §)= B+ iU "c»}f
..-——x s — b
4) (14, 19) and (14, -21) —3—;2';'?‘+,g, = =€ =% W J
Ay . 7 7 2
: - 2xt-3 SfF]

=—2-19 _ —40 _ - -,
meBh ekl | TR gy e 1
] _Nb SlopE T fy==2xte € € ¢ = é

5) (-3, 2) and (4,-3)
Ay ‘h 7()_'\,2 / ..3—)(-1'} =
M= = = | 6)—3x +2y =18 '
4 x| ] _ szx ﬂK Slopr =2

6) (8. 1) and (8, 6) T 2y- s m o=

Ah ot X'HJ‘ \)—%W(lf‘f (

= 5 =Timdeinef| [shpe) 2 =
: )-3x -2y =18 o= X
7)(0,5) and 3, -5) fax X ! e 8 e |
—_—2 e T2 Oﬁ’

-1 OBl vl a4 m

m= Z—p = | =X =%
8)2x+3y=6
8) (4, —2) and (-2, 4) t2X
- ¥ Y Y _ 3)’:2—)('?'4
T sy = I IR (il
me LT @ T3
| ?
9) (=3, -5) and (3, 0)
R S o= @b
"= | | *‘2'. T
0 (_x '?’ - 10) 10x + 5y = 15
“) *C 5 Yo h_j}f - —joy.  =IoX -
e o [ s
| ‘._(..5) l-\' r/-— ,D""‘H:;— \—= 3 F

Bl



[CH 3.3] Forms (Type) of Linear Equations
[A] Find an Equation when slope and y — mtercept is
given. (y = mx + b)

[ =m 0]

[B] Find an equatlon when a pointandaslope is given.

(Use point-slope form)

1) Point A (1, 3{) andm=3

.......... =3= 3. )/‘933(;;37 (=31 16]
2)PointA(2 —4)andm 5 )’1"2 rx——/o
EE L f' o

Y4 = 5X=6

3) Point B (p éf andm=—-—

~(h= —;cx—g/
IZ - 2—-:_7{-’-3 ,

Xt |

8) 2 d y — intercept L ]
) m =—— and y — intercept = — =
9 "3

3)m =~—, and y —intercept = —— —l{-— —2
| )= "$x-% &
' - 4)P0th(1 —3) andm——— Y+3’ 'rxﬁf/ J';;z
L E]
4)m =2, and y — intercept =3 —m Y"'C"})“ ""‘5:'()"- 1 — . —@
' 7+3“ “'I)(-|-.E z = *.I‘:x B’l -
S) PomtA(S, g), and m =-3
5) m = 0, and y- intercept = 5 yr—‘ 6Xt§ )‘° 2 _3 ()("5)
— _—
3 (o
6)1m =0, y—intercept =7 y{/éx’_'} 6) Point B (—?., 4) andm = 3 \/; q:%—)(:;f‘ Jr.q,i "
e Medue /gy 14
| Hodo
5 .
7)m= =, y— intercept=—4 - 7) Point C (0, 0) and m = 0
6 .
m y__o — 0 (X___o)
‘j—-b =0
=0 |

2
Nm= g , and y — intercept = 0

-y

Hi=a

ki

il
8) Point D (3{ —\1{3 and m=-—
Yﬂﬁﬁ%ﬁ
JHl= 29+

9) Point A {3 4) and

1’7_%@
2
3 f‘f— Z)<'2
y'{'{'# ;Cf'"}) ,/n
,._},‘__ -'X+?—

10) m =3, and y — intercept = 0 \/:}be

10) Point (4, 0) and m = 1
bl ‘f/ '

-6 = 1049

%f@



FHep [ | Fird & sl
2L UsE  point and

[C] When 2 points are given. Write an Expression of
the line that passes through the given points.

¥ Ao Yo -+ = —{ O(’ﬁ)

shpe o+

Ep) | Find Ho slope () 4m?m”d it

dove ule — [Blep2] Use Y-f,=malx X)) froy =
d parallel to the line is given. Write

[D] When a point an
an equation of the line that passes through.

2]

1) (7, —13) and is parallel to 6x — 8y =15
Y-ER)=FOD

) (8, ~1) and (6, 4) e 5
ne g an gy TR PRl g
= - mj=f =3 _
et UG o o A G T
204G Y, e gxrs > y=hxose T (TARE]
E@ 5.1 yra= 201 337, —13) and is parallel o 6y — 4x = 5
RN 7*2“ ity | G =gt B \/—cu)- Hoaad
el Y-(u- Lo = 3y | Nt [ oms :
3)(10,0 andg j 7“ —Ext & ,.Z.‘ <33 )
Efﬂl M= = ‘—}-)\'l' 58 (=4, 7) and is parallel to 3x— 5y = 6
4= &) =4 [Sff_ﬂl] -sy=E ¥ *%%——‘—
l@l y-0= &(X~19) F Ll &—_L =3x 3% 5' J-q= FHA-E)
y-o= _5&)‘+ 28 x4 133 5= -3x—lé 7"1= 2044
= =
4) ('f’ 0) and (—?_ —52) 7" i(X'H) 4) (8, —5) and is parallel to 7x + 4y +3 =0 =SSA
- =570 £ =4S ' Gl x4/ £3=0 5)="4 (f-¢
W=t ctu ’ZF* 41_,1 -3 Yer;) %(X ,)4
o= S(x-C®) = i =zt
1=k o, TEET
5)(- 3?and(—3 ) _35—.0<+1) = Ixt9 |
o fX‘é 5) (3, 8) and is parallel toy = 4x 2 :
frez) Y-#=40-3

j— g2
/m.l = j—'g' ‘f‘)( -2
%"“1 Y =4x-4l

el gy - .
—i’%ﬁ 95-’
Bepr] §-3= 2qe-c0)
6) (=11, 4) and (~3 ——2)

£ ;
) —3+u_”“_’@ 7’4- #H' ‘g

Y= B0

6) 2, —5) and is parallel to'y =—2x — 6
D) y- K @ J-e)= 20D
s 4

My =
p——

)l =22,
2t
RPN - -
Bhpz] Y-@= %D = 2% —H]
7) (12,7 and (8, -9)
M:- — -{-:;:, ‘-jlgﬁr_. "l’
[Etepl C'ﬂ)du lz) y+]=1x

7) (-2,-3) and is para]lel to3x t2y=35

Blepl] ay42y=1 "
) 2y=3%H Ly - L*B)“-;(x»(—z))
V43=-3x-3

Y= x4 .
=) o W;Ti@

8) (6, -2) and is parallel to 2x +4y = 9

pl) 244/ =% Bt y-(-2)= -i(x—g)

@i) (il7)( and (,Z’L}I)t@ [”? 7,!):-—)(1-4-
I— __A;:_r_]__*_"B —(=t) A In 4 —_ "Z—X'f‘q
T4 3 j H—H \/\I_ S @ J:l:)_'- ~3
[SGpz] y-1= [ = =%+l - o M. Y=+
—— 9) 6,1) and is parallel to 8x — y 9
' and \—3, -
_ 2 ==2 2 " = —J’X‘l’ﬁ \/ [“(?CX"Q
—3= C—;i Q F@ l H P
I Y _Shpe y %9 = =41
10) (8, —3) and is parallel to 6x +2y =5
10) (0, 4)-and (=3, 5) l@
T ):2-—-%)1 ? e M S e s
SGgpl - wg - 1. j =3X
me ‘f_i’@ =<Ix+% =‘-'é){+‘£_ f\l’t{ jiﬁ fjﬁ
’

39



{5@5 & 'FIWJ 5(°PC(’W\1) ﬁrm fhe S[o,)EC/m,)o'f— Pu,—Pe,m{.‘wlm— [ima ('MF"%]_) [ﬂ

[Blapz] use Y%=

My (XX

Arrph the s Hy

Test +ha qul Pom}l‘ Nkeor®))

l"eg—l on

highligh

[E] When a point and perpendicular to the line is given. [CH 3.5] Graphing Linear Inequalities
Write an equation of the line that passes through. [1] Graph the solution set of each of the following y
inequalities
1) (6, 2) and is perpendicular to 2X + 4y =
a3 N J_?FLT[ V2=2(x4) 1) 3x—4y > 12
e '@ -2=3X—42 @ 3x—4y=1> Y=F%D
= =243 z PR _
""""" )L::zx;f%- B R N A A= R (CO ,‘ '
)l—= 1‘-‘4+:’4 34072
2) (5, —-1) and is perpendlcularto 3x-6y=2 . D Tx—2y <14 [ 87k Cnot lm@“@"gﬂ;“’ .
[Efel zc 2-Q) Bl D= 20D | @ x-ay=i (Fy= 4% begiem
b= ff?_ b ® JH=2hdio | 7= g | [ETet (00)
))(" _)5“1 1 ViR RN Y= x4k 1(«}—2(:@(}4 :
3) (0, 0)'and is perpendicular to 2x + 5y = 10 <I4 (yrue) Ul
\ 3) 8x + 12y <2413 Highleyi 31, )
kisy=lo o B0 g, 2 “’“‘“’“’\ #
5y = Zf’f"’ - ; 5y -0 12Y='-8%-24 E Test o)
= .-z L . Tl2() <24
)= Xt me -z {Z) =Sy ] =X % ® é"fw ot /7
4).(0,3) andlsperpendlculart 2y+5x=1 } ¥= —-"?4 —LDH Dkt . l‘hﬁ ;
2= ] mi=g R YRy | ez L e e
Y= x4} < % g y-3=2x uniees E\Tcef‘(:.z
l = 2x13] V= Haye =4X -t>o
5) Through (2, -5); parpcndlcular toy=-2x-6 U__‘___? 5) 5k + 8y <0 | (ot true) :
A ey . 5--2-: ﬁ-f Hi
el Yex—d [Tp3) j-cy=166) = I
Ml = AL—J_ E Y‘l’f- -l)(‘— ' Y::: _yx S-(o}_rk‘)(O ’7‘ -»: oA a0
Me=—="12 B SRS i A § 2. (o {rua) :{\;"
6) Through (—4, 8); perpendicular to y =—4x — | 6) 4y +2x>4 —L 3] Hrghl g™ ﬂ"'m"g‘ff:,\ T /5 / ;-)
4 [ " e o . AL =
Jemax- G )/—s Y-t Hijergat D&ﬁiﬁj %, @t \K{,«%“
MEd o m o TR Uik ok i/
g SR ) S N I RIEFS
7Th:“’_‘= 2"2_33 = ljt ;JQ(-t £y T Nax<12 Vi1 t ‘fﬁ
\). 7ough (—:/ ),x]::]pen iculartoy = ;{— -“_—_} —»9’;,]— D =R @Test(oe) @ F7 | k= ‘/‘—‘—g-\-)
= Y=o =2 ' = 1> oK1z W ‘il.ligk:k >
B Protan 2 ] Ty T B
;—' - -t 3 ar o i
2= % Iu’gseapyj x,;,;“l_z gl ﬁ 6) =355 ' T
8) Through (—2, -3); perpendicular to 3x +2y =35 0 -3 =5 @ Test(o,0) Hfsl’\]“!}ki t'_;“*ﬂ""’,‘*’ Y,
Fal K byms o=t P YT swuy et
AT | e -y YD 2 (1) y=-5 Oz g [/ =3
- H.g e YViz<zpxt4 (o trwe)
= |z 9) 5x~3y <15;x2>0;y <0 P K70
iy 2 El E I_Y_, Z._%_._I;_ ‘ ) y y T yy_ \X‘f
9) Through (3, 5); perpendlcular to2x—-y=8 lI]’ 39 X:BZ;?-; i & Test(o,0) F)’]Hfﬁ“t kt 3_‘ s fo S
aXYe b 2 )i St)-3(0)<IS H\.ua P _ X
LY e = Barz] Y()=-L05Y V= ZxtE o<ls regtan \\__\
\/__ 2y M, FJ__L \/_s-;-»_‘;x.:r-gi_ '\Ig _g;)(-__; (Tm) \‘\\-S-‘/ S‘)( .
- . =2
=778 10)4x + 3y <12;x>0;y>0 ]\,L._
10) Through (-1, -5); perpendicular tox=3  AY | )(’ m phty=) 2 Test (,9) -
Fl) =3 (2 =60-E) By= 4xtiz hOH0cR
M = No s e 5 i I o = “dytl2 S=l
| Fe 1= % (Trwe)
", = Z Ly 3 '
22 Zedo S[“PE ; —__J.J-_-_H___ \/: -_L_L)(M
40 k




[2] The Substitution Method

[Ch 4.3] Sysfe_ms oquu_ations —Y-l"}={
[1] The Addition Method i 2x_— N ZCY'FL)"B\/:'( A
1)zxt 4 =t 1c—o:) y=—4 }L@ x=y+2 ;/ygc;jz;l ':l:’:? :
4] x+p=-2- 3= “heY=4 A= (3)&? = .
) 3)( Y= = )( @ tr:_y——caq—- \ F‘Jk\,fq-‘ Ly 7:{3
D3x+d4y=2
IR-12=2 y:){-—-g
2)2x+y=6 S %, Y P o8 B
B ?Jg—ég (220 "_3,‘,;*?21’3?;‘52_ A 'l’z‘{ \)yiz- e
L= b =
A=3R2 'jw’—vq 3)4 :
T 2K+ 5y =2 =) /s:: Sy = 6——’" %‘«}E{fﬁ?}?
) 3x=5y=3 20D 48)=2 X Y= -4X+3 i T:—
¥ X =t )-1‘57"7— Y= 4%-3 6=6 C1e)
x=2+D -*"’”“_.““ 4yx =3y -4 - -
10 =4 /Y = ;(y—2x=2 Y_ _ﬁ vl 37 !+
Ry == -’37(‘\‘6‘/_1'-30 x-H2Q=(o a3y~ =2- =304
= 1) 3x-sy=¢ 244'-52;!0 5:1}-2”7;9_ Y=¢ =14 =9
\/::.;-Zé X= +e'
¢ =4 ) = -
Dxry=2 —Eo wry=4  _jpy, 5) 2%+ 5y =-S5 s BT o ypsie
3x-2y=-9 -HB)(.‘)-_-‘-"i i{’?’i\ {3y+x=—2 -)'-"1"‘-"_‘3_ 2t 5=t
37:(1—".:,3—; @ ﬂ.j 7(-:. _—-z;, -2 + = "'T 1X+};:—p
~ (G50 2 hy=s) Ty )  waw =
6)x+2y=-4 - Xy =% C2)4 2y =4 ~
2x—y=3-C, lf){-)':L Lt &L)‘* | ] 6)Sx+y=0 71 -10X=4) @ X = @
' sX =10 2y =2 Ix+2y=17 (’ “IR=1 5Xty=0 ffwy.o
@ EQ L 0 30 s I3
G5) | ]
7 dx +3y=2 —@9 hxt9y=4 4y3(-D)= 2 e BT i-k)k*‘r’i(‘zx‘j'}% EX+ 37 =—{
3x+5y=—4 _”j"_i"l_'éf aX~f=2 /4§(+9}; o) A -B-g=G grdyazy=-
"”Y 4t e g 3\]"'6)("1 . ""?’7\"3-:4 -3+3‘[n”\3
= f"?‘ x=g I b . i},,.-‘?:;——
8)5x+7y=1 ~-iyX-2Y == Y(—’__z =Sy _ 5 =
3:+4y='1% IsXtaeye B == __) J3:+2yy 18 #?oj.f; E‘li%h ! g
~ly=2 ?)‘(*'?é:;) " :~1;<+5- 2ty=5
B P e Fog
SEIRTE v
9) 6x — 10y = 6_3_. ;”..307.- (3, -2)] FO | 3X+:x ;o =] ‘ ¥4 ;
9x — 15y = 4-4%4 3y +2x sx16) =l X= 3)=-2
0=24 (Nof trie) /37’5)(;(61; & +6("2-* +§)-:{ 3y+A)=4 )’-—@
J= -z R ;"r@f PR e
103y +2x=4 2K +3Y=4 —=D )~ bX=~E 10)3xFay=6 _» 2xf3y=C e s
S+ 6y =11 s-)\'f'& —::F _sxtex= 1l [ 2“2:2/:(—%%*37.-:3' 3(%9@4f)
X _.@ W= - Y'P. =
YL (3 A, e T
3 o) 2 - = 3)(.‘.’ =
= R Sy ity
3) S 3173 2=
1y=! =£3 22



[CH 5.1] Positive Integer Exponents
[1] Evaluate

@")U’r% % 8
[0§ X ’51

1)a’a*-a* 2)xf-x* - x 443 1 y
. . @y o a8 ) wéxb
XL
PRy
33hst 3 4)(_2)3'(—3)_2_.97 8p9 9[,‘1 23 3.3
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[CH 5.2): Zero and. Negatlve Exponents
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[CH 5.2-2] Scientific Notation .
[A] Write each number in scientific notation

[B] Change scientific notation to regular number
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[C] Perform the indicated operation
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[CH 5.4] Adding and Subtracting Polynomials
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[CH 5.5] Multiplication and Division of Polynomials
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[CH 6.1] Introducing Factoring
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[G=emab); [y = )]

[CH 6.2] Factoring the Difference of Two Squares

[2] Mixed—Factor Completely if Possible
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A A =[eFia-h - z[&x_ljﬂ__j
3)1-p’ 4) 25a* - 9b” - el - f’iﬂ)u’”
=P 9™ 6B 3)@9'& )24@4 Y 4;8 ;j: 2) =
- —_ = - 0\ s B
C0p) Gatyeash] | TR 2 (@ (@)
5)811'('27—*.10'0};2'.\‘ 6) 64a? — 49b* - 1% (2 1a) (2—9\)_,__‘
. B KaGE| = Fa=— |ﬁ¢, -'KI ]5\'—' = f
ey @5 -y ﬁﬁﬁ}ﬂ% :5»|+"-,) R v
' y AD 2254 =
m = @M@@w@ ;;@v ” "(S"_;;"’ X (=421 3(] )
| =dad0] ]C}A»j xX+3) |
7) 2p” -8 l Qj_F ‘ 8)3x" -3 | = =
o kol > k14 =
2Cyp *‘*)L) 28: ;f\% 7) PGty (Gxdy) 8) 4x(3x-2y)-8(352)
=g 0= AP s -2 —#
- lomeD) o] Gx+4)) (P e
| . e =6t 3rtay) Cpt (=294 o
9) 5ab? — Sac? &f 10) 6x’y? - 6x’p’ ' — BTN D |
sa Ca%? /2—%‘&) = —_—GXJ'C%F 67‘2£L) - lwg)_(K—_
2 .2 : : ex*
= b - 420 P 9) a* - b* 0a-1"
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225 = Tt Fla , Sl
37‘(7“2 7“;) 11) 152 + 15ab — 30 @ 12) 6x°y? — Oxy’ ~12xy |9F=A)
IACA =22 ’ B3 ARy _ jaX
FX OESEE, 1 L) (@17” is%f ';E)T;[)

14) a’b* — ¢t

W)= ed)”

13) 812°— 100 b*

) ()"

=BT -3~ 4))

(e AT

15) 27x* - 3% , 16) 16p*q-25p°¢’
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=32
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= P a6y

T@cr= =
13) X2 —4x + 5x 220 14) 8a’ + 6a — 20a 15
X () 4+ 5(X4) (546t (200-15)
— =7 2o 4ot DY S (4at3
oS A4t S IMD
(713 (ca0))

2 5 s, N vyl
-39 (oY proedt o fp)
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=\ 35" (3xxD O

=[P4 (2P0 (2psilo| P L
\[fir Crep ?ﬂ}ﬂé@{’ b

= =2
lgcr=fl 16) 354460 +5X+10%° [er =X

15) 6p° +9p* —4p*—6p

PCop™ap-4p-5) y 2L 35t Eh TRt
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[CH 6.3-1] Factoring Trinomial (ax?+ bx + ¢), whena =1
(1]

[2]
1) X2+ 12x + 20

—

2)a’—9a+ 14

1) x* +5x-:6 2)x*+9x +8
G @ e amm
3)a’+7a+10 4) x*+9x +20

s 53 QiR

£t & e
[CO)

6)x ~7x +10

S)x ~5x+6 B

y\

’J‘ﬂ“; 'y' -2at-q
X >< ,[?’ T = =94
| {“@OH'ZI Ho\-ﬂi(a—zis

3)p +p-20 Hq-3q-10 N
GE T e

P +b =S ,_-‘—31}
Chi2) (45) '

5)b2+9b+14 T 6)c*—11c+18 L
th, ?:* ¢ 2 ~9¢t ¢
L3 g G

7)d2+3d 18 8)e’—3e—18
_.-2, - N
Jeu _ N "‘**‘@ N e
d 0/ : | :-:-_"36
7) a® —9a+ 8 ~ 8) p*-12p+20 iCeﬁ)C@—éH
g -@ VST
‘f\ - [’ “ | FY-: = 9) g*+17g+30 10) £ 15f + 30
(o) (a—8) : g +17g+ -
| (o) (P-2) N -
e B
' < -‘;M’ =
NK+x-6 10)a*+2a—-8 . ' 2173 m‘}d
74 {w\—f Lad a %-‘2 reaton  (81DGAHID 1 -_1
*3 j,+x O +G =2
. 1%+ 11x~ 60 12) h® — 4h - 60
X h Z"-/‘l\‘\’“')
*Yﬂ ey V—h .= -4hy )

11) x* +3x 10

VAL ‘
A A\~2 \ '

12) €+ 11t—30
t 5.

| Com -rwf pt E fj’ﬂ”d]

(oG]

13) b® + 19bd +60d>

b >( hY/
‘ §+f9cl§( m% f

Ld#tri}
=18 b

14) a*> — 16ab + 60 b?
o — It —6a\b+~lw‘
M : &’_;ﬁ!a/

?\'* )Ca.—(ob)

B3)x*=x-6 14) p?-13p =30
23 B =y fopep)

). RS, L

) @) Cp+2)(p-15)

15) V2 -6v - 16 16) p*— 5p-14
\\//Xi;' =YV p

=4V .
Bacte &Lﬁ@ ‘

50.

15) P+10) — 24

»?— 1 ZJJ::L]

16) k* — 23k — 24 )
f ]( -2

KS( —zﬁi




[CH 6.3-2]Factoring Trinomial, (ax*+bx+c), when a#1

(1]
1) 2%+ Tx+5

X

2) 6a* — 192+ 15

] + ‘i
3< (-’—Q*H a

[2]
1) 3a +la+2

gl

2) 5a>16a+3

A N—2

C
3) 12af\+ 7a-10 . 4)3c*-2c-8 i 31’:)(1?£+:_9b—}>155) ——}'F K 8:,;_2)(—;5 (;‘7( -l
: il
4¥A 15 ~2%-

] . ~
3a -2 .'/1 )YM’ 'M

fo +5 \:f’(i

[GatGa) |

\ (cHHE

(kéc*r*r_
N -2

hs
e 2

2b N/ +5 ~al+f3
35 Al =13b

TG |

5)3% +5x+2

6)5y*-16y+3

sY gyt A8
J X

8)5q'-34q~7 .-
5% 1
'1 ~ff—3+

5) 3a’+5a+2 6) 5m*-8m-+3

3 Tll Sm -3 : @
I SAN 15N X =
(Garzat)) |G -2)(m )

7) 12x3+14x-10

36T
X

i P—ﬁmm—f)

8) 8x*-14x~15 .~
—5 A2y )

y)
‘i‘x’j(ﬁ i

()

9) 5x*+20x+4

10) 25p*-20p+4

5;‘}{ = (-faff 1P

FEP'—%’@E:,H

Cpts) (39 G |
9) 5x% + 11x +2 g 10)35d*—12d+1 7y
sk R {;_,]’? s e
CoN W}]
_1_1)15x?'421x+:' 12) 62> 7a—=20 .~

. [ ; '_'“\
5
FazsieszAN

y++ '.'%J

GeF
11) 18c*+39c4ls ~ =2

36CBCAE)

ic | ec3c)
|

12) 10d%29d-21
A 64 fBuJ
"" < i “24d |

mﬂ)@—@

13) 6p*+13p+6

14) 6q°-19q+10

e
2 3 ey e
13) 2+ 10x+5 - F% %Hﬁ) i%: ,z. j‘.;.%i

14) 5a*~16a + 12 -
5“"}({‘5 o=l
|ﬂ. = ""60\ "J

@3@'*

15) 7¢* + 2e -5

16) 8v* -14v—15
o

P =20 -H:V
PVA™S \o

H43) (2v-5)
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15) 9x*+24x-20

3R ry‘f —2 '35)(+»6
3)( ~ (o ¢ - 7-‘%
,_’-“"EF’-‘_T_’ ~

\j’gxwv)@x—z) |

16) 6¢>~5¢c-21

i
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[CH 6.5] Strategies in Factoring (Factoring Completely) [12)]3)(2 3 27y2 . [C‘IC}F [ 2) 6m? — 542
1)2x - 8y 2) 54" zf20b21;j 30 - ED‘) i %”::3;%)
= 2( K4 ‘~1.l =5(Cat-¢ 3CR=RY) _
=3 (Y‘ __(;( ) = 5 (@’;@’j 13 (X4 3‘5_0("3\0_!! E{T‘“\‘fﬁﬁ(‘l‘h‘iﬁ)]
R iEneED] [ EHE % zn;_;s
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=4 (2p*-3p-2) S O e e ) Viﬁ:ﬁﬂ
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[CH 6.6] Solving Quadratic Equation by Factoring

[B] More Factoring trinomials and Solvmg ]

TAl 1)(x/72)(x+\3),='p 2)3(x=2=0 | D2¢-s0=0_ 2) 3x* =12
I e s X-2 =0 |I. a’~5p =" 2(7"'\'5)0‘5}"’ X ',‘1_-0
X-:;—-ao x+33=u} =0 $5 42 | 20K #:;_1:,2- 30{ #)=0
. I . A= | x osd=0 —Eﬁﬁ ) =0
=0 T& l 3 (-0t
f 3 iy 0070 [fo
- 4) x*=38 1| TERT=30 4%~ x=6
3) (2X; 3)("(\4) 0 _3[ =% ' )(3‘-+ X -20=0 Y&~ =0
6 6 —
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s | KO 3% =0 W=EyH=v
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‘ M AOIDODED | g 32176 =0 .38 -Te-6 =0 |
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x B4z f;;«m X+?-)6< 3)~0 SChfen sprsd. o ey |
% ¥ Cc/ 3t* "° g @ pe2yd *O |
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ot e ) (26%1) (36) =0 @ !;1-1)(3,;-1}:0
B fb
9) x* +6x—16=0 10) ¥ -6x—16=0 _ soH e O efiEg WA 7 =0
. e b P y . A =2 }:;..-—‘- L 3k=
 ial oan B e e - B EINS)
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15)3a*+3a-18=0
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3 (V2 feg e
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[CH 6.7] ﬂurd Problems Solve by Factoring X
*1).One numbep is 8 less than 6 times thecotheryIf the
{product bf the two number is 8, what are the 2 integers?

ythur =X j O (ex-p =2 f 23 E4-4)=0

L ;:wm»:e;!v& —Prs & 3+ ShAN
» - .‘ L b . \ — )‘_
mduct = (OCE)) p-gx-p=0 G G0
o A—2=D
3x+a_=-o P ,(;(S.)
2) The difference-of two-numbers_is 3_Their product is 10.!
What are the 2 numbers?— gl A

R AR 4 GF &Z’ m}
X(x43)=(0 . ad =3/
£ "X K=o o> 1)0"}5)“’
SE: SX*AIR[0=0

2= u;(——@ )(1‘5“"@
3) Find two consecutive integers whose product is 11 more |
then their sym~
e ay A(X41y= Xt )+ 1 [e =X ~h=o
<)-(H ! x4 X = XL (x 4)(;(-]-3)—
A Xl-rx—_z\,g -2 =0 — =@

’ft@

63. P

=]

: O-1)=v
X =63 GO
<)(+J- K =€3 X9 dehey
XEAex¥—{3=0 ..(Tﬂ L=F)
- 4 o] ey E

5) One number is 3 times another. The s__u_g;%_j.hﬂ_i_r_ - 5
squares is 40. Find the numbers. X 2 ¢o.
: iz X= L ".‘(’L

(B}

1. The dlfference of two numbers is 6. Their product is 27,
Find two numbers.

Fist 3
Second ¥ | ¥t

' v(z+€>(~21

4 ) [AZ=3X=H] I 3al)

XOxD)=2]
XHEX=29

$

J’” %t ‘1) 0)=o0
Ga “ul

2. The sum of two numbers is —4. Their product is —12.

Find the numbers.
(4R =—12 f”r fr%—lf{a*

+ i
iy RXIE) 5’1@

) - 4% =g o
x%t4x-2=0 ("( Je% 2') ‘:4

—

?L-g_ %

{'6/ 9‘} ’ "(-_2-; _.é.}

3. Find two consecutive even integers whose product is 48,

B X

X

RO =4
FaX=gf

cm')(x—o-o <
4 R X S
& N, 15

S T RALIL)

/V 4, Find three consecutive numbers such that the product of

—the first two is 23 more than the third integer.

Omother =% e z-r(?_x)l,. 4o Cxei E
ol =E2)
/&}( ';4_b (T2,— |‘

6) The" length of a rectangle is 5 feet rGEE than its wWidth?
Its area is 84 square feet. Find the length and the width.

- 5.0ne number is three more than another number. The

6. The base of a tnangle is 5” more than itsaltitude. If the
area is 33in’ find the altitude and the basg of the tnangle

L =3 ¢
B (s =¢4
' w45 -f§ =0

x—& I\l

= 2 -40)=0
3 2CRAE (%\3)

wt (x43)°=44 A= %? -5
AR X ) ve 5 B
24K ~ fo=0

Wit () (=Pt o (E)utieo |
bmaﬁ\ Wts W ‘54,1":}4 =

Area = d»‘f;;l‘ W'Jﬂ') W4sW-24=0_ 5 \q{;‘] W=
=d¢ G T La«;h ﬁ

7) The width of a rectangle is 3 inches less than its lengtlp
" Its area is 28 square inches. Find the length and width. v.-JZDw “—’

\-770) Hyn=o

Lpryh = e LY =R () =0 !
Width= L3 ,3) 04") %) .
pron= (lngypuitty =350 ;

- 2% L-at-2p=g/ B0 LMZ:Z,L :

Lwsts<gp > |
8) The base of a triangle is 3 inches more than its altitude. @ ;
B ég-w

Its area is 20 square inches. Find the base and the altitude.

m{a X (XD D=20 (ﬁé’ =gy |
l><+)’ (ADRA= 4o 7N c
Area= 3 (sos(Afitely) gy =gy R

= 20

2 ./\ —r-—-'ﬂ
X S-go=0 LQ{ [;(—® 54
Bire ’”fﬁ

+) (g ~€) =0
\gi\*lﬁ\(z =>4

7. TheM‘of a rectangle is Scm less than its length. Its
area is 10cm” more than its perimeter. What are the

dimensions of the rectangle?

] -U’J r‘u.{W

LU 2 W AR

X(x:5)= 10 ¥ 21205
oA = fat 2420710
-9 =a.

ﬁ%‘)
%

29 (gt A& (i)

8. The area of a square 15 twtce Ifs perimeter. What is the
length of its side?

:([1 . Y\-,-_.:.-..(‘hg

Keen =y ®
ferinefer= 4

=

8‘&

Lpn=0-
% 04'93
&

*=B]
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[CH 7.1] Radicals and Exponents ais P

C) \f’ "’-‘l’&' vhe o is even

nH [CH 7.2] Simplifying Radical Expressions

2)a)f¢ﬁﬁ=@
) 18 = Vavz=35)

s 24 =VFVE =€)
b)«/7§=\f?f'ﬁ=@

4) a) \/g— =ﬁ1—\f6—=@
b) V125 =5

vy

3)a)\/ﬁ=ﬁ¥’?=@
by 432 = VkVz =)

5)a) Vx'® fax":zﬁ

&) Vo = XX ALK

by Va'* = al%-:@ o V"= (TP =)

[1] Simplify
Da) 8l = § yay = |
b)-/81= by J0= ©
Ha) JEE) = & Hay25- 5
by (V=5 Wndifined by V=25= Umdifined
5y2) Vx* g{xl@) " 6)a) V121 + 144
n-+ 12 ‘—'@

bVx' = x* b)JET-JéB?

7)a) N75a’b'= \{;;J’wrr 8)a)/\/§lig3£;_1rrwrﬁ

nay¥2? =% 9a)-Y8 = — b) /18" e JTF‘W‘E b) /20" Y = \GVE A
= 3\G Y= =2 {T°W Wﬁ@ﬁ%
b)353 ___’5- b)3_8 = -2 y
0) a)v32a°b IV iR  10)2)y/27a°b*= Va5 ayalj
- = 1@ Wb <[4 V2] | ,gra‘ﬁb——
9Ha)Vx’ = X 10)8) ¥-27 = -
, b) /542 °=aVE TR[Y8lY 1) 8xT ¥ AHETRVR
i’ =X w416 =Wndifmd = EXYWT=BXHTG] = 23Rz
11) ) x/16a5b"==H“WJ'ﬁ 12) 8) %/27x2y7 ~3p1 YR Wb
madle =2 12)a)\/;6—’;,7(3, = 2ol TP =51 =33y VZE@
v HO e | R e N:%
b) V8lx pVx® = X -—-:.x"\?',ziy - ﬂle{FT P

13)a) v9x? = 3\»(\@ 14)a) ¥8a° =24

13)a)\/- Jd= ?—l 14) a) / \JE : '

b) \/ ‘ta b) ¥27x° = 3x*

(v
PR
)\/6 FE BN !}“

. . o i I (R L \3:.
15) Find the distance between 2 points A(6, 4‘3 B(-2,0

A= VO™ G f =\ P
= ‘J (247 to-47 J 54-}-;5

16) Find the distance between 2 pomts A (6, 9) B(—4 -1)

A= T Gty )™
=\ 6 oY
= e =1

Jao 1o

*:.\)'2'_0-?

55

ab



[CH 7.3] Operations of Radical Expressions
[A] Addition and Subtraction of Radical Expressions

1)6/3 +84/3

=G5 = W]

2)34/5-4/5
(3-)VE 2@

1 V5420 =V 20
:>\I/_p/5 ::

[B] Multipiica-tion of Radical Expressions

[1] Find the product and simplify

=[xl
3)5vx +24/x - Jx . #8b-Jb+24b
- 3a* y124* 4. 83 =\
oy R (g | ;
e prero e P G A e
=4 = [B02]

5) V18 + +/50 6) V63 + 428 :

FAVE 4 (502 " AT 5. Jax-B3x 6. V40a~10a>
Wt SR -— N T “Hﬂ S ERES = Fiiovaiie fae
; = ZJE—X:E%' ':::12-)0‘}’\(:_7'\0\

7 V75 - 27 8) v/50- /8

= rrr J_-J'_ ﬁ—f_ﬁ_ﬁﬁ 7. 3-\/'—7—.5\/7 8. 3\/5'5‘\/5

= gV3-F = = x5 —2(a = =357 : Bgrﬁu-sr

2 "
. r’r“=E I

95412 +2+/75 10)24/48 - 4427 9. V2[3v12 +27), 10, «/_(-2«/—+J_)

SVEE 42003 " VA3V + V= () VE (243) +V%

SG 2503 2_'{'?@ HFNE IR § TR :éé)tu‘?@v?
PETHIB ) = 245-436 | Jeg + ooy M A
'06'1"“'5:‘.@' = V3 —PV3 3RVE TVgig 2R+ VRS

N étvifr “?g;z%‘r{ @z lfz)ﬁ-_ + (at‘b?i .
Vs = _ (5t = %
11:\;/?‘}_;:/3;*6 12)3@+2J2_4‘)z¢z 11 /3(3v/8 — 246) 12. /8(3/6 —24/3) ]
e A ol o L e
ﬂ’ » (3N 3vag - 21§ IVFP — 23g
3 V¥ =6 Vg T 440 - WFVE — 203 V3 NNT ~ 20F0T
3(1)4‘"‘~z(r32v’" Y13 — - 2(pfg
13)3«/_5 3412 +24/20 14)\/—Z+2 50.- 2\/;_ — 1 E:D"r"*“r_
IVANE 308G+ 25 W +a 0305 2l

3GWE —3(3F 20T

.—-—"_\\’-
13, (ﬁ@?ﬂ)

= 1+ 3G+ +4
= Q.h{)—{- 57

Rt AT (23

.,(jg-k .

14. (3 —TZ/S)?TI)

34436Vt (-z,r){w(m&)-\?
2t -3Wr—Tr o v 7

¥ = IV 2.5
12410 = 1WT =

o]

et
15. (V5 +YE5-3)

g+ 2(5)72 - 2(6)2
WS —€V3 +.4/5 § 10z — |29z
[e2 ]
15)5J_-‘E— 16) @—%—8—
el Gz _ G0
-3 T
~JE— 3
SVE- A ) o 2
T — _,“z_i_': T—«S:)IE 3 [

o]

V- 2 =(2)a°
=Rz

=5+ o +-3

=53 =[2]

65Dy
NSRS (35006 15)
=5 %y VT -y

VST vg(- t‘“)Jf( BN

= -2 ,-

&h
= 5t Uist-Visy 3 o



riF
/'—‘*m = 3\
[2]Findtheproductandsimplijj/ 1 (ﬁ_ﬁ)(\/-s-_\/g)
‘/5 27 = -‘\/4?\!16 d M -
| *J— o 2 ,r——c =3V +y5 O+ (G 1 (%) (-7
,‘\@ﬁg = \g\T6 I3 & - 4 : N ,_,_\[—-._‘,.hu'z"
. 3'3 ~;m = 2. ,e{.UT B .@
% I ot ot e £
g | 7}
NN
13. (V3 +/4)(3-4)
3. \/% 4p° 4, \/@ V16x* 3V3 *Wﬁﬁ“Lﬁ(’ﬁ)
~Vaa VP = Vaie VRR 3 “HME 4+ W3 -4
b2 A
::—U?i P = \iét.zf.z;:i/ )(Z 3 + ) ——l(.
= _ X4 _
<2l £x e )
5. 42x V12x° (6. 44123418
= K 2.;7_')("')(7 @\FN?)(S ﬁﬁ) 14. (\/_3__}__\/2)2
B .4;--2\)'?'3-31]3 el
= \[2# X s <[ | CEVE) (B HE)
= 5§ VxE(x ' e
= 7’}]._6’ X3 = E)(Bmf

7. 2@@
BN 8)~IE)(4E)
br5 — g5

30 —4o=

VEAVERE — V2%V

I =k

SERCEEY,

V35 + Vg tva s+ VIVE
=3 4 2V3+2614

= 3+ 4>t =]143

9. \3(V12 ++/6)

SR HVEVE

Vs 1 g
N3 T 7 I9

£t VI

/’__A__:-H_\“\

1. (3 +VH)H/5+6)
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3US {U3VT ARE+HGE
= {15 AV +2ICH2AT
=75 +.Jq¥s T2Vt

Vs 435 252 ]

\ 44> —

P Y
10. 2v2x(V4x -3)
2 \[3x @R~ 2K 3

A ==
15. V2(3 +4) + 33 +/4)
G0y =V V373 + V%

e ———

2PV —6Vay |
2 2_>(\/' 16.
Vax

A~ N
V55 +/6)~6(+/5 ++/6)
s

S + V3 — V3o —§

A

s+ 0~ :’E)
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[C] Division with Radical Expressions [D] Mixed Operations
[1] Simplify Simplify
3 vy 5" \/g Ve @ = ta T5AT44 a’ 2
1 S 5 r— 2 5 T Lx = 2 a_4+\/9,a
= = 7 30 = 03
A Ly E
= |4
: v’; P -2 ~2
3 E;EF¢E 4.\/—3—2—@=@ 3%—N 4.p—3 -p
376G B3 V2 TZ oy ol
e =(p*?) Io
":‘z&; @ = %F-’?Q;i@ Q’L P Prr Hﬂ ~
0
P g 5. ?“_+2J§7 —x? 6. (m2)? - (m2)
6- F_F 5 ér-6
5. —=="V¥q - LSl I i I 5..(_1) 2\ a2 £ . b T, 0
1 6 2. = +.L(7t)—>( m M=
i%ﬁ =N _[1 Y EVCRNPEIPT
o t 12 1. (q")' ~(p")° 8. — 5+
_ = 02 o0 0o (—4) A
_ ‘B, - F L2 P- Ié L_x_c—z o))
?JEJE sm-\fﬁ;#ﬁ :Ifif@ 4 2% A+i=[E]
r‘_/__i 3 2 9 @x10™).(3x107) 10, gﬁi:j_
= (Toog _ B = 3 -3 | —24 x10
Ff ) (; (z 3)’((’;_’ JLO 2 = (NG _ 5., o
;r&,;ﬁﬁ:_lﬁi . 6% [0 *(_'i) '%ﬁ)"':"xh}
[ o] =[xl
. Vi8x® aEigWX R (7247 JFAVRG YR | RN
T 2x Nox AR J8a  vF= Tﬁ - -
302N T 11, 12x107%).(2x10%) 12. (5%107)(1.2x10%)
T ST = 2328 =[] | 2 (2 e 2)x(o oY) I i
S = (2 x (e
LA (3 L A3Y50 J%; = =X
V243 Ve 6 13. 40+ /90 - 160 14, 275 + 427 -8 12
\f%—‘ B:( = 9-7’@ ‘V"FWHﬁm—JEwa 2o Vo3 tHIIE -2V (T
- = 210 + 3970 — 410 zrrmarm
' _r_ = @13-Pvo=[o | ""r*’l*‘izv*—fr
2444 - = ;
\l 3% - J?E 14, \/@f; 7 | 15.-33(243-5) 16 3R+ B ]
_ D C) @R~ B +eRIvrseEIHE
"ﬁ"@ —;W:E) E—-G\"'F) (!s‘ﬁ') :6"1‘3r+lor1‘§'
=()a +§)+(.3
~ | et =peyis] " Terrs
- V850 _ g g8 ” s V6414 5.:+ | 17 (62x107). (2><10") 18, ___(legigl{fjlo”:?
Ni65 Ve 8, Va7 = (20 0x (0" o7 =By ()
- = 12, "rXIG = —g
:4—-——' 2= '!5"1': "\]-——V'_ =Ji——§@58 = 20x/g -—MM




[11] The Pythagorean Theorem.

[A] The Pythagorean Theorem in a Right Triangle

[1]?=a’+b%  c= Va?+b? Ab
[2] a2 =c*- b% a=VcZ—b% i =
B]b2=c?-a% b= VcZ—a?

c=x\ds =tes

C=Tr2¢
by CELS %
=428

2= HF

| Gs=hqtb”

" 4
T3 =b"
=25 = Yy

b=pt]

[Ex-B] Find the missing sides of the following triangles.
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[Examplé 1] Find the missing side. . B @ |
l.c=V6Z+82=+36+64 = V100 =10 iﬁ s o g2t 15 & THt
[Ex-A] Find the missing sides of the following triangles. :/ j 15 (=64 t 225 #ew ﬁ 5%
(0 C a2 ) P cr= 289 ' 5 Cregas
; 4%5}‘” o/ |12 c=agq = + Va8 ¢ Ty = Hos
4 J C 44 / ;] il L < =ps]
C 'J—/y (_:_:: ‘-1__!_111:.25—_,__ 1 lH_
c=4V35 - % | ® 4)
ﬁ_‘.ﬁ-;_ C."'"l@"?ff‘:i[@ = 9 (2 ) 3_:.__'1 2
] e~ 17 = [ w1, 1= iy 28= 0%
i _ 29q=44+h" B | =576
®) . @ D b 4t TR
g=51h N 225 = ¥ H=0"
, Si ‘b frfjgﬂ’l 13/—’ \12 =255 b= X=43 =314
6= b* bt = 5] 0= +V4q = [T |
3 > N
-8 = o s 30 ST
R IR O e B
. W'—P%;%‘: T —~qov y 154 = a6+
. A s < o b 256 28
= a 256 = _ 12
O © | =t 5 A=k " =t
I;:}i‘f jo=¢§ H:"Z i JNJ_F/; 2 &L b2=9e > b= 1T
9 i) G A = o ' - b=tVqw = [30]
#/‘i//% =& 5 b = &4 is™ BN
. -
=363 a=1V3L ~6fb=2V64 | D #=oAE N ® (e 49tk
< Y = 49tk
v :__0;‘_:@3[5] b= 16 = [F] l"'/15 ZZ: o> V" 4
I (e £= b=
a J—=6? . 6\‘:-:*—‘/- 7 5?
™ o et ® - vy Uo7 i R T T4
5 pX Ql{'“; ) 13 . ’é‘i:ZS"'LZ = b VE’;‘ @
L / ‘ e e
0 ra T G (10) 4= 40t b
L‘/ ,ﬁ/ / c:—lém‘{’tﬂ B/JW'H
o=q g o= H= | T b= 0 el - P
223\ b= V774 > b =19 0 e
e Yy S\ 17 | gl =Y
©) (10) < =] | =8l b=+ =
L=[1]



g, i dratic Equations by Factorin
[CH. 8.1] Splving Quadratic Equations by gt g 10, %% —16% =0 4 O{ :—Jé):i-b

(1] 7N

Q
16
L x> +5%+6=0 ] x=(S ><:@
(M?—MH)‘D | B
f o 11. x* —4x=0 ,X(de)*o

A13=
TS 6 N [f=ed]

2. x*—=3=( X 34 X'JN/B : | -

x? 3
12. ?=x—§ Led c&-
3. 5% —2x—15=0 ¢ - | 8(x)=80-EH (z»;— D@(;g)zb
(X —5)(n+3) =0 gy*= §¥3 C/:-,o #33—‘0
J 02'9 ‘\\o)( EpXt3=o — ?i::b' ax =3
= =3 i
A= @
b 25 13. x(x—4)=18—-x
Yopgx -5 =0 X*-4% =X
(At =6 X*-3%-18=0
1B T X0 (% O 1)=0
N SIS
5. %=1 <:- i’;tg _ 14. x(x+4) =12
| A
< ~
6.2a> ~12=0 ps 7 B
>/ — 0\ ~5=0 ) Q>/<+6)0(~\2) -0
)=0 T d No o
' C 0\ é',-,, A= =Ar ___’L'__;/) )(: @ \/{:12.)
7347 =27 15-GFR =+ T
=21 x= 447 =[£3 X axart 6 = K3 (?'3)0( x,oﬂo
.l = {3z 3] RE ATHHE = Kot A
Y =9 | {2 4t ot 3 5
3 10x2._1.60._0 IOX;.:{‘D | | (’frn\_:.._.,.___ S
’oxl__‘éo-—-o‘ ~T5 o 1{6. (x%])=6x—12
.;]g: .{i‘[oo X =K\ ‘fu; ‘: )(L+x—1% - = - - @{)(){__2)?_0
. ’0)( -——I ' X = iﬁ" ———:‘t_ | )(9' —_7(__2; 6)("'f-2 [ o// ) M\\\O
9.12x* =3x=0 X~ TX4jo =0 _;'; X’@ 7("@
JOLT gl (KD ER) o~

g _
L s _ 2 _ _ . Loctoi
3;&-0;1‘0 }{-@ o 1N -2x+15=0 Camn m/ti\ﬁdbm



[CH 8.2] Sulwng Quadratic Equahons Using Qundrnhc Formula

L ¥ —4x+1=0 &= b="4, c= |
A ‘(40:-}‘9 () =4 D - 4 iw'.)’éﬁ
2010y 2
- 4i\1 4“‘“”’ = (22D _

Z

~[22v7 |

2 -
2. x*~4x+2=0 el be—d, (=2

A= 'C"BJ'U:D*—?FCDC?-) _ 44y 14—3—

9. 3x*+2x+1=0 -0\:3 k22, c=]

K = ~(=,>;L,m- 40— 2k

2(3) 1

10. 4x"+3x+2=0 , =4 |=3, c=2
X= DGy 4(4562) = 3432 _32fm

2¢4) £ e 07
3623 5t

Nr—2l =3 —> )(-—1)(-—3—0 a=l, b==2, .

'2.(,[)
T A4EIR_ 4T ~i"’”7) x= ”(—?—)i\!u)-qc!)(-z) - :_'—‘*-*lf—r wi“
- X - b-‘.'2.+‘+ . .
3. 3x?—x—2=0 =1 "“’—‘:’— *”.Q“J‘F%tﬁfi
4=3, b=, c=-2 12. (x+1)(x+2)=
X'—'- "("Di-unff;‘%;ﬂ( 3_:'("'.9-—} s ,,}!"5' I+2q" )(14‘3’)(‘("7_-’—‘4L " XL+3</’6:0 w\zfj _lgsjrca_:_—-[f)
= BEVGH tHDC—@ - 32 S - 33449
= ‘IFU*“ — ijgg' A5 — CD X
—— 1 = } - X /o——-ﬁ?—_'] =3 e "
4. 2x*+3x-2=0 ~ Q.{f—: -{T"z

0=2 y=3,c="2

Ao -ONGTEED ﬂ;\l’é?? e =E
_’-_-'__;_(5_‘-__-“__ = "f‘
-— —_ -’-?-._—L = e
= -2 i £ Q =F ffg—ﬁ' iy __.&-_
5. 2x% —3x— 2= Uafz b==3 C= —2
K= DG 4y _ e R 3—"’—[&

2(:..

£{-
=3 Mé'ﬁ'@,y}ig

50

'6. =TT
/rX”——l A =0 =g b= -2, =0

X P
13. x* === Ly=2 2(:= 2’(35’()
2= 3-TX B 2K 3=0 o= 2 b’fc”j
;(: -*(53:‘”*0 m -4(2)(—32__ 2 25'

rxz—=x+l -I%g# ’D' :

14.

Lep=)
2(2y= 204 — KR4 - piagacop

o= Jab=-2,cm 2 = 23S g (-2

\,44 "3‘*_6\11 P4y = 12 F 1tz H‘(V"z o
= pvsE 2 l?-:t.ft\f- - (3% u‘) vt & = ¢ iy =_.("';,_3_
7. 2x° =8x—5 L—_l__:’; =[G L

T oo oy i ey
b= (O EPRGE) -
202)

2 (41"‘3

&3V gy gy -
___z}i___ &*—E

= E':tl‘rg‘_—: ‘}-""‘U,ﬁ
8. 3x"=6x-2
A +270  a=3, Lb=-4, c=2 _

2.(3) 4
= §¥Vz _ (225 234v3) _[3ins
-~z & £ i e

~ 15, The area of a square is 48in 2, Find a side.

(@) ol

¥

- 16..The square of a number is equal to twice the number

plus four. Find the number.

A .
K= 3 32 on-g=n ) as], b==2, c=—4
K= I H e (Y _ 22VFH - 240

2(0

"--.:zi..u"s‘ 2090 _ _/’ufrﬁ



[CH 9] Ratio and Proportions 9. A man drove 800 miles in 2 days. How long would it

1. A baseball team won 20 out of 30 games played. There take him to drive 3,200 miles?
were no tie games. Find the ratio of (a) wins to played (b) 2
wins to losses and (c) losses to wms g™ 'T— % - ‘?me { 2)(2)
...ES"EU\E 5[
J ~ === 7
e 19 dest @ ‘° & ‘ 10. 5 builders finish 20 houses in a month.’How many
L houses could 25 builders finish in the same time?

2. In an English class, 12 out of 25 students are women. 2—5 5
Find the ratio of (a) women to total students (b) women to ""_l" = :> 5X= € '2 e =
men and (c) men to total. ‘ X= 2o = =20 F#Q
25 Studusls 2 T O ]3 ’} \kg s

11. An investment of $5,000 earned $300 for one year.
How much would have to be invested to earn $750 at the
same time?

3. Paula has 12 pens, 8 pencils, and 4 erasers. What is the. f 5—'@ z(f Py 20}{750
ratio of (a) pens to pencils (b) pencils to erasers and (c) = = 30K = @‘lf )( )

4 = g
pens to total? O ? 3 5P }{—F -—5%%@ 5037 12500)

stel < 13 antm

® 2_ 34,

a2 ign lz 27 12. A store sells 3 jars of grape jelly for $2. How many jars
Tofod = 12+3-+¢,r =nd - can someone buy with $87
qﬁ — 5‘ ic_.—)}-—._ﬂ, LR 3F — )4-:&3:2(;,___5
4. Solve EQ\— 3 ™ sX= 206 s X= %\4 { 2 $¢ - L EETE
A0
=5.£=\3° 13. The property tax on a.$200,000 home is $4,000. What

would be the tax on a $600,000 home?
¥ 20u,00 _ . g0 om = 290,30 X w fowo Y §m, o)

10\/1/5\ 1= 4 o 4.0 ¢ Fe @) v, oa) 12060
5. So[ve—'-“ﬁz—f} — ¥ - , T s
X~ = : :
N K= 410 T ‘:.é 3 ”@ 14, A market is selling 3 cans of corn for 90¢. How much
5 3) will 18 cans cost at the sdame store?
6. 5 quarts of ice cream was used to make 100 milkshakes. 15.0na map 2 an inch represents 15 mlles How many .
How many quarts are needed to make 500 milk shakes? mlles|w},th 4% mChiS represent? o a5
S # ”/@f Y 5 1oox=CXsw) —I-/;_-’a = % = 31 = D0 2u=l(5)
Top s = 'gm Pk VO - @-miu-s
e ){: LeEp0 =§1_§‘ == :
! *@ ﬁ 16. The ratio of weight on earth to the weight on the moon
. is 6 to 1. How much would 150 pound woman weigh on the
7. If a 6-foot man casts a 4-foot shadow, how tall is a tree moon?
that casts a 30—foot shadow?
6’ 7 - ‘\ 0 e )(-_-.163'0 é - %Y " { =150 |S—(_)
E S i A B s S LR S
4 &

= - = /
— _ I_%:@

8. A painter uses about 5 gallons of paint painting 2 rooms.
How many gallons would she need to paint 20 rooms? .

gl ot
_%?ﬁ? SR 2 24 = (20)C)

e )(‘:_. _}’%: = ;’0'5_ :34\!_
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2T =3 [ 30247 = 2018 T3 0144 ]

[10] Functional Notation
1. Given f(x) = 2x —3, find the following

@ f(2) = 2()-3=4-3=0
() £(0) = 2()~-2= 0 73= &)

@ F(-5) = 2(-H-3= ~o=3= €D

@ f(+2) = 2R3 = 43 = O]

2. Given g(x) = 4x+3, find the following
@&B) = 4®+3i= rt3=0

®) g(=3) = 4(-3)+3= ~I213 —_@
(@ g@ = 43

@ ga-2) = 4(anr = o3 =Gy

3. Given p(x)=x2+2)g+1 .
@ 4p(2) = 4 [y+2(+1]=4L4+4+()
. ) ' = 47_1:“1 =
®) =3p(=2) = 3L 2t DM ]= 3T4-4+4] =—z%3
©.2p(c) 2 CeFHZH] =20 czeH] :@

@ pg+1) = @3t 20§10 = Rt
= [Fints ]

®) 2403)-3B@) =2 (»=31-7[3-)
= 279233011 = 2t §1-3=2=3=[]
(©) A(x)— B(x)

(ZD=(30 = xE334X = ()‘E‘H‘ ]

(d) 2A4(x) +3B(x) N
2 [ ¥&2]4 203X = 2X-{ 193X

=Rt )

@280 _ (gy=)-p-0) . (6=
5 [ g |

:_B,}J_;_,_

6. Given G(x) =3x> —=3x -5

@ G 24 t204) =5
=)k -5 = Gf—l2-% 2.@

(b.) G(2) = 3(2F- 3(-2)~5
= 30— (6= 265 = (0]

© 26(2) = 2] 33305 = 2 [ 39«51
= =226t =2101] = &

@ =3G0) = =3 [ 3¢)™=3(s) 5]
= =332 =15-5] = -2[N5-I5%)
| = 30551 = =7
8. Given G(x) =2x* —4x+3

® 00 = 2ap- 4e)t3 = 200 -+ 3

4. Given H(x)=2x+6and K(x)=3x>-2x—4
(@) 2HQR)= 20 2H+6] = 204461 =2012] :@

= 32-/(+3 = @

®)3K(5) =3 L3204 T=3[285)—/0-4]
=3C890-4]1 = J[6|] =
(©) 3H(2)+2K(=5)
= 3L Xw46] +2 L3294 ]

=3 C4140 et 047 = 3pioa+aL8l =3t
. - i

@) 2H(5)-3K(-2)

= 32 -3gnl =323 =

5.1f A(a)=a’ ~3and B(c) =3 ~c, then find
(a) A(2) + B(5)

O Gy =3 (=4 3= 2 =913 —
=¢+8+3= [ p

©2602) = 21 2(2)=4(2) 1] =22 ¢-#H]
=2 [8+33 = 230 =[4]

@ -3G(5) = -3 [ (g —4(+x]
= —3[2.28—26+3] = 3 [3v-20 37

((P3)(-5) =435 =D

= 30331 = 30333 = 9]
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CH 1 —Review -A [5] Evaluate (a) F(x)=2x* - 5x + 2. Find F(2)
'[1] Write the equation of FR)= 2(?-)2‘ F>+2 = =2 +3~
(2) 14 ]s; 3 less 3 times x | ;2(89:’::'1- * '@
F=x-3] (b) G(x)=— 2 + 5x — 2. Find G(~ 3)
alalt S GP=2(PHECD-2 B
(b) 39 subtracted - 4 times a number s 15. ; ‘2(?_ :’;_ (__E _: J:_E
> L [6] (a) 90[is|what ercentm 80?
4X 3% = r e . :
=39 = 80 X=Jewp
[2] Solve for x l L ) /oa "”:é‘ M"DX~@)[/01 xﬂ__g_:@
(a) 20— 5x =12—9x 4_ W= -/ﬁ“ (b) 16 is 20% of what number?
‘_.:HX_—‘}'—-‘!L . 2.0 X=)ov
204 4% = 1% _ N Y X‘-“-l‘a'hg.
= ;_D.r ~290 lz [ 2o =()Uv) ET) E
. = - [

4.)( =—-& [7] (a) What is the percent increase f‘romlt
OG5 =~ 5x+2 X12 =2 | ?jf; #X’”Z]_ 4 § 2w
—300+ (=g | 2 -2 Gor—20v0, o T A2 B

=Xt ln =gy - e = 20— 2090 ) 0D *#@
+éX en 12 X jo 20v0
2= X+2 J =/d (b) What is the percent decrease ﬁo@ to m
: 15 :
[3] Solve for x _L_“‘i__)(/ %x—‘; %
@) k=7x-b b) aj — I
e oft 2 D e = Dl e
7x_ f ad = ‘fO("Q
L oY € [8] (a) Audrey wanted to buy a ring with@
X —= K+ X = k4L discount, which was originally priced as $80. How
. K¢ ) X—<C= much did she have to pay after the discount?
1_7 K—i‘—, . L, d.scow,d‘ @ Jro %= (o) (1)
p=g] =odi < s
[4] Solve and graph 4&) B $202 :
(a)tz)((—10>6x+2 2y & —lx
K A = = - g
(b) Bryan wanted to buy a ring with tax that was
o ’i 9z 1"2' originally $30. How'much did he have to pay in total?
”/1 2 QX ‘%—)—4—,—1——&—+—H—+ TR > = (oo X=&)(J0)
ax < —Jx N e prmovoct (00X = pov
()3 ~5x>—9—2x | qX’ £z =)
A 4% 3x L2 é*n-i—&-,-:_
7 >rx | 2en
+9 + 3 3 : ' [
12> 3X Ash JHHes 61




CH 2 & CH 3 — Review —A

[1] Find the slope and the y— infercept and graph the y

Yoo+ b J
shp g”J 7-1«&‘(-"10{' '

[3] Find the equation and graph with the following
i i

information @\
(a) The {yertical line passes the point (-2, - 5) ~%

equation 3;-\ O
(a) 3x~ 4y =12 Z:¢X+:i ]
-4y =12 slope v selurorh e
— 3% 3% _ . ¢ 4
Fraie B N o T ki
. - o 412 Y-wtue aff o~ 3) b) orizontal ling passes the point (-2, -:3 SZL ]
—% = | =4 = d D?::r | gl
(b) 3x+2y=6. 7: fm x_’_ 3 - LTTTT— E-.g,—;,
—3X - T D
.-———’_"'-'—-———’ . I—
2= ~3X+6 _ 147
:7-7' ~}é +.4 4
(c) 10x =155y y= -2X+3
w -
m ¥ "ré- J ’ I“twa# [4] (a) Find and graph the equation of the line
—_—5 15 M= -2 passing through (6 —2) and R@M Y-

F I“tv"c"f’r (O; ;)

pro . -
,yYﬂ]o)g*lf

i

[2] Find the equatlon and graph with the followin
information | 4y = )’-.-_ r Y- ‘I, = (X~ J

(a) the line passes A (2 '3) and B (4 - 5)

< 2%+ % ==L

= . M= | Rw2
4y=—2xH J-(2=2(x%)

4 o aXpq | Jr2=-ixg3

'2)%1 % +2€% -2 jz

Z 2\
J=(3xtd

Y= —2x+1] -

¥
3 =m0

D M= f*C-B) '= 2= @ T
G- D=1 ~o [mnl %
s s sl
= i
V= A RS

. Y X2 ¥
(b) the line passes A (— 9, 3) and B (-3, —-13

~f 7

(b) Find ar;\d graph the equation of the line passing
through (-2, +'3) and parallel to the line 3x + 2y = 5.

o Y" @7~)’, =M (XX - | Y

-3 2 Y- (KD (5]
2y = —334#3 =Y-3= -3 (Xty | \ 2 )
ZEETE | T 3=-aked ‘%’E
e

y=(3x+% = 7;33"— ~3xt-3
O hi=m, || — Y = "X F0

F]

%2 Yo L -

(c) the line - passes A(-3,5)and B(0,4)
§
Qm=-4"C) -
o-(-3)
@ Y-§= kxR
-5 = =543

)= —n,-L,g.f ——i
+5

(c) Find and graph the equation of the line passing
i
through (3,3}1[1) and perpendicular to the line 3xHy=2.

@ 7"’,"’1 'M_z CX’XL) =
j-t= 20|




CH 4 & CH 5 —Review—A -

[1] Solve the following systems

@x+2y=4 —9

| (b)dx+3y=2 —O

[5] Simplify
(@) 2x+8)~(3x—4)
Xté + (Fxt+e)
x—=9+ €+9)

S 2x-y=3 3x+5Sy=—4 |
Frajeq— xifj=t | iy kol SECAEY
Zz,xﬁ_y 3Qﬁ¢_ | ?X’wF"f*—* L:W ’B‘ (b) (7x* = 2x— 5) — (2x —4x +7)
j’",“: -3 @ _l;(ﬁg)J}(l; +43x-1)
fozt—v-) : -ax2)t (-xten) + (5
__ w B=E 't X —ix]
: ik, :;%f%@ [6] Simplify
@2 N i = + (4§
AR B ) mw#mﬂﬂwmﬁ v :,)4
= K =94 - =\ = = J,""’e?x-" = '
0\5'-9. o°. ' ;; C‘q_,-(})) L by N—I‘\Nﬂ"
= G- oo & 3'.(‘; | = JSRTY —38A F 24
=)b C (L
I[3] Simplify | I

(@) (2x 10°)(5 x 10-?)

2x105
5x1073

(b)

(b) (2{—3\)(2:; +2x—3)

o
(29 (2x2) + C2h) (29 + (zﬂ)@)ﬂi)@‘) X

-3
= (2-5) (15"-107) 33
) ) « ,O;wj Cy)<:0-3 "}%3'1"%)(L+—5X T-Kx’*-f’(x—l-? 4
= o :
= Jox p* = l,O'X-IOB *Ooqqi;’;ob = 4% x 64)(2‘?"61) ,1—(—6%-1-6)() +9
= o,4 X JoF= (x0T = 434 —2x fooIX S
— [4] Simplify ] = (43 22X+
(a) Subtract 2x — 3@;— 4 43 [7] Simplify - 8
>( —LX -’4 2 5 & 3
@X“LQ C%‘( “})) ; . (a) 20x _ss'me (b) 18x jii:zzx
— SX- CH' l%'*’f P—)T}j e =
= SX-4-2x+3 :%f@}ﬁ} = (&xf —15x3 s
(b) Subtract 2x —-3x+ 4 from 5x* - 6x— 7 i )('_1_ L+ =2, "3)\’1 ~3%
(X =D T (x> -2x+9) GEra) | T —65(3 =% |
i IREE S Ve
SO 2% 3x -4 .

(x50 Céxt 3 +(0-4) =B=3x-1




CH 6 = Review — A

(c) 12x* + 10x— 8

[1] Factor completely | = 4% 7’(6)(’3{- )‘}(,4)
(2) 58 -20y" [A4=0 (b) 16x° — 36xy® 2K g
cO4y) | =A(4x-9Y) o
=5 | = (o) o *; e
_ _ - W
= FrrpeeaD] | R eey] = , o
' 4] Factor B, =Y (efsE) ¢ I‘:‘_ﬂji\"' :
‘ e B TR e
. B — o) 45’ 3¢+ 160~ @ax+ay-bx"by
© ’/éab —LlZab ) M :Yl("ﬁ(‘-?) + ‘ﬂ“(ﬂ:ﬁ :C;\,(%.“?‘Z,)’f"lﬁ Oi_t\z)
Jab (25F 40, = il = _
= 20l ( Bh= @Y DD | | Jorpe ey |
= 3ob (5ht2a) (5b9 | 3 B
e - 1 .
(a) 2+3x- 18" (b) x*~3x 18 ©) X +x—9x—9
: XA T3 - |
X | —{ = X‘(ﬁ_g*—ﬁ(i;?)
. __ ox+ 3% = KBOY DD | L,
: . i AV R PR - TPy
\m | [ED0] | sy = (GO ]
(c) 5x*—10x+5 GcC F:E__] _ [5] Factor and Solve ﬁrr} X
5(x 7‘_—’;)( +1) - (@) 24 =18 O S
S o) | e | s
. S Gl Vi = 5 T
Xt A= 2V | — 1 °.
. 2 (raed™ FOR| o) 4,
[3] Factor N _o-'"’{‘ s N -
2 : 2 )(Jrg:o)(_:@\ %—3"*‘0»?(':{3)_.
(3% +:x_4 Gl _3x;4 ‘ (©) 2%~ 16x—40=0
Z0 /=2 N +4 @
7 +2:ﬂ PUNT (P20t
b~ =DV axte=Q0 | X AEZE
( D x+2) .\.,_——)E?x_m) ¥, *’__} 7R <2 \L'—’g_z’j
e | B Gl S L o
o TR s
| redeg] U



e Wy
) (®) —-(\F)Cf%(\ﬁ)(ﬂf"))r(vﬂ@ﬂﬂ,w

-CH 7 — Review—A
[1] Simplify =G+ e Fue+ -V = ?f’ﬁzw?f—S‘
(2)VIZ + V27 -5 > 375 = k2]
=42 +{q3 — T ——
= N33 + {9z~ (3) (3V3+22)(3V3 - 2/2) :
= 2% 13E % BIBIGED 7 oy o) +(o8) (305) +6/5) D)
Y. AR
= -4 + 4 + 4
25T + 307 ~ VFUE il >
z;d’"—bziﬁi ~ 2z et © 'i‘“‘?‘?‘q'@‘ ~l9] -
/m/‘“‘ —+ EVa ~3\f“’ —(’O*Tffjv—_ [4] Simplify
245
(0)3\f— 218 +v27 BRI R G Y% S e VISV _ | 5.26 4%
¥ 0 - [ 5| 0% - e
24‘_‘[‘-‘_:23@133 =[3 e : ' '
RfE - 6+ 3G (E3E EF = 3%
2] Simpli —
[] flit‘fx“\« ‘(;3),,@‘@ - ﬁfﬁ:' 3
(1) V2(V5 +6) = el .
&5 +\ | \r@g = 4 =YZ=-2F
V7o T V% -- 4RO ,
Vo4 V3 = Yiot 243 | = |28
)23 (3 JE - 448 KVT;’-—X— T [5] Find the missing va!}ue 1 _aicjr:qi- = 2
_@mczr)—ﬂzmﬂ = (-4 3v= a T
= 61T — #4F = [¢We — 2475 15 .
(3)~V3@VE - 3
el (a) (b) 7
£5)eE) + ) ‘“I‘gfi_“;g s e T A
~2 0 4 302 x=+F =tF 223-,, £ x5
—2+.3 4 3Y303 §+evE] = (RVE = [T ‘ﬁ
—f + 302ﬁ = - ; / é N X 1%
[3] Simplify .7 = x° 2
A~ X=LVpig 5 X =\t |
M (V2=-3)02+4) ORI = (4]
< (B0 D) @F YUD+3D) '
= VE 4 4us Tt -3E -l X'=4 .
= X E —3VE + —l2 (= = £
2 Y AR b | s 35 = I F i\f‘? 3-—&*@
=z AT Az = REHR T g
= =0 Y2 q Z ™ e




CH 8 — Review —A (c) 4x*-32=0
[1] Solve S A
(2)x’ =81 (b) 3x*—27=0 4XL"—" 32 g
X= Vg 4z 1 pr=32 %=E&@
= 2] =8 '
nrE= _é)_ - % = —bxlbr-gac
3 j:_ r [4] Solve by quadratic formula *2 20
22— ~ et I =
X =95 X 1 (@) +4x-7=0 (b)3x*—2x+4=0
== a<|;, b=t <=1 a3, be2c=4
L= -’ﬂ—'_-—_ (D = A ED) K= D EF-13@
(c) 552 =45 _ 2.0 N 2(3)
2 * -4 =g ===
EX ;E = s 209 (R
& = A EVEE =R
2.
Xlﬁ CI . . '-L* uq“f = A
_ =
)('}d;‘ﬁl— "g] = ~4 22l = A(=
— TEL :
[2] Solve (c) 2x* = 8x -5
5 3 ) 20 —RAE =D
(a)x —-6x=0 (b) 2x" = 6x 0= bs"f‘/ =3
iy 08 z_ : '
)/(C})? ’.-% i ,léi “‘}i\f% = -G£ £V EEPA4{2XS)
| X(%:\é)'—lo ex ,(; - 24D
7 P Yo Z; = . = V64 ~40
A - =
A=tol X(x -3 =0 -
" ‘a N .
(©) 35> —21x =0 o o [5] So
F gy P EE | et | odgess
K(x-D=0 | % =B NG % \az
7 ~o . 7
3){__30 ‘,L‘;"} =2 - —ud 4 2R {20V 7—7”:”:@
el =5 Gk D=0 P
[3] Solve )(,*Oj:-«o o so )(;?:0‘ X:L:-O
' X Sk
(g)x2=5 b)x'~ 7=3 X = 7‘% =) A=
l;_@ +17 T (c) 3> +3x—18=0 ' .
= z o 2 L, .
A =ro [ 3 -t N
xzjrfﬂ;\[;q 3(F+X-6)=0 e | e
; - : = +3 """5/" G2 -
3 (X »z) f;:'@_f:“ 2=

64-6 =~ —————
e ar @07



MISC. Review—~A

CH 9 —Ratio and proportion ;

CH 10 — Functions

e ————.

How many jars can one buy with $407

[3] (a) A store is sellmg@'b of jelly beans fo:;\@

-5

[1]Findx %ﬁ?%: S5.40
- ' 6
Or 1 OFY, e X 5;;4:@
o) —ETHo) g=25-"1 ';E'EJQ.S
30, x= 2 (b) A car can go of gas. How
‘ 7( _;@ % /g&] many gallons of gaeded to travel 480 miles?
jhori] =] % = 6ox =)
(c) = :__%%J S-. S X:‘, ﬁd@
2l |5 = [0 (2 K =5 g #@
30X = [0 [2 S—
= 10,@ (c) On a map, How oy

miles would 4% inches represent‘?
/—-'\.“__\‘

certain time of the day, how tall is thc tree that casts a

30 feet shadow that that time? °

. © D »
6';‘=/7ﬁg:}> (- By ® S C 4
V 30 gh@@ [4](a)Fi‘ndf(3)iff(x)=3x2—2x—4 , =0 "-Li-i\
X=2 | 4e=30020 4
e |6
A —_ '3 Ci — £)L
(b) A painter can paintQ2 onsof —
paint. How many gallons would S need to paint 30 — 2"7 '"'é ¢

rooms?_

=2|—4 =1}

would it take him to dnve 3,200 mi es'?

2 P

T

=2 $oo X = (2)(32m)

X= 2= Bzﬁ@

"24_,(] 64—7

(b) Find 5£(3) if f(x) = — 3x + 2x + 4
5(fa)= 5 (=ot20t9)

= S( A€+

= 5( = -H)

> SV = D

(c) Find — 3f(- 2) if f(x) = 3x* - 2x — 4

32 = 3 3E2Y-9

= 3( 3& -9y

= (etA-4)



CH 1 —Review-B
[1] Write the equation of

(2) P is twice the Qléss
Y

.._,E...,,,,.""z*

5 times R

(b) 3 times of A less

four times of P is Q

.—7-4_5_

Ar—sii= &)

[2] Solve for x
(a)4x—10= 2(25 X
4*’!0 =
6)< -'{ =
= ,5 o

{8} Evaluate - .

(a) F(0)= 4" -3x+6. Find F(3)
o= 4(3)= 363)-1-6 = 4114
= E3]

= 49-97
= 349+ ¢
(b) GX)=~ 4x2 — 7x + 12. Find G( = 5)
Qr(—;)r- —4- 10112 = ~Jo0+35%ia
~4 (20— (2017 = -»6:’#-1

(b)6x—12= —@)

X —12= —jok +20
A(0X + (OX
e 7

f’l =2
+1L 412

ﬂ
[57(‘ = 32

[iX = 1= 20

. X;%;@

[3] Solve for x

e ﬂ- cat)=f
_ A g <4tk =rp
- -2

b —c
. ~C A== = "____F_'_d___,_,.#-""’a’—
2 "‘_}-’—--“" [j “ X = y?—-c,?,

A

v e

(b)

[4] Solve and graph

(a)6x—12$4x+8
—~x

s - S
25 —j2 L &

)(—- Yy p-C

Al.o
/"‘""1_

[6] (a) Audrey would recel ) raise in her salary.
If her present salary is 0°000 annually, how much

- would be her new- ary?

ﬂ/ /mx»«»(’)(f”"’@

R SR

NEW = 0,00 —f'E‘m m

ArAS
(b) Bryan’s weekly allowance is to decrease b @
If his current allowance is $5 eek‘h‘é’\?ﬁ{?
will be his n eekly allowance?
100 X=EX(SY)
SD } = S o - 25-'
-G
= $x0-9; 50 =Xy,
o)(300)
&
€ =G
) = [|20

(b) 50 is @hat percenpof 2007

+t?_, =

e BB

{b

(b) 5 —4x<-13-2x

A 4X +4X

5 <~3+2X
13 13

< 2X

[5] Evaluate

> 22X > [§
Y

[XZ4

%u 9«11%‘()@;3? Al
x=(TR =

[8] (a) What is the percent inCrease from 400 to 5007
l Y
({J/@w{“ /4:21(—_03 foo
M& _ "0 - o = [zﬁ
e - B

(b) What is the percent decrease from 500 to 400‘7

T
50 — 500 _ 1“4 2 Mg
_ng ’ 'f’—%xi%lu_gg
71-1 :

¢



CH 2 & CH 3 —Review —B

[1] Find the slope and the y— intercept and graph the
equation

. information

[3] Find the equation and graph with the following

(a) TheVertical lindpasses the point (=2, 3)
)( =C =L s

5

\
(b) Thcpasses the point (- 1, —4) ‘1 Y
=<

(2) 3x+2y =8 (b) 4x 8y =24
“3X 1 3x 4K 4%
WJ} 8y =~ 2t
X |81
"f‘ [Rn —
-G f& 7
N 5
slope J y.5 y-w‘—J
(c) 12x=8 - 4y
b
?—lfy-tzx
—4y e -+ j“ )= ®"*Q
Y”Inﬁmrf

X=c

=3 45|

[2] Fmd the equatlon and graph with the following
infotmation

X "%
(a) the lme passes A (4 1) and B (4

P (N ?/f
,M .xzz."'?(f

we1EM 0-
4]

[4] (@) Fmd and Graph the equation of the line passing

through (— 5, 2) andparallel to the line 3x=">5y =

2W-5Y= )= Ma
!%--g zisﬂ'é 7”@); %
= I 13‘.—3,75 5 jr2 ~E
-r‘s' u—
V=X +-% 2= 20
/}H)II: m j-:l:—'}fj‘ + 3

% Yy Xa. 7;
(b) the line passes A (0 2)and B (3,=-2)

]mh )’2:“5& %_l
[PlEmo)| V-e= 3o
J2=30)

+2.  F2 §]o}>e;
g’ e

(b) Find and Graph the equation of the line passing

through (2 5) and arallel to the line 2x + 4y ==

(c) the line passes A (4, —-‘,2) and B (— 2,4)

. X Xz./Y:.
.F :‘Eﬁ—c@ -ﬁ:—fg"—’s’

[H=moe0k Feo=1ce)

2= Y o due=cD
ety [ prtrar
PV (02)

1Y~:tﬁ +oX \}_.(3)-;—3"?(7(-@) Rums™
/ Y-2=-2x | M %

I b



CH 4 & CH 5 —Review—B

- | [5] Simplify
[1] Solve the following systems (a)(dx+6)- (2); -3)
| . rultplyl o Ax46 3 -
Hutiply = T A3
a)x—yv=-3 ) (b) 3y+2x 4>
Ix+4y=—2 5x+ 6y =11 / m
- ) ' 2 |
A4l = -2 & ,ﬂ_;}*r = | (b) (9% — 3x — 6) — (7x* = 5x +2)
’}) 3)(1’ ‘f—‘ 2 l >(1' @ k. e aD(J-___}){"é X '-'7)(143’)(—2
K= - M " E4D _ (O (XD HE
m oo e 0% = [+ m4-&1
- 7”3.’— ;,:—;. %&, |
2] smupnfyLU 0 ‘(3 -2
@ )(c3)4 (b) Cff d: = I ) - Sim/pljfy_\ |
g R s |
= ¢ _C. =(r7c3 (a) (4x - 2)(4x-7)
ATy : = - ¥ ,
2 @' 5)‘1‘5‘1 ) =E0® 5 oDt g T (DD
-l | e[| - e
- ' = g3+ _ 14
[3] Simplify i | [lor+ —zextis |
@ @x1096x10) OE==
= (4- é)do’ !0”- : ( >(. &(;—3)) =/
= =462 § (b) (3x — 2)(2x" + 3x —4)
2‘(’7410 4@5)% (53 M
= 4% ’03 —pex (o= | =@+ P GHPHENF)TREH (3
- R v = 6 + P& H-pXF i BT
= 0t (t—ax® X80 +E
[4] Simplify 4!731’ +H"M‘| ¢]6X3 + S—XL+ _I‘F.x _}_.?J
(ay strbn-acrﬁuﬁx—- - S
(ex—:c) (x> -
a PX - + "X+2 _:@‘x'{x)‘r(g-*z} . fyg 16x5—12x*+8x°
= -3 2Pyl @B | =
(b)Subh;lctSXz.—X'*'-Z x2—4x—8 _ »%./'%é.—% '6)(5-*_-—[};{,**_;5_
NE 2
=" St
S greel
. on 3 -
- »%'M SR AR . _ = = :'ﬂi’r X
() + RO T - Eae 2]
= a2y N t -o= m




CH 6 < Review—B

[1] Factor completely

(a) 7x2 — 28y _
’1(1}7 _ %7_
=7 (=4
= (=)

10X+ 2Y)(X=2Y) )

(b) 25:;3 —49xy* .

~ Mz 49y2)
SR,

(c) 72ab® — 32a%

ab( 70k ] [Pab@btanyg-2d)
go C?ﬁf,% - 21222

=80k (g1 440

=X
E g

- 1aa
(© 5x*—5x-30 (=8|

S(F%~)

g é&’%}

fl@
. % .
"3 =X

[4] Factor

(a) x> — 5x* + 9x.~ @45 1 e ‘
P romsap) el
5 =

202 o
LoD

(b) ax—ay—bx+by‘iqj

di(%——%)@.‘. -L(_E%.}._EE‘
= AEN T xay

= fab( by a7 RS B
[2] Factor : (c) 2x* —2x*+ 18x - 18
_ ‘ g - ﬁ"-‘Fi)‘ 2 <. X g~
(a) :;z— 12x B ;2_0 - )+ 7x-30 | =22 2 (%Jf%‘)'r w("l?"?})
XA -0 A R/ xo . |~
v YA = #@m XD
1oyt k= E2R) “Ixtex=Qx)| = 2+9) B
: = - —
f O61s) | i L = )
T . . Ot W.) C)(-‘J) [5] Fagtst and Solve,
(a) 3% =27 (b) 2+ 5x =0
- iy ) Gq| ¥ —2 . 23 '
5K +2 ot ! K= Z\(X-’rSJLO
hAZ LT e (x™==0 3N
X = v nol be o N
e I s B v= o
g0 | S ,
=3
[3] Factor oL ",/3_,{';__59::'"(_5 . (d) 2x~10x +12=0
(a) 3x3 — 22x + 7 (;);f : 3: 18 @ 36K - %3&_,&39:0 Ho 0k ),
3;:;(’) ><:Ha—- ) = 3(X%-20)=0 X=X +6) =p
N A TS e e e Y L EEEE > q -3 : wo
) | 5 4 ="K “Ix+ :@Y
BOED] | sprayety=o Z (X2)X%-3) =0
714 & Ny, Np
m v 2. 21




CH7- R¢v1ew—B
. [1] Simplify
(2)V18 + m—\/g
VaVz. - (T UE— AU
=it s ~WE
= (3> = Bv=]\

| = 5-3

(a) 3v/50 + 24/8 —2v18
- 3 2T —20G (T
’_3;\)"-{-2_2,0‘“"“?—3\5“

/"W

(2)(x/'+ﬂ(\/_ \F)

(BB + o+ ENE)+ (BXD)

= 5 ¢ -V HVAF 4-3
=

—

s

3) (2V3 + 3v2)(2V3 — 3v2)
M

(5 (=7 TEE)H(E -r(zr)(a.r)JrU‘lX'%‘

_,(\r"-—-g\f_"z\)—f"é_J |

49T -6 + i)
= sV A+ 4z 8V E Ry o 0f}
= (I5+4~E V- “EE.
(b) 24/32 — 3V18 +2v/27 [4] Simplify
2 {RV3.—2{a Va2 2y/q 3 (1)L IAES (Z)m:dﬁ\fz.
2 a2 S
- gvg —qvE T 65 |7 Tr‘f’i- TE ;Q
= e tes =HETEL | o e |
[2] Simplify = e et
o |ebeE-ay | O = %’% = WA =
BT EID | 36(s5) 126 647) Bl v _ [T
f—lf’g“'ﬂfl 3:5VE T 43(49)F 2 5 \E = ?J
= ISVg+ ~12(2) [5] Find the missing value -
= |s\f;-\~‘:ﬂ7 : _ .
)~ 3~F(zf‘4ﬂ = [V —2¢4 A ﬁ
¥%= 3% =
&3)@ rj’!‘ é‘)(?f ¥z 3+9 = [vo =28 Fx® p
—6(3) 2 r————-l %= 1iFE= 1 [7VE 7E=R" ) K=
| = 3_6\,"2 _ B qQVs
[ﬂs-j&lcgr "‘{:?'f' - A= BeVE «Eﬂ
....... impli :l" IET——
@ (\/_@3) @ = | l\on :-Xx::i’i;‘%
@D+ (R(E)T (DD 5 =3¢
. \Q-— ')‘-"-?\f—"f"—lﬁ-"'é 71—



CH 8 —Review-B (c) 4x*~48=10
[1] Solve zntx"f_ 4g- o = )2
(a?)—x =49 (b) 652~ 54=0 _‘,‘Iﬁ_, -—tﬁ%"f = 2F 3
] o= 2 =12 = £ 275 |
x'&"m }( = 5 =
- @ é T"}'_"" [5] Solve by quadratic formula
= A TE =
){‘" "“'\)-a,‘"""'B (8)x*—2x=3 \.(b)2x2—8x+5=0
o X223 =0 "“t;;: Fli:f
3 =75 L it 0]
(c) 3x o=l b=-3, c=-3 —=Z C8) 4
3 =T T -
Ege2 S e B e
e z() 4
\/Q":' o - S = & o
x= 205 =] 22lg=t R
[2] Solve (©) 3 = 6x 2 i%f@
() X~ 8x =0 (b) 4};2-?; l6xM ;(7—.6,@‘3-_{ =5 |
7K L)" __E:}f. e \5#2( .".—2 (ﬁ.“'3 b c= l:
(% )=0 "‘5{ oy ) H TR _
% (FeB)=T Y= 4K -
L;"/ S 5 - )(1—4»)(“": o [4] Solve
I (2) ¥ — 10x + 24 = 0 | ®y¥-x-20=0 |G |
[MJ\ R=E) AEen T |
4 Np % 4 VA
[a]
2 o ' = — 6 A ~
N EB\ M= —6Xt %= & - oV
W%-‘%zo =8 ' Y G o 2 Qx_)
) (A~ =0 . -
Pk -3) =0 (i(/) i (xj)cx@ =0
é : ::.f___e )i“"-l--%b\ R4 =0 Xf;_;o X*l":
A= ?L_-‘i:_—ﬂ_ '-'-E K= y zc_.y
[3] Solve A={E) ;(=E‘1'1
(a) X2 = 14 I(b),xz.— 11=9 (c) 6x—14x +4 =0 IéICF =2
X :. T ‘.l..H, z(g)(z"_.qx+ z)**o
| x> =20 % a(" ¥ "“zzo
}:)k l to t2
— _ Aep | T2IL
xpiﬁbr /6)(*‘!“ v @ -\-\ 4y X=[Z)
X= 2 VIVE 3; '"l

isg o Lsx-l)cx~2> =B

A



MISC. Review-B
CH 9 — Ratio and proportion

CH 10 — Functions

[3] (a) A store is selling isefar $12.

How man
Jars

72'?

_g;g..n.an.one_hny_wlth $
X Jois y
) &7

{2 .
Tpx= R XA ‘fé’@

(b) A motorbike can go 140 miles on 5_gallons of gas.
How many gallons of gas 1s neéded to travel 196
(96

m& 2

[1] Find x
@55 JORNSS
20x=GE) &)(©
X= 325 60 :
20 20
= [¢]
PR
B 1n~—2‘f »¢o éx:‘—g—z ‘
K= 2 &
M= }2'/6@ £p | ']{E-
, |
[2] (a) If an 8 feet bject ¢ 12 ata

certain time of the day, how tall is the lamp post that
casts a 60 feet shadow that that time?

—
e
X

(c) Ona map, mch re resen 20, 1___5 How many

2 5
) 20
2.0
2—005)

P2 zao-E |
[25n] e

-

s okyeef l(/”b’“ﬁ

/— shodow §o shodow [4]
s l"x = fo & (a) Find f(4) if f(x)=2x" —=8x—12
AR T e i
(b) A car factory can produce 3 carsd rs, How = 2.6 -3 —l2 _
many hours will it take to pro uce 60’ ’cars? z g9 .32 12 T E!.—Z 2
! 3 _ 6’@ 4 ‘ .
o R NS (b) Find 2f(3) if f(x) = — 4x™ 3x + 6
\ s i)
| _ 4-€0 _ 2:- D= 2T 3T
= 4000y A= 42 <[P %c) (4@ 3 ]
3 > [~4-9+att3
= 2p-3t71t4]
(c) A choo= choo train can trzwcl 600 miles in 3 days. = 2 (C-231] = m

How long would it to travel 4, 80 dmiles? o by

Vs roX = CB)C%““‘)

o

re 3 = By

(c) Find — 6f(- 3) if f(x) = 5%’ —x =3
4 ey = 4 TSEI-CD3]
=~ L 59+3-3] = 645

=210

p—
—




CUNY Final Test Sample-. J@

7. Multiply. Give the answer in suentnﬂc notatlon

B (8x10%)(3x107) |
1. Which of the following is a factor of the 5’1—
polync)mlal'-> 2x2+8x - 56 (_X 3) X (fb )
J"'y m = 24X 16
= \?_.“} A f'Dq-'
|6X - = — _ ‘
75 Tt I
8. Simplify. XX i_xXt
= X 2- 2 )( +
2.Simplify.  7v50-5v18 @ e 4 _ [T
B EN ~ 53z
3p = \I— ISY= 9. Find the equation of the vertical line passing

43)!)" -

through the point (4, -3).

(€]

3. What is the value of x in the right tnangle? .

[A] s T

W =49
-5 -

=24
A= £ 24
Kk iEm= VAT =[207)

4. Find al/ solutions to the»e.quation. 4b2+12b=0

p—

10. F|nd all solutions to the equatlon 7x2 112

@Wﬂ' iz
7
.)(::14
o o x:- m

4L (b+3) =0
l,.- \O b+3__0 ) /—7 l? a

—3,0 |

11. What is the value of the y-coordinate of the

soiqt:on to the system of equations?
3x+2y=24 -@D . 4XT AYEGS
-2x+4y=16 —2Xt4y =l (—

E'X =32
5. Solve for a. Qi::—;_?g’zlb .
_ ’@ BhF 2) -}_x 8/)(
3o “74—-2._!; 3(431‘2)’ M % @ |
T ;l’—
s R - N =]
6. Factor completely. szy 18y3 | ' =V =1/

19 oF fz_f |

2y @) (30

r:a)’(@%Z ﬁf

= 2f (4x*- 9y
= 2 ((FCPD =

12. Simplify completely. (‘6x2—2x+3)—(j—;;i-;le-l-'Sz)GéjlII';"'.' o
OIS 1S3

—
—_—
—_—

Q)(l'}' 4x -’-/) + (—2X +S><) (3 'y

©Copyright 2012 City University of New York
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x>+ 3+ ®

{lox*43x ]



13. Find the slope and y -intercept for the graphof
 the equation. ‘Sx +2y=4

'5('\').‘/ 4
2)(—- «S)(‘H' f @x-*y-mfw,ﬁ-

j=-r+ %

19. If n represents a number, which equation is a

@correct translation 0 of the sentence? "

14 13 less than 3 times.a numb

—

"

14. Find the equation of the Ime passing through
‘the points (2, 6) and (4 10) ertethé :egfuation in

slope- mtercgb form. *

X 2% | 4‘—;'

® -y = m (xR

fé—»%-ar\/”? 22 ~?~

15. Find the graph of the solution to the inequality.

6x+2>7x-5
Mf_

1> X%
45 +5

777

j 16. If 8 gallons of gas cost $32, how much does 12

gallons of gas cost?

{83 J2
3 X

' D“j;‘fgg']

px= (32
R

e = ,gﬁx( b-XH]1
3 C4aQp) TXCp =

L Cbycsa ‘.*).S.JJ

: @ equation? . =2x+6y=12 4

~@&
f=4. 2= B8] |

17. Which of the following is a factor of the
polynomial? 12ab 12ay +3xb - 3xy & =

Al wa;,m
3T g w erlwﬁ}j

H': zm — I3
glope=-£ Ui hics 3l : s
Y-}n’fvrcu-i*’ (o, % e g o
20. Solve for n. 2{n+6]=5n—9 '
2% 122 549 » 34-9 =
—2n . —20 +4
’D—é -%= . Jz = 39 Fw = 21
4 ' % 3
y-4= 2(>(~2) M- =12 medl

21. Which of the following is the graph of the "
siodG

'lx%;’ =2 ailE =
tax + 2%

ﬂ: 2X 412

6 6 &

5“7;' \/*L%)(*@L_Q..%b
=] 22. Evaluate g(5) for the function g(x).
g(x)=3x2-3x+9
A =3(s) 3D 11

= 3(25) — 1549
= s —ig+q = £9

e

49%3 ~28X24TX
23. Slmpllfy completely .

,%_ ‘29’){2
)‘( = ——r))(

-
R W

—

B 24. Multiply.  (4x- mx '5)

__\__,,/"
—}‘F‘j(ﬁ Wﬁﬁmxzr\w%}ﬁﬂ}&ﬁ{%
H '\‘ Lz,)("—i' -20)(-1- ,ﬂ7$+"2fx+35

D 8. During the course of a year, the price of a house
increased from$250,000 to $350,000 . What was

the percent mcrease in
"{’A'C)-ni_ : l
jv-cm&ﬂ-&e, -

?
ru:i%’/-l !JM%

ok — X1

h

|2125 Slmphfy completely \/8(\/2+ \/3)

= M«f& 1
o2 = 19 ni o] FHA

©Copyright 2012 City University of New York
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CUNY Final Test Sample-. (B2]

—
~

rD 1 Factor completely. 25{3 - 18§<y2 é‘iCF-

Qx( 2 ﬂ)
= ax( %2‘— 12
= ax (- @) =X (x+3&)(><-3j)l

8. Find all solutions to the equation.

-2x=24
_ A -H)_.)O"Zl,-" ) _ :
%Xﬂ 'éﬁf) Gegh=e
x—-c' = \ ><+¢; |

hpt —-ésc'- 2K X= @

e
@ 2. Multiply. [2%@ +6)
by

@92 )*(W4%>+cm(zx)+(ﬂs)(-%)+('3)@' |

N 1"8)( HA X 418

PR St o) 18
el T S e a1

-

9 Evaluate f{2)for the function f{x)=6x?-4x+7 '
{(ﬁ)f 6(1) =42+
= g4 - &1

= 24—8+7 <

=z

T N

il

10. Find the equation of thediorizontal lin passing
throug‘i‘-l the point (3, -2).

3. Simplify completely. (2x%+ 4x +5) — (4x2 — 5x + 4)
1x T4><+S+ —4x21-s><~<r

szz+"fx 9t cax ) 4
o f Al

(32)

D4 Simplify completely r\/_
= v = B

,

11 Find the graph of the solution to the mequahty

5. D|v1de Give the answer in scnentn‘"c notation.

f)x( 12y =0.9)xie*S

6x 108
=[zes xnn =]

D] 6. Simplify; -\/12 +v56
=43 + V4l

4x—2 <2x+4
- e - S
A )
+2 -H-/
> L6
- 2-' =210 3
v12.So|\./eforx' y=3x+9z o 12
A);; —"3-."'"1‘-3
E Sl X= Y7z
o X=Y-qz|
= )’«-‘Tﬁ i

K=Y sz |

13. In 2008, there were 90 fish in a pond. One year
Eliater, the number of fish decreased by 30%. How

. any fish weré in the pond in 2009?
.

39_/%’

w!!:i

7. Simplify.

w7x—2

g

_ U]Qﬂ)<7<3 C)) @\Jl)(xzﬁ) E@

©Copyright 2012 City University of New York

[c0%= §2)(To)
0 -1

o= =[]

oo —"190




14.If y represents a number, which equationtsa
correct translation of the sentence?
@ 39 subtracted from 4 times a n r(i?l

47’*‘3‘1 =I5

==
32x6-16x7 +4x°

15. Simplify completely. =
C —4x
—413 e '*‘bf’

=kt axt + -1

20. Solve for x. 21 - 6x = 24+ 7%
[EJ 22
M
M
2 +7L9,

_ 2|
X "‘@

16. Which of the followingis a factor of the

polynomial? 8x2-22x-21
i 2x-D C4~x+3§
+3
éaz + ~z.9;<

21. Find the &lopé and\z/nrﬁg_rg_e,pt intercepbfor the graph of

of the line passing through the

17. Find the equation
8% Write the equation in

oints (-1, 7) and (2,
Elopt: |Eué{c'§]pt form.™
/H\" 72-" ’ ,_-/’_LS:: "S
| ? Koty 3%) e
3 Y~%=%<><-><)=> -1 S D)
=55
i |

N I

m 18. Which of the following is the graph of the

22 What is the value of the x- -coordinate of the -

solution to the system of equations? 3x-y=8
—-6x+3y=-9
B 2672857 gx—2)-2 -
g ;ﬁﬁﬁﬁ
x 15

z&ﬁ_a-x.

the equatjon. 7x-14y=35
Bl 1x-uy=%
”ll;a I~ —% )("_XT—’I?-
T —l4y= ~K A Y=g
. '—T‘;‘ :{/‘\‘ -1 '% ‘%DY %tﬂ/rhf']'
J= B3
i —W ("2 (01 ‘%)

it

23. lf 8 beads weigh 32 grams, how many beads
weigh 52 grams?

]

equation? éx +4y = 26 = -
‘M*‘?’ s—-if)( ) 24. Find all solutions to the equation. 4x2 =196
S l 4% mé k= 2
T T B R
y= ~4kt4e A= i
= =& A
71 = & 12 S ~} - 25 Whatistte value of x in the right triangle?
19. Which of the followingis a factor of the ) @ ‘/.—-
polynomial?. 18dw - 6dz + 63cw - 21cz @ 3 D& )( =3 1“6 ¥e= TV 4
d | 6 *
3( ledy _ 442 ¢ psew-2dcE ) ! =9+ % X= V7 /&
= ] 3 """-;. .
ets | %=

1"

3 (4dW—2dz Yacw- ncz)
:gLM\(éde M&)qu(’EC”
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